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  N AP1Q/O�2%� 2N�>��2��1�1�ค์�%N�O�R�1$N2�#?�%02>��>"2  O'0�%02>��>�'#?ค/2#P�%N�Q2 O'0N�>�
�%0P$��์2C�2B�O�N�O1��>P��1��� �@�� 2/��Q/O1�ค์�%��ค%1�2N/��O1��>P� #?/�O2�?P�1�� 2O�� 1��2�O1��>P� 11�N�O�
Nค%AP1�#A1�?P2 2ค1��%0�2%/�@P��?P�0Q/O1�ค์�%��ค%1�2N/��O1��>P�22#2%�  � 2�>��2�R�O�2#N�O2/#2$�?P� 2/��R/O         
�@�� 2N�O��O1�#?�2%� 2/��O�� 1��2�O1��>P��?P22#2%��1�2�1��N1�2%� 2�2� N AP1 1��2�O1��>P�O'022#2%��N��?Q
ค/2#2 2N%O��1�O��R�O�O/$N/�B�'�?P#?�2%/2�O��#?ค/2#2 2ค1� c �%0�2% �%0�1��O/$ 

  _) N�O��2%'�ค/2#R#NO�N�1�O'0�ั�/2ค/2#$BN�$2��1��O1��?P�0N�>��@Q�Q�1�2ค�  

  `) � 2Q/ON�>��2%$1#%1�O�/ค/2#ค>�Q/#NN N�O2#2Q�1�ค์�%  

  a) � 2Q/O�2%� 2N�>��2%�1�1�ค์�%�%%'BN�O2/#2$�?P� 2/��R/O  
  b) N�O��2%'�ค/2#2C�N�'N2�1�/�N/$�2��?P�Q 2�O1�  

  c) � 2Q/ON�>�ค/2#O�N#�1�Q��2%� 2�>��2� 

1. ค/ำ/2 ำค?ญ�อ��ำ1�>��ำ/Oล>�1>N/>��ล 

  �2%�>��2#O'0�%0N#>��'O�� 1��2 N�O�Nค%AP1�#A1�?P� 2N�O�Q��2%�%1��%B��%02>��>"2 �1�Pค%��2%
�?P� 2N�>��2%1$CN P�$�?P�2%�>��2# /#2$�@� �>��%%#"2$Q�Pค%��2%�@P��C�11�O��#2N AP1Q/O�O1#C'�O1��'1�N�?P$/�1��2%
� 2N�>�Pค%��2%/�>��%%# �ั�/2�?P� 2'1�N��>�1$CN �%02>��>"2 �1�/>�?�2%� 2N�>��2�Q/O'B'N/� คN2Q�O�N2$Pค%��2%/�>��%%#
2C�N�>��/N2�?P� 2/��R/O �'BN#N�O2/#2$/'1��1�Pค%��2%/�>��%%#R#NR�O%1��%0P$��์/%A1R�O%1��O1$�/N2�?Pค/%�0N�O�         

N�>��ั�/2Q��2%ค/�คB#คB�"2 �1��2%� 2N�>��2� N2?$N/'2Q��2%�%/�21�ค/2#�1�O$O�Q��2%��>�1�>�2�"2$Q�
/�N/$�2�/%A1%0//N2�/�N/$�2�  �'BN#N�O2/#2$�?P R�O%1��%0P$��์�2�Pค%��2%/�>��%%# �2%�%0N#>��'  คA1               
�2%�%/�21��'�2%� 2N�>��2�Q�%0//N2��?P� 2'1�� 2N�>��2%/%A1"2$/'1��?P�2%� 2N�>��2%2 2N%O�N2%O�2>Q�R�O'O/ �@P��2%
�%0N#>��'N�O�2>P�� 2N�O�N�N�N�?$/�1��2%�>��2#�%0N#>��'O���2��0N�O��2%�N��?Q/N2O���2��?P � 2/��R/OR�O#?�2%��>�1�>
/%A1R#N 1$N2�R% 11�N�O��1/�?Q/1�/N2O���2��?PR�O� 2N�>��2%R�O'O/�1Q�Q/O�'N�O�1$N2�R% � 2R�2CNค/2#22N%O��2#O���2��?P
� 2/��R/O/%A1R#N �@P��'�?PR�O�2��2%�>��2#O'0�%0N#>��'�A1/N2N�O��O1#C'$O1��'1��?P22#2%�� 2R�Q�OQ��2%�%1��%B�O'0
�1�2>�Q�Q��2%�1�� 2O�� 1��2�O1��>P��N1R� 



      -2- 

 

2. /?��B�1>2�ค์�อ��ำ1�>��ำ/Oล>�1>N/>��ล 

  2.1 N AP1Q/O�2%�>��2#�2%�%0N#>��'N�O�R�1$N2�#?�%02>��>"2  N�>��%0P$��์�N1�%0�2��O'0
22#2%��1�2�1�ค/2#�O1��2%�1��%0�2��R�ON�O�1$N2��? 
  2.2 N AP1Q/O�2%�>��2#O'0�%0N#>��'�%%'B/1��B�%02�ค์O'0N�O2/#2$�?P/2�R/O 
  2.3 N AP1%CO�@�ค/2#�O1��2%�?PO�O�%>��1��%0�2��Q� AQ��?P1�ค์�2%�%>/2%2N/�� 2�'/�1��1�O'0
O�OR�R�O�%��1��ั�/2�?PN�>��@Q� 

  2.4 N AP1Q�ON�O��O1O�0�2�CO�%>/2%Q��2%�1�� 2O�� 1��2�O1��>P��N1R� 

 

3. �?Q��อ��ำ1�>��ำ/Oล>�1>N/>��ล 

  %0N�?$��%0�%/�#/2�R�$/N2�O/$�2%�1�� 2O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�  .0. 2548 

O�OR�N >P#N�>#�@� (��1��?P 3)  .0. 2561 �O1 29 � 2/��/N2 ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�         

#?1 2�2�/�O2�?P �1��?Q (1) � 2/��O�/�2� />�?�2%Q��2%�>��2#O'0�%0N#>��'O�� 1��2  

    (2) � 2N�>��2%�>��2#O'0�%0N#>��'O�� 1��2  
    (3) %2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�N1�CO�%>/2%�O1��>P�
N AP1Q/O�CO�%>/2%�O1��>P�N2�1�N12"2�O1��>P�  O'0ค�0�%%#�2% 1��2�O1��>P� %O1#�1Q��%0�20�'�2%�>��2#O'0
�%0N#>��'O�� 1��2Q/O�%0�2��Q��O1��>P��%2�Q��?PN�>�N�$"2$Q�2>�/O2/1��1�O�N/1�%2$�2��'O'0N2�1ค/2#N/O�
�1��'N2/O'0�O1��>��%0�20R/ON�O�%0$0N/'2R#N�O1$�/N222#2>�/1� P�$1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1�
�B��?  
    (4) O�N��1Q�ค�01�B�%%#�2%/%A1ค�0� 2�2�N AP1�N/$��>�1�>�2��2#�?PN/O�2#ค/% 
 

 • �ำ1� ำN�>��ำ1�>��ำ/Oล>�1>N/>��ล 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� #?� 2�/� 11 ค� �%0�1��O/$ 

  1) 2#2�>�2"2�O1��>P��?P2"2�O1��>P�ค1�N'A1� � 2�/� 3 ค� 

  2) �COO���%0�2ค#�O1��>P��?P�%0�2ค#�O1��>P�ค1�N'A1� � 2�/� 2 ค� 

  3) �COO��/�N/$�2��?PN�?P$/�O1��?P�CO�%>/2%�O1��>P�ค1�N'A1� � 2�/� 2 ค� 

  4) /1//�O22N/��2%�%>/2%�?Pค1�N'A1��1�N1� � 2�/� 2 ค� O'0�CO�%�คB�/B�>�?P�CO�%>/2%�O1��>P� ค1�N'A1� 

� 2�/� 2 ค� 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N /��O1��>P�                     

�O1�� 2N�>��2%Q/O�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��%%'B/1��B�%02�ค์�2#O�� 1��2�O1��>P� �1��?Q 
  1. �%0�B#N AP1� 2/���%1�O�/�2� O'0/>�?�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�P�$�2%
� 2/���%1� O�/�2� />�?�2% O'0/O/�N/'2Q/ON/#202#�1�1�ค์�%��ค%1�2N/��O1��>P� 

  2. � 2N�>��2%�>��2#O'0�%0N#>� 1��2�O1��>P�2?P�?�2#�%1�O�/�2� />�?�2% O'0/O/�N/'2�?P� 2/�� 

P�$22#2%��>��2#O'0�%0N#>��'R�O�'1�%0$0N/'2 
  3. %2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��N1�CO�%>/2%
�O1��>P�N AP1� 2N�>��2%�N1R� 
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 • �ำ1� ำห��O�/�ำ�Oล>/>�?�ำ1 
  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P� R�O� 2/���2%
O�N��1Q��1�N AP1N�O��2%� 2/��O�/�2�O'0/>�?�2%2 2/%1��2%�>��2#O'0�%0N#>��'O�� 1��2�1�1�ค์�%��ค%1�2N/�
�O1��>P� �1��?Q 
  2.1 �2%� 2/��/1��B�%02�ค์O'0�1�N���2%�>��2#O'0�%0N#>��'  �2%�>��2#$B��022�%์O'0
Pค%��2%N AP1�2% 1��2�O1��>P� �0N%>P#� 2N�>��2%0@�12O'0%/�%/#�O1#C'�1�Pค%��2%�?P�0�>��2#/N2#?/1��B�%02�ค์/'1�
10R% #?�2%� 2/���2%�>��2#O'0�%0N#>��'R/O/%A1R#N (�@P��CR�O�2��2%� 2/���1/�?Q/1� : KPI) �O2� 2/��R/OO'O/#?ค/2#
�1�N��N ?$�Q� Qค%N�O��CO%1��>��1� Qค%N�O��COQ�O�'�2%�>��2# N�O��O� �2��1Q�0@�12/N2 �COQ�O�'�2%� 2�'R�Q�O�%0P$��์
1$N2�R% N#AP1Q� �O1#C'/'1�N �?P�O1��2%คA110R% �O1��2%Q/O%2$�2��'1$N2�R% #?�O1N2�1O�0Q��2%�>��2#�'1$N2�R%           

�@P��2%0@�12�1��'N2/12�Q�O/>�?21#"21�์O'0//%A121�N��O'O/� 2�'�?PR�O#2� 2/��N�O�/1��B�%02�ค์O'0�1�N��Q��2%
�>��2# 

  2.2 /2�O���>��2#O'0�%0N#>��' �0� 2/1��B�%02�ค์O'0�1�N��Q��2%�>��2#�2� �2��O1 2.1 #2
/>Nค%20/์ O'O/N�?$�%2$'0N1?$� �@P��%0�1��O/$ �%0N�O�/'1�N คA1 /1��B�%02�ค์�2%�>��2#O/'N��O1#C' N/'2�?PN�O�
�O1#C' />�?�2%N�O�%/�%/#�O1#C' O'0/>�?�2%/>Nค%20/์�O1#C' �2��1Q�2%O2�Nค%AP1�#A1 �@P�2N/�Q/�N�0N�O�O��21#"21�์/%A1
O��21��2# � 2/���2%��'1�O'0�%1��%B�Nค%AP1�#A1 

  2.3 � 2N�>��2%/%A1��>�1�>�2#O�� 1��2�O1��>P� N�O��2%� 2N�>��2%�2#/1��B�%02�ค์O'0�1Q��1��?PR�O
� 2/��R/O �@P�2>P�2 2ค1��?P�O1��2%Q��1Q��?Q คA1 �O1#C'�2�O/'N��N2�N �1��1Q� O#O�0/2�O�� 1��2�O1��>P�R/O�?O'0R�O�O1#C'�?P
#?คB�"2 N ?$�Q��O�2# O�N�O2Q�N�>��%>#2�R�O�O1$�O�O1��>��2#N >P#���/N2�0R�Oค%��1Q��P 2�2#�?P� 2/��R/O�2#
O�� 1��2�O1��>P� 

  2.4 �2%/>Nค%20/์�O1#C' N�O��2%/>Nค%20/์�2#/1��B�%02�ค์�1��2%�>��2#�?P� 2/��R/O O�N'0Pค%��2%
�2#�1/�?Q/1��?P� 2/��R/O P�$12�Q�O/>�?�2%�2�2�>�> AQ��2� N�N� �2%O���1� คN2%O1$'0 คN2N�'?P$ คN2N�?P$�N��#2�%�2� 

� 2�/� N�O��O� /%A112�Q�O�2%/>Nค%20/์O�� Matrix �2% %%��2N�%?$�N�?$� �2%N�?$� Flow Chart �2%O2��
O��"C#>O���์ (Gantt Chart) /%A112�Q�O/'2$N />�?�%0�1��1��2#ค/2#N/#202#�1� AQ��?P1�ค์�%��ค%1�2N/�
�O1��>P� 

  2.5 %2$�2��2#O��O�� 1��2�O1��>P�N�O��2%%2$�2�Q/O�CON�?P$/�O1��%2�P�$%2$�2��2#O���?P
� 2/��R/O�2#O�� 1��2�O1��>P� �1Q��?Q �2%%2$�2��'�2%�>��2#O���2� Pค%��2%/�@P�N 12�#?/'2$'1�1�0�OR�O�2#
ค/2#N/#202#�1�1�ค์�%��ค%1�2N/��O1��>P� Q��2%%2$�2��'�2%�>��2#Pค%��2%12�N�?$�N�O�%2$�2�N�>�N�ค�>ค�@P�
�%0�1��O/$�OR�O ค/2#N�O�#2�1�Pค%��2%�?P�0�>��2#P�$2%B�/1��B�%02�ค์O'0�%0P$��์�?Pค2�/N2�0R�O%1��2��2%
�>��2# �@P��0�%2��Q�2N/��?P 2 O'02N/��?P 3 

  2.6 %2$�2��' ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�  %2$�2��'O'0N2�1
ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P��N1�CO�%>/2%�O1��>P�N AP1Q/O
�CO�%>/2%�O1��>P�N2�1�N12"2�O1��>P�O'0ค�0�%%#�2% 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P� P�$1$N2��O1$         
�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��? 
  2.7 �2%/>�>��1$21P��2% �2%� 2N2�1N AP1Q/O N�>��2%N�'?P$�O�'�  �%1��%B� O�OR��?P�? /'1��2�
ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�/%A1�CON�?P$/�O 1�/%A1�CO#?1 2�2�Q�2 2�1� 

�1� �B2$�N2� N R�O%1�%2$�2�2%B�O'O/�0/>�>��1$/21P��2% N AP1O�OR��ั�/2�?PR�O�2�%2$�2�2%B� �@P�12��%0� 2P�$�%�/%A1
N2�1%2$�2��2#22$�1�ค1��1��2�OR�O�2#ค/2#N/#202#�N1�CO�%>/2%�O1��>P� 
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 • �ำ11ำ0�ำ��ล 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�#?1 2�2�/�O2�?PQ��2%
%2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�N1�CO�%>/2%�O1��>P� N AP1Q/O�CO�%>/2%�O1��>P�
N2�1�N12"2�O1��>P�O'0ค�0�%%#�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�P�$1$N2��O1$�?'0/�@P�ค%1Q�"2 $Q�N�A1�
�1�/2ค#�1��B��? 
 

 

 

 

 

 
 

 

4. Nค1APอ�/Aอ�ำ1�>��ำ/Oล>�1>N/>��ล 

  Nค%AP1�#A1�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� (Monitoring and evaluation tools for 

local development plans) N�O�2>P��1� /12�B 1B��%�์/%A1N�ค�>ค/>�?�2%�?Pค�0�%%#�2%�>��2#O'0�%0N#>��'
O�� 1��21�ค์�%��ค%1�2N/��O1��>P�Q�OQ��2%N�O��O1#C'�2%�>��2#�'%/#�1Q�P�$�2% >�2%�2N'A1�Q�ONค%AP1�#A1O'0
N�ค�>ค/>�?�2%�?Pค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�R�Oค>�2%O2�R/ON AP1Q�OQ��2%�>��2#O'0�%0N#>��' 

N�N� O��21��2#/1��10�ค�> #2�%22N/��%0#2�คN2 O'0/>�?�2% N�O��O� O'0/%A1P�$�2%2%O2�Nค%AP1��2%�>��2#O'0
�%0N#>��'O�� 1��2�O1��>P�R�OO�N O��21��2# (Questionnaires) O��21#"21�์ (Interview) O'0O��21�N���2%�์ 

(Observation) N�O��O� P�$1201$2"2  AQ��?P�1P/R� 1 2�2�/�O2�?P "2%�>��1�1�ค์�%��ค%1� 

%1>�@0&ล�@1�>��@/Oล>%1>N/>#&ลO&#พ?ฒ#@Q/O%1>ช@ช#Q#!Oอง >N#!1@$ Q#!?NN%> �N&0
.@0Q#.>$/#O@/?##?$O�N/?#!?N&CO$1>/@1!Oอง >N#N.#อ&ล�@1�>��@/Oล>%1>N/>#&ล�?ง�ลN@/Oล>
�Oอง%> �%1>�@0P�0N%> �N&0R/N#Oอ0�/N@.@/.>$/?# P�0อ0N@ง#Oอ0%? ล>/#@Nงค1?O ง.@0Q#N�Aอ#
"?#/@ค/�อง!B�%?  
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2N/��O1��>P�%/#�@��CO#?2N/�R�ON2?$Q��O1��>P�%/#�1Q�N���์#2�%�2�O���N2�N�?PR�O� 2/���@Q�/%A1�2%� 2R���'1�Q�ON AP1
�%1��%B�O�OR�O'O/ �@�� 2Nค%AP1�#A1�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�R�Q�OQ��2%��>�1�>�2��%>�/%A1"2ค2�2# 
� 2N�>��2%2 2%/�O'0N�O��O1#C' />Nค%20/์�O1#C' 2%B��O1#C'�?PN�O��%>��N1R� 
 

 • �1อ�Oล>O�/�ำ�Q��ำ1�>��ำ/Oล>�1>N/>��ล 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P�� 2/�� 

�%1�O'0O�/�2�Q��2%�>��2#O'0�%0N#>��' �1��?Q 
  1.1 � 2/���%1�N/'2 (Time & Time Frame) P�$� 2/���%1�%0$0N/'2 �1��?Q 
  1) �%0�B#ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P�
1$N2��O1$�?'0 2 ค%1Q� 
  2) 2%B��'�2%�>��2#O'0�%0N#>��' O'02%B�"2 %/#1$N2��O1$�?'0/�@P�ค%1Q� 
  3) %2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'O�� 1��2�N1�CO�%>/2%�O1��>P �
N AP1Q/O�CO�%>/2%�O1��>P�N2�12"2�O1��>P�"2$Q�%0$0N/'2�?P� 2/�� 

  1.2 ค/2#21�ค'O1� (Relevance) N�O�ค/2#21�ค'O1��1�$B��022�%์  O���2�  Pค%��2%              

(/%A1�'�'>�) �?PR�O� 2/���@Q�#?ค/2#21�ค'O1�O'0� 2R�� 2/��N�O�/>21$�10�์�1�1�ค์�%��ค%1�2N/��O1��>P� 

  1.3 ค/2#N ?$� 1 (Adequacy) � 2 /���%1 $2�%2 2 /%1��2%� 2 N�>��2%�>��2#O'0�%0N#>��'
�%0�1��O/$ค� N�>� /12�B 1B��%�์ Nค%AP1�#A1Q��2%��>�1�>�2��2#01�$"2 P�$� 2Nค%AP1�#A1�?P#?1$CN�%>�Q�1�ค์�%��ค%1�
2N/��O1��>P�#2��>�1�>�2� 

  1.4 ค/2#�O2//�O2 (Progress) �%1��1�ค/2#�O2//�O2O���2� Pค%��2%�N2�N �0/1��2�%2$�2%        
�?PN�O�Pค%��2%Q��?P� 2N�>��2%Q��?���%0#2��1Q�N /1�R�O�2��N1��?���%0#2��?P1$CNQ�O�� 1��2�O1��>P�  

  1.5 �%02>��>"2  (Efficiency) N�O��2%�>��2#O'0�%0N#>��'ค/2#21# 1��์�1�%0//N2��'�'>�/%A1�'
�?PR�O%1��%>��1��%1 $2�%�?P�C�Q�OR�Q��2% 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P��@P�22#2%�/1�R�OQ�N�>��%>#2�  

��2� ค/2#�B  AQ��?P � 2�/� %0$0N/'2 N�O��O� 

  1.6 �%02>��>�'  (Effectiveness) N�O��'�?P R�O�2��%02>��>"2 � 2Q/O N�>��''1 �์O'0�'�'>� 
(Outcome and Output) �@P�22#2%�/1�R�OQ�N�>��%>#2�O'0N�>�คB�"2 /%A1/1�R�ON� 20N�>�คB�"2  �@P�/1�N�O�ค/2# @�
 1Q�/%A12>P��?P�%0�2���AP��1�/%A1�2%#?ค/2#2B� N�O��O� 
 

 • 1>N�?0� />�?Q��ำ1�>��ำ/Oล>�1>N/>��ล 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1� � 2/��%0N�?$� />�?Q��2%�>��2# 

O'0�%0N#>��' �1��?Q 
  2.1 %0N�?$�Q��2%�>��2#O'0�%0N#>��'O�� 1��2 %0N�?$�/>�?Q��2%�>��2#O'0�%0N#>��' 

#?1�ค์�%0�1�Q/�N N �?P2 2ค1� 3 �%0�2% คA1 

  1) �CON�O2%N/#�>��2#O'0�%0N#>��' 

  2) Nค%AP1�#A1 

  3) �%%#/>�?/%A1/>�?�2%�N2� N 

  2.2 />�?Q��2%�>��2#O'0�%0N#>��'O�� 1��2 
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  1) �2%11�O���2%�>��2#O'0�%0N#>��' �2%11�O��N AP1�2%�>��2#O'0�%0N#>��'O�� 1��2        
#?N�O2/#2$N AP1#BN��1��ั�/2�2%�>��2#O'0�%0N#>��'R�O1$N2��%��%0N�O�  1�>�2$/%A1ค/�คB#ค/2#�1�O�%          
�1�Pค%��2%N AP1�2% 1��2�O1��>P��?P�0N�>��@Q�R�O 
  2) �2%2 2%/� (survey) N�O��2%%/�%/#�O1#C'�2��1��@�/%A1�0N�?$��?P�CO%1��>��1�Pค%��2%�1�� 2R/O
O'O/ /%A112�N�O��O1#C'�?Pค�0�%%#�2%�>��2#O'0�%0N#>��'�O1����1��@�  (record) 21�N�� (observe) /%A1/1� 

(measurement) P�$ค�0�%%#�2%�>��2#O'0�%0N#>��'�0� 2N�>��2%Q� AQ��?P�2��CO#?2N/�N�?P$/�O 1� N�O2/�O2�?P 
�Bค'2�%�1�1�ค์�%��ค%1�2N/��O1��>P�N�O��O1#C'�?P#?1$CN�2#�%%#�2�>  &�>�%%# ค/2#�O1��2% �@P�0@�12R�OP�$/>�?�2%
21�N��O'022#2%�/1�R�O 
 

 • � ำห��Nค1APอ�/Aอ�?PQ�OQ��ำ1�>��ำ/Oล>�1>N/>��ล 

  ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P�� 2/��
Nค%AP1�#A1�?PQ�OQ��2%�>��2#O'0�%0N#>��' �1��?Q 
  3.1 �2%��21�O'0�2%/1� (Tests & Measurements) />�?�2%�?Q�0� 2�2%��21�O'0/1��'N AP1�C
%0�1��2%N�'?P$�O�'� �@P�%/#�@�O����21��N2�N �2%�%0N#>��2%��>�1�>�2� O'0O�/�2��2%/1� �0Q�ONค%AP1�#A1Q�Q�
�2%��21�O'0�2%/1��1Q�N�O�R��2#ค/2#N/#202#�1�Pค%��2% 1��2�O1��>P�  N�N� �2%��21�O'0�2%/1�Pค%��2%
�N12%O2����ค1��%?�N2%>#N/'O� /#CN�?P 2 (�0Q�O�2%��21�O'0�2%/1�1$N2�R%) Pค%��2%�'C� A��1�2#B�R % AQ��O2� (�>�
12/2%Q/ON�O�$2) (�0Q�O�2%��21�O'0�2%/1�1$N2�R%) Pค%��2%�@�1�%#�2%� 2�2%N�1�%�&1�?Q/#N N AP1ค/2#$1P�$A� 

(�0Q�O�2%��21�O'0�2%/1�1$N2�R%) N�O��O� 

  3.2 �2%21#"21�์ (Interviews) 12�N�O��2%21#"21�์N�?P$/ /%A1�'BN#�OR�O �2%21#"21�์N�O��2%
$A�$1�/N2 �CO#?2N/�N�?P$/�O1� �COR�O%1��'�%0��#?ค/2#N�?P$/�O1�O'0R�O%1��'�%0��Q�%0�1�Q� P�$�1P/R��2%21#"21�์          
�C�O�N�11�N�O� 2 �%0N"� คA1 �2%21#"21�์O��N�O��2��2%/%A1�@P��2��2% (formal or semiformal interview)       

�@P�Q�OO��21#"21�์O��#?Pค%�2%O2� (structure interviews) � 2N�>��2%21#"21�์ O'0�2%21#"21�์O��R#NN�O�
�2��2% (informal interview) �@P�ค'O2$ N �1��2% C�2���21$N2�R#N#? >�?%?�1�R#NNค%N�ค%1�Q��1Q��1� 

  3.3 �2%21�N�� (Observations) ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��21�ค์�%��ค%1�2N/�
�O1��>P�Q�O�2%21�N��N AP1N�C2�C/N2� 2'1�N�>�10R%�@Q��1��2% 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P �#?�2%�1��@��2%
21�N�� O�/�2�Q��2%21�N�� O'0� 2/���2%� 2N�>��2%21�N�� 

   (1) �2%21�N��O��#?2N/�%N/# (Participant observation) N�O�/>�?�2%21�N���?Pค�0�%%#�2%�>��2#
O'0�%0N#>��'N�O2R�Q�O�?/>�%N/#�1��%0�2�2��Q�/#CN�O2�/%A1�1/�Bคค' �B#�� #?�>��%%#%N/#�1�  

  (2) �2%21�N��O��R#N#?2N/�%N/# (Nonparticipant observation) /%A1�2%21�N��P�$�%� (Direct 

observation) N�O��2%21�N�� �1��@�'1�1�0�2��2$"2  Pค%�2%O2� O'0ค/2#21# 1��์�1��CO#?2N/�R�ON2?$Q�1�ค์�%
��ค%1�2N/��O1��>P� 

  3.4 �2%2 2%/� (surveys) Q��?P�?P/#2$�@� �2%2 2%/�N AP1�%0N#>�ค/2#ค>�N/O� �2%%1�%CO�10�ค�>             
ค/2# @� 1Q� ค/2#� 2N�O� ค/2#�O1��2%�1��%0�2��Q�� 2�'0%?�2/2 ค�0�%%#�2%�>��2#O'0�%0N#>��'
O�� 1��21�ค์�%��ค%1�2N/��O1��>P��0#?�2%�1��@��2%2 2%/� O'0�>0�2��2%2 2%/�R/ON�O�/'1��2� 

  3.5 N1�22% (Documents) �2%�>��2#O'0�%0N#>��'$B��022�%์O'0Pค%��2%#?ค/2#� 2N�O�1$N2�$>P�
�?P�0�O1�Q�ON1�22% �@P�N�O�N1�22%�?PN�?P$/�O1��1�$B��022�%์�2% 1��2 �ั�/2ค/2#�O1��2%�1��%0�2��Q��O1��>P� 

22N/�B�1��ั�/2 O�/�2��2%O�OR��ั�/2/%A1O�/�2��2% 1��2 �'1���N�O2�%02�ค์คN2N�O2/#2$ �'$B��์ O���2� 

�'�'>�/%A1Pค%��2% />21$�10�์�1�1�ค์�%��ค%1�2N/��O1��>P� 
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5. �1>P0��์�อ��ำ1�>��ำ/Oล>�1>N/>��ล 

  �2%�>��2#O'0�%0N#>��'#?�%0P$���?P2 2ค1�คA1 �2%� 2R�Q�OO�OR��ั�/2�N2�N %0//N2�� 2N�>�
Pค%��2% %1�'�#2คA1� 2R�Q�O2 2/%1�/2�O���2%�1�� 2O�� 1��2�O1��>P�Q�1�2ค� �%0P$��์�N2�N O$�N�O�/1/�O1R�O
�1��?Q 
  1. R�O�%2��@�2�2�"2 O'02�2��2%�์�N2� N �1��2%�1�� 2O�� 1��2�O1��>P�O'0�2%� 2N�>��2%
�2#Pค%��2% �@P��0� 2Q/O/>�?�2%��>�1�>� 2N�>��2%R�O�/�2�N�?$/�1� 

  2. R�O�%2��@��O1�? �O1N2?$ �O1�� %N1��N2� N �'1����ั��1$�?P� 2Q/OO�� 1��2�O1��>P�O'0�2%
� 2N�>��2%�2#Pค%��2% 1��2�O1��>P�#?�ั�/2 � 2Q/O22#2%�O�OR�R�O�B��B� �%�N�C2/#2$1$N2��1��N/��? �1Q�Q��ั��B�1�
O'01�2ค� 

  3. �N/$Q/O�2%Q�O�%1 $2�%�N2�N N�>�ค/2#�%0/$1� คBO#คN2R#NN2?$�%0P$��์ �%0/$1�N/'2���%0#2� 

O'0�%1 $2�%Q��2%� 2N�>�Pค%��2% 1��2�O1��>P� 

  4. 22#2%�N�O�%/#%/# />Nค%20/์�O1#C'�N2�N �?PN�?P$/�1�%2$'0N1?$� ค/2#�O1��2% 2"2 �ั�/2�N2�N
�?P�0� 2R��1�� 2N�O�Pค%��2%N AP1 1��2�O1��>P� N AP1� 2N2�1Pค%��2%Q�N�>�2�>�>/%A1�O1#C'�?PN�O��%>� � 2Q/OR�O%1�ค/2#
N�AP1�A1O'0�2%$1#%1��2��%0�2�� �CO#?2N/�R�ON2?$ /�N/$�2�%2��2% %1�/>22/�>� 1�ค์�%�N2�N 

  5. �%0�BO�Q/O�CO��>�1�>�2�O'0�CON�?P$/�O1��1��2% 1��2�O1��>P�  �2%�1�� 2Pค%��2%O'0%1��>��1�
Pค%��2% #?ค/2#2 2�@��N1/�O2�?Pค/2#%1��>��1� O'0�%0�A1%A1%O�Q��2%O�OR� �'1����%1��%B�%2$'0N1?$�N�AQ1/2 

�O1#C'Q/ON�O��ั��B�1�N2#1 

  6. �2%/>�>��1$ 21P��2% �CO�%>/2%�O1��>P� �'1�/%1��'1� �CO�%>/2%%0�1�2 2�1�/�1�/�N2$�N2�N �1�1�ค์�%
��ค%1�2N/��O1��>P�22#2%�/>�>��1$ 21P��2%R�O1$N2��C��O1� �1�N�� %1��B##?N/�B#?�'Q��2% 1��2�O1��>P�Q/O21�ค'O1��1�
2"2 ค/2#N�O��%>�O'0�2#1 2�2�/�O2�?P �1��2��?Q$1�22#2%�� 2/��#2�%�2%�N2�N 2 2/%1��2%�%1��%B�O�OR�O'0
�O1��1�ค/2#�>� '2��?P�0N�>��@Q�R�O 
  7. � 2Q/O"2%�>��N2�N �1��Bค'2�%Q�1�ค์�%��ค%1�2N/��O1��>P�O�N'0ค� O�N'02 2�1�/�1�/�N2$�N2�N 

#?ค/2#21�ค'O1��1� �%022��2%� 2�2�Q/ON�O�1�ค์%/#�1�/�N/$�2� � 2Q/ON�O2/#2$�1�1�ค์�%��ค%1�2N/��O1��>P�
N�>�ค/2#2 2N%O��2#N�O2/#2$/'1� #?ค/2#21�ค'O1�O'0N�>��%02>��>"2 O'0�%02>��>�' 

  8. 22#2%�%1�12คB�"2 �1��2�/%A1"2%�>�Q/ON�O�R�O'0�%��2#/1��B�%02�ค์�1�Pค%��2%�>��%%#  

�2��N2�N O'0�%0�2�� @� 1Q�N#AP1R�O%1��2%�%>�2%�%0�2��Q�N��� 2�'0%?�2/2 
  9. �1�2%%�%1 $2�%�1�1�ค์�2%�%>/2%2N/�� 2�'0%?�2/2 22#2%� >�2%�2�2��2%�>��2#O'0 

�%0N#>��'/N2�>��%%#Q�R�O�%1 $2�%N ?$� 1�?P�0��>�1�>�2�1$N2�#?�%02>��>"2 O'0N ?$� 1�N1ค/2#�O1��2%�1� 

�%0�2��/%A1R#N 
  10. �>��2#�%0N#>��'�2%��>�1�>�2��1�/�N/$�2� �2%�%0N#>��'�0O2��Q/ON/O��@��2%��>�1�>�2�
�1�2N/��N2�N /N2N�O�R��2#N�O2/#2$�1/�?Q/1��?P�CO�%>/2%� 2/��R/O/%A1R#N 
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      2N/��?P 2  

�ำ1�>��ำ/Oล>�1>N/>��ล 
 

  �2%�>��2#O'0�%0N#>��'O�� 1��21�ค์�2%�%>/2%2N/�� 2�'/�1��1� �%0� 2�?���%0#2�           

 .0. 2563 R�O0@�12 %/�%/# O�/ค>� O'0N1�22%�?PN�?P$/�O1� �1��?Q  
  ▪ />21$�10�์�2% 1��2�1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 

  ▪ "2%�>�/'1� /%A1 1���>��2% 1��21�ค์�2%�%>/2%2N/�� 2�'/�1��1� 

  ▪ �B�#BN�/#2$Q��2% 1��2�1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1�  

  ▪ �P$�2$�1��CO�%>/2%�O1��>P� 
   

/>2?0�?0�์�ำ1พ?��ำ�อ�อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ� 

  </�1��1��N21$CN N!AP1�!C�2%N�1�% N���N1�N�?P$/�%%#�2�>= 
 

 N�้ำ�1>2�ค์ 
  � 2�'/�1��1� #BN�//1�N�O�1$N2�$>P��?P�0 1��2�O1��>P�Q/ON�%>��O2//�O2 �@P��02N��'Q/O�%0�2��#?
ค/2#N�O�1$CN�?P�? O'020�/�2�2$#2�$>P��@Q� �@�R�O� 2/��N�O2�%02�ค์N AP1Q/O22#2%�� 2N�>��2%�1��>��%%#�N2�N �%%'B
�2# 1���>�O'0/>21$�10�์�?P� 2/�� �1��?Q 

1. N AP1 1��2�O2�Pค%�2%O2� AQ��2� 

2. N AP1 1��2�O2�N0%1��>� 

3. N AP1 1��2�O2��2%�2%0@�12 022�2 O'0/1���%%# 

4. N AP1 1��2�O2�2>P�O/�'O1# 

5. N AP1 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 

6. N AP1 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 
 

 �?/�?Q/?� 

1.�%�?Pค%��2%Pค%�2%O2� AQ��2� /1�คB�"2 �2��2��2%�?P ค�0�%%#�2%�%/�%1��2��O2��%/�%1��2�           
P�$�0�O1�R�OคB�"2 �2��?P�? R#N#?�ั�/2O'0�O1�O/��>� 

2.�%�?Pค%��2%�O2�1AP�N /1��2��2%�%%'B/1��B�%02�ค์�?P� 2/��R/OQ�Pค%��2%�B��%0�2% 

3. %O1$'0�1��%0�2���?P @� 1Q� 
 

คNำN�้ำห/ำ0 

(1) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�Pค1�21Oำ�พAQ��ำ� 

- N AP1 1��2N2O��2�ค#�2ค#N�AP1#P$�N�O�%0��N AP1%1�%1��2%N�%>�N�>�P��2�N0%1��>� O'0�1�/2Q�N%AP1��1�
�Q 2N AP1�2%1B�P"คO'0�%>P"คQ/ON ?$� 1 

- N AP1�N12%O2��N1#O�# � 2%B�%1�12�2��� �2��Q 2 O'0�2�%0�2$�Q 2 �2%/2��1�N#A1�Q�Q��O1��>P� O'0�1�N#A1�
%/#�1��1�//1�  %O1#�1Q��1�Q/O#?22�2%�C�P"ค 22�2%�C��2% Q�N��1�ค์�2%�%>/2%2N/�� 2�'/�1��1� Q/O#?ค/2#
20�/�Q��2%Q/O�%>�2%�%0�2��1$N2�#?#2�%�2� O'0N AP1�%%N�2ค/2#N�A1�%O1��1��%0�2��Q� AQ��?P 1?��1Q�$1�
22#2%�2�1�2�B�$B��022�%์�O2�1AP�N�O/$ 
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(2) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�N011��>� 

- N AP1 1��2O'02N�N2%>#"2ค�%0�2���2#O�/�2�N0%1��>� 1N ?$� O'0�2% 1��2N0%1��>��2#�?P%1��2'
2N�N2%># 

(3) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ��ำ1�ำ10@�1ำ 0ำ2�ำ Oล>/?���11/ 

- N AP1 1��2%0���2%0@�12Q� AQ��?PQ/O�1��%0�2��R�ON�O2�@��2%0@�12 �1Q��2%0@�12Q�%0�� �2%0@�12       
�1�%0��O'0�2%0@�12�2#11�$201$ Q/O#?ค/2#N/#202#O'021�ค'O1��1�/>�?�1�O�N'0�B#�� N AP1 1��22CN�2%N%?$�%CO
�'1��?/>� 1$N2�#?คB�"2  O'0�1P/�@�   %O1#� 2%B� %0 B��022�2 1�B%1�1์0>'�0 /1���%%# "C#>�ั��2�2/�O2��O1��>P�
Q/Oค�1$CN�N1R� %/#R��@��2%2N�N2%>#�2%�?02 �1���2�2% �>��%%#N�O� N$2/�� �%0�2�� O'0�CO�O1$P1�22 

 

(4) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�2>P�O/�ลOอ/ 

- N AP11�B%1�1์�%1 $2�%�%%#�2�>Q/Oค�1$CN1$N2�$1P�$A�2A�R� O'02N�N2%>#�2%�'C��N2R#O N AP1Q/O2>P�O/�'O1#Q� AQ��?P
#?ค/2#1B�#2#�C%�์ #?ค/2#/'2�/'2$�2��%%#�2�> N AP12�1�2�B��2%�N1�N�?P$/N�>��>N/0�์ P�$�2%N�O�Q/O�%0�2��  
N�O2#2#?2N/�%N/#Q��2%�CO'%1�12�%1 $2�% N AP1Q/ON�>�ค/2#//�O/��N2R#N�?P#?1$CNR/OQ/O'C�/'2�2A��N1R� 

 

(5) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�OหลN��Q ำNพAPอ�ำ1N�1�1 

- N AP1 1��2O/'N��Q 2�2��2%N�1�%Q/O22#2%��1�2�1�ค/2#�O1��2%�1��%0�2��Q� AQ��?P�?P� 2�2%N�1�% 
N AP1%1�%1��2%N�%>�N�>�P��2�N0%1��>�O'0�1�� 2Q�N%AP1��1��Q 2 N AP1�2%N�1�%Q/ON ?$� 1 

- �N12%O2� �%1��%B� � 2%B�%1�12 �N1#O�#O/'N��Q 2N AP1�2%N�1�%Q�� 2�' 
 

(6) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�คB�.ำพ�?/>� 2?�ค/ Oล>�ำ1�1>หำ1�?��ำ1 

- N AP1N�O��2%2N�N2%># 1��22�Nค%20/์ 1��2คB�"2 �?/>�N�O� N$2/�� 2�%? �CO2C�12$B �CO�O1$P1�22                   
O'0�CO�>�N�AQ1 HIV Q/ON�O2�@��2%Q/O�%>�2%�O2�22�2%�2B��1Q� AQ��2�1$N2��1P/�@� �%0�2��#?2B�"2 �?P�? �2%�1�2/12�>�2%
�B#��P�$Q/O�B#��N�O2#2#?2N/�%N/#Q��2%�%>/2%�1��2%  %O1#�1Q�Q/O�%0�2��#?ค/2#�'1�"1$Q��?/>�O'0�%1 $์2>�     
1$CN�O/$�1�1$N2�2��"2$Q�O�2%#?2N/�%N/#�1��%0�2��    

 

 �ล0B��์ 
N AP1Q/O�%%'B/>21$�10�์�1�� 2�'/�1��1� � 2N�O��?P�0�O1�Q/Oค/2#2 2ค1��1��2%/2����2��2% 1��2� 2�'

/�1��1�Q�1�2ค�1$N2�N/#202#21�ค'O1��1��ั�/2ค/2#�O1��2%�1��%0�2�� %/#�1Q�21�ค'O1��1�01�$"2 O'0
���2�/�O2�?P�1�1�ค์�2%�%>/2%2N/�� 2�'N AP1�?P�0Q/O�%0�2��R�O%1��%0P$��์2C�2B� �@�R�O� 2/���'$B��์ �1��?Q 

1. $B��022�%์�2% 1��2�O2�Pค%�2%O2� AQ��2� 

1.1 �'$B��์�2% 1��2�O2�Pค%�2%O2� AQ��2� 

2. $B��022�%์�2% 1��2�O2�N0%1��>� 

2.1 �'$B��์�2% 1��2�O2�N0%1��>� 

3. $B��022�%์�2% 1��2�O2��2%�2%0@�12 022�2 O'0/1���%%# 

3.1 �'$B��์�2% 1��2�O2��2%�2%0@�12 022�2 O'0/1���%%# 

4. $B��022�%์�2% 1��2�O2�2>P�O/�'O1# 

4.1 �'$B��์�2% 1��2�O2�2>P�O/�'O1# 

5. $B��022�%์�2% 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 

5.1 �'$B��์�2% 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 

6. $B��022�%์�2% 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 
6.1 �'$B��์�2% 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 
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 �B�0A��ำ�0B��0ำ2�1์ 
�B�0A��ำ�0B��0ำ2�1์ (Positioning) �อ�อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ� 

1�ค์�2%�%>/2%2N/�� 2�'/�1��1� Q/Oค/2#2 2ค1��N1�2%� 2N�>��2%O�OR��ั�/2ค/2#N�A1�%O1� O'0�2%
 1��2คB�"2 �?/>��1��%0�2��Q� AQ��?PQ��O2��N2�N P�$N� 20�2%�%1��%B� !AQ�!C 1��2�2%�1��%>�2%22�2%�0 /%A1
Pค%�2%O2� AQ��2� �@P��A1N�O�"2%�>�/'1��1�1�ค์�%��ค%1�2N/��O1��>P� �'1����2% 1��2�O2��2%0@�12/ 11�N�O�
%2��2�2 2ค1��N1�2% 1��2ค�  1��2�%0N�0 Q/O#?คB�"2 2C� �2% 1��2�?P$1P�$A� ค/�คCN�1��2% 1��2�O2�21�ค# 
N0%1��>� 2"2 O/�'O1#�N2�N �?PN�?P$/�O1�P�$�%��1��?/>� ค/2#N�O�1$CN�1��%0�2�� P�$$@�/'1��2%#?2N/�%N/# ค/2#
21�ค'O1��1��P$�2$%1��2' O'0O�� 1��2%0�1��N2�N %/#�@��2% >�2%�2 />Nค%20/์2"2 �ั�/2 ค/2#�O1��2%�1�
�%0�2�� O'0ค/2# @� 1Q��1��%0�2���?P#?�N1�2% 1��2 1�ค์�2%�%>/2%2N/�� 2�'/�1��1��@�� 2/���B�$A��2�
$B��022�%์�2% 1��2R/Oค%1�ค'B#�>��%%#�N2�N�1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1� � 2�/� 6 $B��022�%์ O'0   
6 �'$B��์ 
 

�2��2%�?P1�ค์�2%�%>/2%2N/�� 2�'/�1��1�R�O� 2/��$B��022�%์�2% 1��2 � 2�/� 6$B��022�%์ �1��1Q�          
�@�/>Nค%20/์�2%N�'?P$�O�'�Q�%0�1�"C#>"2ค /%A1 �2%N�O22CN AEC �?P�02N��'�%0���N11�ค์�2%�%>/2%2N/�� 2�'            
/�1��1� Q�$B��022�%์�N2�N �1��?Q 

(1) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�Pค1�21Oำ�พAQ��ำ� 

�2%N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) �1�R�$ � 2Q/O1�ค์�%��ค%1�2N/��O1��>P�P�$N� 201$N2�$>P�
1�ค์�2%�%>/2%2N/�� 2�'/�1��1� �O1�Q/Oค/2#2 2ค1��1��2% 1��2Pค%�2%O2� AQ��2�N AP1%1�%1��2%/'1P�R/'N�O2#2
�1��%0�2�%�%0N�0N AP1��O2�R#N/N2�0N�O2#2Q��2�0�1��N1�N�?P$/ ค�� 2�2� /%A1�2%1AP�Q� �2% 1��2Pค%�2%O2 �
 AQ��2��?P2 2ค1� N�N� ��� �O2$�%2�%�?P#?"21211��&1O'0"212�N2��%0N�0�?P� 2N�O� N�O��O� 

(2) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�N011��>� 

�2%N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) �1�R�$ � 2Q/O1�ค์�%��ค%1�2N/��O1��>P�P�$N� 201$N2�$>P�
1�ค์�2%�%>/2%2N/�� 2�'/�1��1��O1�Q/Oค/2#2 2ค1��1��2%%/#�'BN#�2�N0%1��>��?P�%0�1�#2��@Q�N�AP1��2��2%N�O� 
AEC � 2Q/ON0%1��>��1�12N�?$�#?ค/2#N�?P$/N�AP1�O'0N�AP1#P$��1�#2��@Q� Q��O2�/�@P�คA1�2%N�O�2N/�/�@P��1��%0�2ค#
N�?$/�1� O�N��0N�?$/�1�2#2�>�12N�?$��O�0�O1�O�N��1��1�N1�N AP1�@��C��2%คO2 �2%'��B� O'0�2%�N1�N�?P$/ �1��1Q� �2%
�%%N�2ค/2#�1�O$O�Q� 2 2N/��?Q�0�O1�N�O�R�1$N2�#?�%02>��>"2  2 2/%1��%0N�0R�$ �O1�O�N��1��2�N0%1��>��1�
�%0N�0Q�12N�?$� �2% 1��2�?�ค/2#22#2%��2��2%O�N��1��@�N�O�2>P�2 2ค1� �2��2%2 2%/��1� International 

Management Development (IMD) Q��? 2547  �/N211��1��?�ค/2#22#2%�Q��2%O�N��1��1�R�$1$CN11��1��?P 29 

�2��1Q�/#� 60 �%0N�0 �@P�N�O�11��1��?P�?�@Q�N�O�' 2�1��1Q�O�N�? 2544 1$N2�R%�O�2# /2�N�?$��1��%0N�0Q�12N�?$� 
R�$$1�1$CNQ�11��1��?P�P 2�/N2 2>�คP�%์O'0#2N'N�?$ P�$ IMD N/O�/N2R�$ค/% 1��2�O2��%02>��>"2 �1�"2ค%1�          
N�N� ��/#2$�?P2N�N2%>#�2%O�N��1� �2%O�OR��ั�/2ค1%์%1��1� O'0�2%�%1��%B�Pค%�2%O2� AQ��2��2�21�ค#  1�ค์�2%
�%>/2%2N/�� 2�'/�1��1��@��%0/�1��@�ค/2#2 2ค1��1��2% 1��2�O2�N0%1��>�N�O�1$N2�$>P� N AP1 1��2Q/O�%0�2��
#?ค/2#N�O#O�O�O'022#2%��%1��1/R�O P�$R�O%1��'�%0���2��2%�O2/N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) Q/O�O1$
�?P2B� 
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(3) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ��ำ10@�1ำ0ำ2�ำOล>/?���11/ 

 �ำ10@�1ำ 

 �2%0@�12คA1�2% 1��2�1�10�O2�/>�2�2%O'021�ค#O�N#�B1$์N AP1 1��2Q/ON�O��CO#?�?/>��?P�?�2# 22#2%�
� 2N�>��?/>�R�O1$N2��C��O1�O'0N�AQ1�C'O�N21�ค#�2%0@�12�@��A1N�O�%2��2�2 2ค1��1��2%� 2N�>��?/>��1�#�B1$์Q�21�ค# 
N#AP1�%0N�0R�$�O2/N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) �@�#?ค/2#� 2N�O��?P�0�O1��%1��1/�1�ค/2#N�'?P$�O�'�Q� 
�B��O2� %/#�1Q��O2��2%0@�12O'0"212 1�ค์�2%�%>/2%2N/�� 2�'/�1��1��@�R�O�1��>��%%#21�N2%>#�1�10�2��O2�
"212Q/OO�NN�O�N'O�Q�0C�$์ 1��2N�O�N'O��O2�/�O22�2�? �@P�1$CNQ�ค/2#%1��>��1�O'0�2%�CO'�1�1�ค์�2%�%>/2%2N/�
� 2�'/�1��1� R�OO�N �2%21�"212�1# C�2 O'0"21211��&1 P�$#?N�AQ1/2N/#202#�2#/1$ N�N� �2%�1�N'�           
�2%�'N2/ค 2�1��2$ N�O��O� �1��2��?Q�OR�O�1��>��%%#N2%>#2%O2�ค/2#%CON�?P$/�1�12N�?$��?PN/#202#�2#/1$�1�N�O�N'O� 
N AP1Q/ON�O�#?ค/2#%COค/2#N�O2O'022#2%��%1��1/R�O�1��2%�O2/N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) 

 0ำ2�ำ 

 12�N�>�ค/2#�1�O$O�Q��2%N�$O %N022�2�1��2/�N2��2�>�?PN�>��2�N�O2#2Q�R�$#2��@Q� N�N� 12�#?
�2%N�$O�N022�2ค%>2�์ 022�21>2'2# 12�#?�2%�%0���%0�1P��1�%0//N2��CO�1��A1022�2�?PO���N2��1� N�N�           
�2/ค%>2N�?$�#2�N1�N�?P$/Q�/1��?PN�O�O/'N��N1�N�?P$/O'0#?�2%'�/'CN1$N2�%CON�N2R#N�@��2%�์ N�O��O� 

 /?���11/ 

 �%0�221�ค#O'0/1���%%#12N�?$� (ASEAN SOCIO-CULTURAL COMMUNITY) #?O����>�1�>�2%
�O2�21�ค#O'0/1���%%#12N�?$�%0�BQ�O����>�1�>�2%N/?$��1��%์�?P2 2ค1� คA1 �2% 1��2#�B1$์O'0�2%2%O2�11�'1�1�์
12N�?$� �O1�2%O2�ค/2#�%0/�1�%CO�@�ค/2#O���N2�Q�#%���2�/1���%%# N�N � #B2'>##?12/2%�?P N�O��O1/O2#               
�2#�%%#N�?$#�%CR�R#N#?�2%�1�#A1�1�N 0�%��O2# �2%Q�O#A1�O2$Q��2%2N��1�/%A1�2#�1�%Q/OO�N�2/#B2'>#�A1N�O�2>P�         
R#N2B"2  N�O��O� 

 

(4) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�2>P�O/�ลOอ/ 

�2%�B�%B� AQ��?P�N212�#?#2��@Q� �O/$22N/�B�1Q��?PN�>��2�ค�R�$O'0�2/�N2��2�> 22N/�B�?PN�>��2�ค�R�$คA1�2%
N >P#�@Q��1�� 2�/��%0�2�%� 2Q/O�?P� 2�>�R#NN ?$� 1�N1ค/2#�O1��2% /%A1�2%�2$�?P�>�Q/O�2$�B��N2�N�2�>O'O/R#N#?�?P� 2
�>��@��O1�R�N�>��N2Q/#N 2N/�22N/�B�2��2/�N2��2�> 12�#?�2$�B�N�O2#2� 2'2$�%1 $2�%�%%#�2�>O'02>P�O/�'O1#          
N�N� �2%�1�R#ON AP1�'�%0P$��์�2�N0%1��>� �2%N�O221#��2�N/#A1�O%N/%A1�%1 $2�%�%%#�2�>�?P2 2ค1�1AP�N #' >1�2�
�O1N2?$�O2#O�� N�N� 12�#?�$0�O2#O�� 
 

(5) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�OหลN��Q ำNพAPอ�ำ1N�1�1 

�ั��B�1��2%�%0�1�12�? �2��2%N�1�% N�1�%�%�>$#Q�O22%Nค#?Q��2%N >P#�'�'>��2��2%N�1�% 12�>         
Q�O$2�N2O#'� Q�O22%Nค#?� 2�1�01�%C A��2��2%N�1�% Q�O�B๋$Nค#? N�O��O�N�AP1��2�#?ค/2#20�/�O'0� 2Q/O�'>�"2 �2�
�2%N�1�%N >P#2C��@Q� N AP1Q/O#?�%>#2��1��'�'>�N ?$� 1�N1ค/2#�O1��2%Q�%0��N0%1��>� �@P�O�/P�O#�1��2%Q�O
22%Nค#?Q��2%N�1�%#?2C��@Q���N�? �@�2N��'�%0���N1O/'N��Q 2�%%#�2�> O/'N��Q 2N AP1�2%N�1�% O'02>P�O/�'O1# 
�'N2/คA1 �ั�/2�2%��คO2��1�22%Nค#?Q�2>P�O/�'O1#�@P�22N/�BN�>��2��2%O %N�%0�2$�1�22%Nค#?Q�%0//N2��2%�?� N� 
N�AP1��2�22%Nค#?2N/�Q/�N�0�%0�2$�2��%>N/��1� A��?P�O1��2%�?� N�'�2CN AQ�O'0�2�2N/�%0N/$1$CNQ�12�20� 2Q/O#?
�2%202#1$CNQ� AQ��>�O'0O/'N��Q 2 �@P�N�O��?P1$CN1201$�1�21�/์N'?Q$� O'021�/์Q��%%#�2�>Q��?P2B��02N��'Q/ON�>��2%202#
�1�22%Nค#?Q�/N/�P�N12/2%O'0� 2Q/O2>P�#?�?/>�Q�%0��/N/�P�N12/2%�B�%0�1�R�O%1��'�%0�� �1��2�22%Nค#?�O1��1�
� 2�1�01�%C A��0��คO2�Q�2>P�O/�'O1#O'O/ �B๋$Nค#?$1�2%O2��ั�/2#' >1Q/O�1�O/'N��Q 2�%%#�2�>O'0ค/2#N2?P$��2��O2� 
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2B�"2  N�AP1��2��B๋$Nค#?2N/�N�>��2� AQ��?PN�1�%�C��0'O2�O'0R/''�2CNO/'N��Q 2 P�$N� 20�2%� 2N�1�%O��N�O#�O��2%
Q�O�B๋$Nค#?Q��%>#2�#2�N�>�ค/2#�O1��2%�1� A�$1�2N��'Q/O�Q 2Q�O�>�#?�2%��N�AQ1�R�N�%�  �@P�2%O2�ค/2#N2?P$��N1
2B�"2 �1��%0�2��1?��O/$ 

 

(6) 0B��0ำ2�1์�ำ1พ?��ำ�Oำ�คB�.ำพ�?/>� 2?�ค/ Oล>�ำ1�1>หำ1�?��ำ1 

 �ั�/221�ค#�0%B�O%��O2R#NR�O%1��2%/2�O���?P�? N�AP1��2��0#?�$0� 2�/�#2�#2��@Q��ั�/2�2%O�N����1Q�        
�O2ค�R�$� 2�2��1�ค��N2��2�>�?P�O1$�/N2 12�#?�2%O�N����1Q��1�R�O �0#?�B#��2'1#N�>��@Q� O'012�#? #N2�2/�์       
'2/�2/�์ �1# C�2�2/�์ �ั�/212��2�%%#�0%B�O%� 2�>�>�2%�N112��2�%%#�0N >P#�@Q�1$N2�#2��2����1Q��?P#?�ั�/2
ค��0� 2�>���/#2$#2��@Q�N�AP1��2�R#N%CO��/#2$N#AP1�%0N�0R�$�O2/N�O22CN�%0�2ค#N0%1��>�12N�?$� (AEC) � 2Q/O
1�ค์�%��ค%1�2N/��O1��>P�P�$N� 201$N2�$>P�1�ค์�2%�%>/2%2N/�� 2�'/�1��1��O1�Q/Oค/2#2 2ค1��1��2%�1�%0N�?$�
�B#��21�ค#O'0ค/2#2��N%?$�%O1$#2��@Q� N�AP1��2���/#2$O'0/1���%%#�1�O�N'0���2�>12�#?ค/2#O���N2��1� 
�1��1Q� 12�#?�2%�N2�A���/#2$�2��2/�N2��%0N�0Q�R�$#2��@Q��1Q�P�$�1Q�Q�O'0ค/2#R#N%CO��/#2$  1?��1Q� 12�N�>�
�ั�/212��2�%%# $2N2 �>� N >P##2��@Q��2��2%/'1P�R/'�1�O%��2��N2��O2/�?PN�O2#2� 2�2�Q�R�$#2��@Q � N#AP1#?�2%
/'1P�R/'�1�O%��2�N�O2#2Q� AQ��?P �ั�/2�O2�22�2%�2B��?P2 2ค1�ค�/�?R#N O� �ั�/2P%ค�>��N1�N2�NN�N� P%คN1�2์ 
R�ON'A1�11� SARs R�O//1���O'0P%ค1AP�N�?P#?�'#2�2��2%Nค'AP1�$O2$O%��2�N�O2#2Q�R�$ �2%คO2#�B1$์O'0              
�2%�N1�N�?P$/ �@P�#?ค/2#N2?P$��N1�2%��N�AQ1� �2%O %N%0�2��1�P%ค01�%C A�O'0P%ค%0�2�21�/์ 
 

1. 21B��ล�ำ1�>��ำ/Oล>�1>N/>��ล �ี���1>/ำ� พ.0. 2562 

 1.1 0B��0ำ2�1์�ำ1พ?��ำ�Oอ��>P� 

  O��$B��022�%์�2% 1��21�ค์�2%�%>/2%2N/�� 2�'/�1��1� #?%2$'0N1?$� �1��?Q 
(1) N AP1 1��2�O2�Pค%�2%O2� AQ��2� 

(2) N AP1 1��2�O2�N0%1��>� 

(3) N AP1 1��2�O2��2%�2%0@�12 022�2 O'0/1���%%# 

(4) N AP1 1��2�O2�2>P�O/�'O1# 

(5) N AP1 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 

(6) N AP1 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 
 

1.2 �ำ1�>��ำ/Oล>�1>N/>��ล �ี���1>/ำ� พ.0. 2562 

  1) 1ำ0�ำ��ำ1�>��ำ/Oล>�1>N/>��ลO��พ?��ำ�Oอ��>P� �1>� ำ�ี���1>/ำ� พ.0. `562 

(�?Q�O�N/?��?P 1 �Bลำค/ 2561 – 30 �?�0ำ0� 2562)) 
 

2%B��1��?Pค%��2% 1��2 

1�ค์�2%�%>/2%2N/�� 2�'/�1��1� R�O�%0�20Q�OO�� 1��2�O1��>P�2?P�? ( .0. 2561 – 2564) N#AP1/1��?P 30 

 &0�>�2$� 2559 O'0O�� 1��2�O1��>P� (��1����/� 5 �?) ( .0.2561 – 2565) N#AP1/1��?P 15 #>�B�2$� 2562 
P�$R�O� 2/��Pค%��2%�?P�0� 2N�>��2%�2#O�� 1��2�O1��>P� ( .0. 2561 – 2565) 22#2%�� 2O���2#$B��022�%์ 
�1��?Q 
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ล ำ�?� Pค1��ำ1 ���1>/ำ� ห�N/0�ำ� 

1?��>��อ� 

1 Pค%��2%�@�1�%# 1��201�$"2 O'0�10�0@�12�C�2��1�ค�0�CO�%>/2% 2#2�>�2"2 �CO� 2�B#��      
�CO� 21�ค์�%�N2�N 2#2�>��'BN#�N2�N 12222#1ค%�O1��1�"1$�N2$ 'N%A1� /1//�O22N/�%2��2%Q�
 AQ��?P  �1��2�2N/�� 2�'O'0 �1��2��O2� �%0� 2�?���%0#2�  .0.2562 

450,000 2 2�1��'1� 

2 Pค%��2%�1�� 2N/O�R��์1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 20,000 2 2�1��'1� 

3 Pค%��2%�O1��1�O'0'�1B�1�>N/�B�2�����N/�N�0�2'�?Q/#NO'02��%2��์ 180,000 2 2�1��'1� 

4 Pค%��2%N >P#01�$"2 2#2�>� 1� %.� 2�'/�1��1� 100,000 2 2�1��'1� 

5 Pค%��2%1�%#Q/Oค/2#%CON�?P$/�1�22�2%�"1$O'0�2%�O1��1�"1$O�N�%0�2�� 20,000 2 2�1��'1� 

6 Pค%��2%�1��AQ1�1��1�N '>���>�O/O� ��2� 15 �1��์ 7,500 2 2�1��'1� 

7 Pค%��2%�O1��1�P%ค >12B�1��O2 80,000 2 2�1��'1� 

8 Pค%��2%�O1��1�O'0ค/�คB#P%ค�>��N1 100,000 2 2�1��'1� 

9 1B�/�B�12222#1ค%22�2%�2B��%0� 2/#CN�O2� (12#) 90,000 2 2�1��'1� 

10 Pค%��2%2N�N2%>#O'02�1�2�B��2% 1��2N�O�O'0N$2/�� 20,000 2 2�1��'1� 

11 Pค%��2%2N�N2%>#O'02�1�2�B��2% 1��22�%?O'0ค%1�ค%1/ 20,000 2 2�1��'1� 

12 Pค%��2%�O1��1�O'0O�OR��ั�/2$2N2 �>�� 2�'/�1��1� 30,000 2 2�1��'1� 

13 1B�/�B��1�//1�2%0O�O/ Pค%��2%�O1��1�O'0O�OR��ั�/2$2N2 �>� �%0� 2�?���%0#2� 2562 50,000 2 2�1��'1� 

14 1B�/�B�1 2N"1N#A1�2%0O�O/ Pค%��2%�1��1Q�0C�$์��>�1�>�2%%N/#Q��2%�N/$N/'A1�%0�2���1�
1�ค์�%��ค%1�2N/��O1��>P� 

25,000 2 2�1��'1� 

15 คN2Q�O�N2$Q��2%� 2�1��$0#C'�1$%N/#�1� �#.2%0O�O/ 150,000 2 2�1��'1� 

16 Pค%��2%N >P#�%02>��>"2 Q��2%�1�N�O�"21? 20,000 �1�ค'1� 
17 Pค%��2%�1��>��%%#/1�N�O�O/N��2�> (0C�$์ 1��2N�O�N'O��O2�/�O22�2�?) 20,000 �1��2%0@�12/ 

18 Pค%��2%2�1�2�B�คN2Q�O�N2$�2%�%>/2%�2%0@�12�1�0C�$์ 1��2N�O�N'O��O2�/�O22�2�?  
(คN2�1��2%N%?$��2%21�%2$/1/) 

40,000 �1��2%0@�12/ 

19 Pค%��2%2�1�2�B�คN2Q�O�N2$Q��2%�1��2%0@�12�1�0C�$์ 1��2N�O�N'O��O2�/�O22�2�?                
(คN21B��%�์�2%N%?$� คN2Nค%AP1�O���1�N%?$� O'0�>��%%# 1��2�CON%?$�) 

40,000 �1��2%0@�12/ 

20 Pค%��2%12/2%�'2�/1�N�O�N'O��1�0C�$์ 1��2N�O�N'O��O2�/�O22�2�? 93,100 �1��2%0@�12/ 

21 �1��AQ112/2%N2%># (�#) Q/OO�NN�O�N'O��1�0C�$์ 1��2N�O�N'O��O2�/�O22�2�? 36,408 �1��2%0@�12/ 

22 คN212/2%N2%># (�#) �1�P%�N%?$�21��1�2 2�1��2�ค�0�%%#�2%�2%0@�12�1Q� AQ��2� (2 �) Q�
N��� 2�'/�1��1� 4 P%�N%?$� �1��?Q                                             
1. P%�N%?$��O2�/�O22�2�? N�O�N�>� 256,770.80                                        
2. P%�N%?$��O2�Pค�#0�C# N�O�N�>� 176,290.40                                         
3. P%�N%?$��O2��N2O$� N�O�N�>� 237,608.80                                            
4. P%�N%?$��O2�ค'1��B/%?P N�O�N�>� 157,128.40 

827,798.40 �1��2%0@�12/ 

23 1B�/�B�Pค%��2%�>��%%#/1�N�O�O/N��2�> �'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� 60,000 �1��2%0@�12/ 

24 1B�/�B�Pค%��2%�1��>��%%#N�O2คN2$'C�N2A1O'0N��%�2%? �'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� 60,000 �1��2%0@�12/ 

25 1B�/�B�12/2%�'2�/1�N�O��1�N%?$��1�P%�N%?$�21��1�2 2�1��2�ค�0�%%#�2%�2%0@�12�1Q�
 AQ��2� (2 �) Q�N��� 2�'/�1��1� 4 P%�N%?$� �1��?Q                   
1. P%�N%?$��O2�/�O22�2�? N�O�N�>� 536,000 �2�                                       
2. P%�N%?$��O2�Pค�#0�C# N�O�N�>� 368,000 �2�                                       
3. P%�N%?$��O2��N2O$� N�O�N�>� 496,000 �2�                                          
4. P%�N%?$��O2�ค'1��B/%?P N�O�N�>� 328,000 �2� 

1,728,000 �1��2%0@�12/ 
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ล ำ�?� Pค1��ำ1 ���1>/ำ� ห�N/0�ำ� 

1?��>��อ� 

26  Pค%��2%O�N��1��?02�N1�O2�$2N2 �>�1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 300,000 �1��2%0@�12/ 

27 1B�/�B��'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� Pค%��2%�1��2%O�N��1��?02Nค%A1�N2$� 2�'      
/�1��1� 

60,000 �1��2%0@�12/ 

28 Pค%��2%2N�N2%>#/1���%%#�%0N �?R�$�B��0N//�N�0�์#/2�2�>1�ค์�2%�%>/2%2N/�� 2�'        
/�1��1�%N/#�1��1�//1�2%0O�O/ 

50,000 �1��2%0@�12/ 

29 1B�/�B��'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� Pค%��2%�1��>��%%#N�O2คN2$��>�1�>�%%#        
2CNN$2/��P%�N%?$�Nค%A1�N2$� 2�'/�1��1� 

60,000 �1��2%0@�12/ 

30 1B�/�B��2%ค�0�%%#�2%/#CN�O2� Pค%��2%�1��>��%%#/1��CO2C�12$BO'0�%0N �?2��%2��์ 120,000 �1��2%0@�12/ 

31 1B�/�B��2%ค�0�%%#�2%/#CN�O2� Pค%��2%2N�N2%>#�%0N �?/1���%%#/1�'1$�%0��  120,000 �1��2%0@�12/ 

32 Pค%��2%�1��2�N�0�2'�C�?N2AQ1�?P�2�2?�2 60,000 �1��2%0@�12/ 

33 1B�/�B�1 2N"1N#A1�2%0O�O/ Pค%��2%2A�22�/1���%%#N�AQ1��C% 2O'0�2��2�2�        
�1�//1�2%0O�O/ �%0� 2�?���%0#2� 2562 

30,000 �1��2%0@�12/ 

34 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/  Pค%��2%�$2$%0��R!!O222�2%�0 /#CN�?P 3 
�O2�Pค�#0�C# (�'BN#�O2�/�1��%A1) 

62,018.27 �1��N2� 

35 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$%0��R!!O222�2%�0 /#CN�?P 5 
�O2�O�N�R�% (�'BN#�O2�P �>N�1�) 

28,155.98 �1��N2� 

36 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$%0��R!!O222�2%�0 /#CN�?P 6 
�O2�ค'1��B/%?PN/�A1 

91,061.28 �1��N2� 

37 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$%0��R!!O222�2%�0 /#CN�?P 7 
�O2�ค'1��B/%?PQ�O 

72,571.68 �1��N2� 

38 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$%0��R!!O222�2%�0 /#CN�?P 8 
�O2�/�1��1� 

94,163.21 �1��N2� 

39 Pค%��2%�N1#O�#���ค1��%?�N2%>#N/'O�P�$ Overlay Asphaltic Concrete   (22$�2� 
/'1��O1#� 2%/�) /#CN  12 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$2�2� 250 N#�%         
/�2 0.05 N#�% /%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 1,000 �2%2�N#�% 

358,080 �1��N2� 

40 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O�22$�2��%>N/�!2%์#/#C�COQ/�N�B� �O2�2/� /#CN�?P 2  
�%>#2��>/�%2�%�/O2� 4 N#�% %0$0�2� 200 N#�% /�2 0.15 N#�% /%A1#? AQ��?PR#N�O1$�/N2 
800 �2%2�N#�% 

396,261.68 �1��N2� 

41 Pค%��2%�N1#O�#N2%>#�>/�%2�%�>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��O2�Pค�#0�C#          
(�'BN#�2'O1#) /#CN�?P 3 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 2,800 N#�% /�2 0.20 
N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 2,240 �2%2�N#�% 

400,224.30 �1��N2� 

42 Pค%��2%�N1#O�#N2%>#�>/�>�'C�%1� %O1#N�'?P$O�N� 22$�2��%>N/��O2��1$P�%N��� �1��?P 1 
O'0�1��?P 2 �O2��N2#0�C# /#CN�?P 10  �1��?P 1 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 
400 N#�% /�2 0.30 N#�% �1��?P 2 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 400 
/�2 0.80 N#�% #?�%>#2�%�>�'C�%1�R#N�O1$�/N2 880 '�.#.  

161,476.64 �1��N2� 

43 Pค%��2%�N12%O2�0C�$์12222#1ค%�O1��1�"1$�N2$ 'N%A1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 297,196.26 �1��N2� 

44 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��O2��N2O$�–�O2��N2#0�C#       
/#CN�?P 4 – /#CN�?P 10 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 2,700 N#�% /�2 0.30 
N#�% /%A1/�2�%1��2#2"2  AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 3,240 '�.#. 

554,766.36 �1��N2� 
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ล ำ�?� Pค1��ำ1 ���1>/ำ� ห�N/0�ำ� 

1?��>��อ� 

45 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N��%>N/�22$�2��O2��BN�2 2P%�–P �>N�1� 
/#CN�?P 4 �%>#2��>/�%2�%�/O2� 4 N#�% %0$0�2� 1,950 N#�% /�2 0.30 N#�% /%A1/�2
�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 2,340 '�.#.   

424,000 �1��N2� 

46 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/�2/��2$�/?  �O2�       
O�N�R�% /#CN�?P 5 �%>#2��>/�%2�%�/O2� 4 N#�% %0$0�2� 1,600 N#�% /�2 0.30 N#�% 
/%A1�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,920 '�.#.  

374,962.62 �1��N2� 

47 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/�2%0/�1��%A1%0O�0 
�O2�Pค�#0�C# /#CN�?P  3 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2�  1,340 N#�%         
/�2 0.20 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,072 
'�.#. 

190,205.61 �1��N2� 

48 Pค%��2%�N1#O�#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��1$�2$�O2�ค'1��B/%?PQ�O 
/#CN�?P 7 �>/�%2�%�/O2� 3 N#�% %0$0�2� 700 N#�% /�2 0.30 N#�% /%A1/�2�%1��2#
2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 630 '�.#. 

117,146.66 �1��N2� 

49 Pค%��2%�N12%O2��C 2%2O12!ั2�์�>�ค1��%?��1�ค1��%?�22$�2��O2�N�>�O2�2B�N�AP1#        
�O2�2/� /#CN�?P 9 N�AP1# /#CN�?P 2 �%>#2��>/�%2�%�/O2� 4 N#�%  %0$0�2� 250 N#�%        
/�2 0.05 N#�% /%A1#? AQ��?P� 2N�>��2�R#N�O1$�/N2 1,000 �2%2�N#�% 

448,766.36 �1��N2� 

50 Pค%��2%�N1#O�#���ค1��%?�P�$ Overlay Asphaltic Concerte  �1����ค1��%?�        
22$�2��O2��N2#0�C# /#CN�?P 10 N�AP1# �O2�Pค�#0�C# /#CN�?P 3 (�'BN#�2'O1#) �%>#2��2��>/
�%2�%�/O2� 4 N#�% %0$0�2� 300 N#�% /�2 0.05 N#�% /%A1#? AQ��?P� 2N�>��2%R#N�O1$
�/N2 1,200 �2%2�N#�% 

405,738.36 �1��N2� 

51 Pค%��2%�N1#O�#N2%>#�>/�%2�%�>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��1$�O2��2$2�1P�   
/#CN�?P 6 �O2�ค'1��B/%?PN/�A1 �%>#2��2��>/�%2�%�/O2� 3 N#�% %0$0�2� 1,900 N#�% 
/�2 0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,710 
'�.#. 

321,962.62 �1��N2� 

52 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O��%>N/�22$�2��'BN#�O2��2$2#01��>N /#CN�?P 3        
�O2�Pค�#0�C# �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 150 N#�% /�2 0.15 N#�% 
 %O1#�O2$Pค%��2%/%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 600 �2%2�N#�% 

297,196.26 �1��N2� 

53 Pค%��2%�N12%O2��>��1Q�N222N�/>�$B2AP122% %O1#1B��%�์�1�1�ค์�2%�%>/2%2N/�� 2�'       
/�1��1� 

112,250.58 �1��N2� 

54 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O�22$�2��%>N/��'BN#�O2��2'O1# /#CN�?P 3 �%>#2��>/
�%2�%�/O2� 4 N#�% %0$0�2� 200 N#�% /�2 0.15 N#�%  %O1#�O2$Pค%��2% 1 �O2$  
/%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 800 �%.#.  

396,261.68 �1��N2� 

55 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O��'BN#!2%์#�COQ/�N�B� /#CN�?P 2 �O2�2/� �%>#2��>/
�%2�%�/O2� 4 N#�% %0$0�2� 194 N#�% /�2 0.15 N#�%  %O1#�O2$Pค%��2% 1 �O2$    
/%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 776 �2%2�N#�%  

384,373.83 �1��N2� 

56 Pค%��2%�N1#O�#N2%>#�>/���'C�%1� %O1#N�'?P$O�N�22$�2��%>N/�%>#�2�%�R! /#CN�?P 2        
�O2�2/� �%>#2��>/�%2�%�/O2� 4 N#�% %0$0�2� 400 N#�% /�2 0.30 N#�% /%A1/�2
�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 480 '�.#.  

78,261.68 �1��N2� 

57 Pค%��2%�N12%O2�����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��1$�2 2.1��.N'1N'>0 /%A1#?
�%>#2�%�>�'C�%1�R#N�O1$�/N2 780 '�.#.  

138,691.59 �1��N2� 
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ล ำ�?� Pค1��ำ1 ���1>/ำ� ห�N/0�ำ� 

1?��>��อ� 

58 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��1$2/��2�1� /#CN�?P 
7 �O2�ค'1��B/%?PQ�O �%>#2��2��>/�%2�%�/O2� 3 N#�% %0$0�2� 2,200 N#�% /�2 
0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,980 '�.
#. 

353,673.64 �1��N2� 

59 Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O��%>N/��1$2B%>$0N2O��2�/#CN �?P 1 �@�/#CN�?P 8 
�%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 297 N#�% /�2 0.15 N#�%  %O1#�O2$
Pค%��2%       1 �O2$ /%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 1,188 �2%2�N#�% 

640,953.27 �1��N2� 

60 Pค%��2%�N1#O�#N2%>#�>/�>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��1$�O2�2%0�Q 2 (��
�1�//1�) /#CN�?P 6 �O2�ค'1��B/%?PN/�A1 �%>#2��2��>/�%2�%�/O2� 3 N#�% %0$0�2� 
1,000 N#�% /�2 0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1� R#N
�O1$�/N2 900         '�.#.  %O1#�O2$Pค%��2%  1 �O2$ 

171,383.18 �1��N2� 

61 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��1$�2$2# % O#N��A�        
/#CN�?P 5 �O2�O�N�R�% �%>#2��2��>/�%2�%�/O2�  4 N#�% %0$0�2� 65 N#�% /�2 0.30 
N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 78 '�.#. 

14,000 �1��N2� 

62 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2�O$�N�O2�'BN#�O2�P �>N�1�  
(%O2�N�P��B�) /#CN�?P 5 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 950 N#�% /�2 
0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,140 '�.
#. 

208,000 �1��N2� 

63 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%��O2#�O2� 2.1��.N�>�       
/#CN�?P 6 �O2�ค'1��B/%?PN/�A1 �%>#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 1,750 N#�% 
/�2 0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 2,100 
'�.#.  

400,000 �1��N2� 

64 Pค%��2%�N1#O�#N2%>#�>/����>�'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��%��O2#�1$ �O2�  
�COQ/�N%2� /#CN�?P 7 �O2�ค'1��B/%?PQ�O �%0#2��2��>/�%2�%�/O2� 4 N#�% %0$0�2� 
2,400 N#�% /�2 0.30 N#�% /%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N
�O1$�/N2 2,880 '�.#.  

542,878.50 �1��N2� 

65 N�?Q$$1��? �CO2C�12$B 8,130,000 2 2�1��'1� 

66 N�?Q$$1��? �CO >�2% 1,980,000 2 2�1��'1� 

67 N�>�2�Nค%20/์N�?Q$$1��? �CO�N/$N1�2 ์ 78,000 2 2�1��'1� 

68 N�>�2#���1��B��%0�1�21�ค# 150,000 2 2�1��'1� 

69 N�>�2#���1��B�� 2N/�O�� 2�2��O2%2��2%2N/��O1��>P� (���.) 175,000 2 2�1��'1� 

1// 

 

24,117,488.50  
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 Pค%��2%�?P�1Q��N2$N�O�%2$�2%Q/#NQ��?���%0#2�  .0.2562 

ล ำ�?� Pค1��ำ1 ���1>/ำ� ห�N/0�ำ� 

1?��>��อ� 

1 Pค%��2%N2%>#2%O2�2B�"2 �%0�2�� �CO�%>/2% 2#2�>�2"2O'0 �1��2��O1��>P�            
N AP1N�O2%N/#Pค%��2%�O1��>P�N�#2์ ค%1Q��?P 18 �%0� 2�? 2562 

65,000 �1��2%0@�12/ 

2 N�O2%N/#Pค%��2% < >�?/2�&�1์Pค%��2%�N12%O2�12ค2%�N2�0B'�2�%O'0���N�AP1#�N1�ัP�
�1# C�2O'0 >�?N�>�%�R!�N2� %#O���O2�ค'1�'@�  >�?'��2#ค/2#��'�/N2�O/$�2%N�>�
%�R!%N/#�1�%0//N2�%1��2'O/N�%2�12�2�1�%R�$O'0%1��2'O/N�%2�12�2�1�%�1# C�2
O'0 >�?2N�#1�%�R!�?N�'%2�= 

14,080 2 2�1��'1� 

3 N�O2%N/#�>��%%#Pค%��2%�>�1222�2$O���C% 2 %/#Q�"1��>N <N%2� 2ค/2#�?�O/$/1/Q�= 
� 2�2#�?021�ค์�2%�%>/2%2N/��1�//1�2%0O�O/ 

12,000 2 2�1��'1� 

4 N�O2%N/#�>��%%#�2%�1�#/%2 2#P"�N�AP1�Q�P1�22#�ค' %0%2� >�?�%#%2�2">N1�      
� �%>N/�/�O202'2�'2��1�//1�2%0O�O/  

28,800 2 2�1��'1� 

5 Pค%��2%�>�1222 1��2' 2�Q 2 ' 2ค'1� �'C��N2 �'N1$�'2 N�AP1�Q�/1�N�'># %0
��# %%12 %0�2�2#N�O� %0N�O21$CN/1/ �%0� 2�?  .0.2562 � �%>N/��2$�Q 2'O�       
�N2#0�C# /#CN�?P 10 O'0 �N2�B#���O2��N2O$� /#CN�?P 4 

170,000 2 2�1��'1� 

1// 289,880  

1//�?Q�ห/� 24,407,368.50  
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0B��0ำ2�1์ 
�ี 2561 �ี 2562 �ี 2563 �ี 2564 �ี 2565 1// 5 �ี 

� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
1. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ�Pค1�21Oำ�
พAQ��ำ� 

-O��1B�22/�%%#O'0
�2%P$�2 
-O���2�Nค/0O'0
�B#�� 

 

- 

 

- 

 

204 

 

124,700,000 

 

 

204 

 

124,700,000 

 

 

204 

 

124,700,000 

 

 

60 

 

48,800,000 

           

672 

 

422,900,000 

1// - - 204 124,700,000 204 124,700,000 204 124,700,000 60 48,800,000 672 422,900,000 

2. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ�N011��>� 

-O���2��2%N�1�% 
-O���2�2%O2�ค/2#
N�O#O�O��1��B#�� 

 

 

- 

 

 

- 

 

 

- 

 

 

- 

 

 

- 

 

 

- 

 

 

5 

 

 

1,500,000 

 

 

- 

 

 

- 

 

 

5 

 

 

1,500,000 

1// - - - - - - 5 1,500,000 - - 5 1,500,000 

3. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ��ำ10@�1ำ 
0ำ2�ำ /?���11/ 
�1>Nพ�? 
-O���2��2%0@�12 
-O���2�022�2 
/1���%%# �%0N �? 
O'0 �1���2�2% 

 

- 

 

- 

 

20 

 

6,465,000 

 

 

49 

 

8,882,000 

 

 

52 

 

9,996,500 

 

 

17 

 

2,332,000 

 

138 

 

27,675,500 

1// - - 20 6,465,000 204 124,700,000 204 124,700,000 816 498,800,000 138 27,675,500 

4. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ�
2>P�O/�ลOอ/ 

-O���2��2%N�1�% 
-O���2�Nค/0�B#�� 

 

 

- 

 

 

- 

 

 

- 

 

 

- 

 

 

19 

 

 

2,750,000 

 

 

19 

 

 

2,750,000 

 

 

- 

 

 

- 

 

 

38 

 

 

5,500,000 

1// - - - - 19 2,750,000 19  2,750,000 - - 38 5,500,000 
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0B��0ำ2�1์ 
�ี 2561 �ี 2562 �ี 2563 �ี 2564 �ี 2565 1// 5 �ี 

� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
� ำ�/� 

Pค1��ำ1 
���1>/ำ� 

(�ำ�) 
5. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ�OหลN��Q ำ
NพAPอ�ำ1N�1�1 
-O���2��2%N�1�% 

 

- 

 

- 

 

- 

 

- 

 

 

12 

 

7,300,000 

 

 

12 

 

7,300,000 

 

 

- 

 

- 

 

24 

 

14,600,000 

1// - - - - 12 7,300,000 12 7,300,000 - - 24 14,600,000 

6. 0B��0ำ2�1์�ำ1
พ?��ำ�Oำ�คB�.ำพ
�?/>� 2?�ค/ Oล>�ำ1
�1>หำ1�?��ำ1 
- O���2�%1�12ค/2#
2��"2$Q�                       
- O���2�22�2%�2B�     
- O���2�21�ค#
2�Nค%20/์                  
- O���2�2%O2�ค/2#
N�O#O�O��1��B#��         
- O���2����'2� 

 

- 

 

- 

 

1 

 

25,000 

 

95 

 

33,436,000 

 

94 

 

37,981,000 

 

1 

 

25,000 

 

191 

 

71,467,000 

1// - - 1 25,000 95 33,436,000 94 37,981,000 1 25,000 191 71,467,000 
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 �ำ1�?�� ำ���1>/ำ� 

 1�ค์�2%�%>/2%2N/�� 2�'/�1��1� R�O�%0�20Q�O�O1�1��1�>���%0#2�%2$�N2$�%0� 2�?���%0#2� 
 .0. 2562 N#AP1/1��?P 20 �1�$2$� 2561 P�$#?Pค%��2%�?P�%%�B1$CNQ��O1�1��1�>���%0#2� � 2�/� 69 Pค%��2% 
O'0Pค%��2%�1Q��N2$N�O�%2$�2%Q/#N 5 Pค%��2% ���%0#2� 22#2%�� 2O���2#$B��022�%์ R�O�1��?Q 

0B��0ำ2�1์ Pค1��ำ1 ���1>/ำ� 

1. �2% 1��2�O2�Pค%�2%O2� AQ��2� 31 8,536,682.10 

2. �2% 1��2�O2�N0%1��>� - - 

3. �2% 1��2�2%0@�12 022�2 /1���%%# �%0N �? 17 3,705,306.40 

4. �2% 1��2�O2�2>P�O/�'O1# 2 320,000 

5. �2% 1��2�O2�O/'N��Q 2N AP1�2%N�1�% - - 

6. �2% 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 24 11,845,380 

1// 74 

24,407,368.50 

 

O���N/0� ำ�?��ำ1�?�� ำO��0B��0ำ2�1์�อ��Oอ��>P�P�0��Nอ� 
ค ำ�?QO�� :  O���?P 1 N�O�O���%0N#>���N1�Q��2%�1�� 2O��$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P� P�$�0� 2�2%
�%0N#>�O'0%2$�2��B� N ค%1Q� /'1��2��?P1�ค์�%��ค%1�2N/��O1��>P�R�O�%0�20Q�OO��$B��022�%์O'O/  
�APออ�ค์�1��ค1อ�2N/��Oอ��>P� 1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 

 

�1>N�O��ำ1�1>N/>� 

/? 
�ำ1� ำN�>��ำ� 

R/N/? 
�ำ1� ำN�>��ำ� 

2N/��?P  1   ค�>�11/�ำ1พ?��ำ�Oอ��>P�     

1.  #?�2%�1��1Q�ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P�  - 

2.  #?�2%�1��%0�B#ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P�  - 

3.  #?�2%�1��%0�B#1$N2��N1N�AP1�2#P 2N2#1  - 

4.  #?�2%�1��1Q�ค�0�%%#�2%2�1�2�B��2%�1�� 2O�� 1��2�O1��>P�  - 

5.  #?�2%�1��%0�B#ค�0�%%#�2%2�1�2�B��2%�1�� 2O�� 1��2�O1��>P�  - 

6.  #?ค�0�%%#�2% 1��2�O1��>P�O'0�%0�2ค#�O1��>P� >�2%�2%N2�O��$B��022�%์ 
     �2% 1��2 

 - 
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�1>N�O��ำ1�1>N/>� 

/? 
�ำ1� ำN�>��ำ� 

R/N/? 
�ำ1� ำN�>��ำ� 

2N/��?P  2  �ำ1�?�� ำO���ำ1พ?��ำ�Oอ��>P�   

7.  #?�2%%/�%/#�O1#C'O'0�ั�/22 2ค1��1��O1��>P�#2�1�� 2�2��O1#C'  - 

8.  #?�2%N�>�P1�22Q/O�%0�2��N�O2#2#?2N/�%N/#Q��2%�1�� 2O��  - 

9.  #?�2%/>Nค%20/์01�$"2 �1��O1��>P� (SWOT) N AP1�%0N#>�2�2�"2 �2% 1��2 
     �O1��>P� 

 - 

10.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1� 

      01�$"2 �1��O1��>P� 
 - 

11.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1� 

      $B��022�%์�1�//1� 
 - 

12.  #?�2%� 2/���B�#BN�/#2$N AP1�2% 1��2�?P$1P�$A�  - 

13.  #?�2%� 2/��N�O2/#2$�2% 1��2�O1��>P�  - 

14.  #?�2%� 2/��$B��022�%์�2% 1��2O'0O�/�2��2% 1��2  - 

15.  #?�2%� 2/��$B��022�%์�?P21�ค'O1��1�$B��022�%์�1��1�//1�  - 

16.  #?�2%1�B#1�>O'0�%0�20Q�OO��$B��022�%์�2% 1��2  - 

17.  #?�2%�1�� 2�1��?�'BN#Pค%��2%Q�O��$B��022�%์  - 

18.  #?�2%� 2/��%C�O���2%�>��2#�%0N#>��'O��$B��022�%์  - 

19.  #?�2%���/�O��$B��022�%์/%A1R#N  - 
 

2N/��?P 1 �Oอ/Cล�?P/R� 

1. �AP11�ค์�%��ค%1�2N/��O1��>P�  1�ค์�2%�%>/2%2N/�� 2�'/�1��1� 1 2N"1N#A1�2%0O�O/  
�1�//1�2%0O�O/ 

%0$0N/'2�1Q�O�N/1��?P 1 �B'2ค# 2561 – 30 �1�$2$� 2562 

2N/��?P 2 0B��0ำ2�1์ Oล>Pค1��ำ1�?P�11�BQ��ี���1>/ำ� พ.0. 2562 

1. � ำ�/�Pค1��ำ1�?P�1ำ��อ0CNQ�O��Oล>Pค1��ำ1�?PR�O��>�?�> 
0B��0ำ2�1 ์ Pค1��ำ1�?P�11�BQ� 

O��พ?��ำ�Oอ��>P� 

(พ.0.2561 – 2565) 

Pค1��ำ1�ำ/ 

O��� ำN�>��ำ� 

�1>� ำ�ี พ.0.2562 

Pค1��ำ1�?P� ำN�>��ำ1 
N21O�N1?0�1Oอ0 

(1 �.ค. 61 – 30�.0. 
62) 

1. �O2�Pค%�2%O2� AQ��2� 672 14 31 

2. �O2�N0%1��>� 5 1 - 

3. �O2��2%0@�12 022�2 O'0/1���%%# 138 23 17 

4. �O2�2>P�O/�'O1# 38 2 2 

5. �O2�O/'N��Q 2N AP1�2%N�1�% 24 1 - 

6. �O2�คB�"2 �?/>� 21�ค# O'0�2% 

�%>/2%�1��2% 

191 20 24 

1// 1,068 61 74 

ค>�N�็�1Oอ0ล>�อ�Pค1��ำ1�?P�11�BQ�O��พ?��ำ�Oอ��>P� 

�1>� ำ�ี 2562 

5.71 6.92 

ค>�N�็�1Oอ0ล>�อ�Pค1��ำ1�?P�11�BQ�O��� ำN�>��ำ� �1>� ำ�ี 2562 121.31 
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  2. O�/�ำ��ำ1�ำ1�>��ำ/Oล>�1>N/>��ล �ี���1>/ำ� พ.0. 2563 

 �2#%0N�?$��%0�%/�#/2�R�$/N2�O/$�2%�1�� 2O�� 1��2 �1�1�ค์�%��ค%1�2N/��O1��>P� 
 .0.`cb8 O�OR�N >P#N�>#�@� (��1��?P 3)  .0. 2561 �%0�1�/�1�2A1�%0�%/�#/2�R�$ �N/��?P2B� �?P #� 
0810.3// 6732 '�/1��?P 6  &0�>�2$� 2562 N%AP1� �1��O1#O�/�2��2%� 2N�>��2%�2#O�� 1�2�O1��>P�
�1�1�ค์�%��ค%1�2N/��O1��>P�  

 �O1 2. �2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� �2#�O1 29 (3) O'0�O1 30 (5) �1�
%0N�?$��%0�%/�#/2�R�$/N2�O/$�2%�1�� 2O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�   .0.`cb8 O�OR�
N >P#N�>#�@� (��1��?P 3)  .0. 2561 Q/O� 2N�>��2%1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��?�1Q� 
 �%1�%0$0N/'2�1��'N2/Q/Oค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� %2$�2��'O'0N2�1
ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'�'O�� 1��2�O1��>P��N1�CO�%>/2%�O1��>P� N AP1Q/O�CO�%>/2%�O1��>P�
N2�1�N12"2�O1��>P�O'0ค�0�%%#�2% 1��2�O1��>P�"2$Q�N�A1��1�/2ค#�1��B��? �1Q��?Q2"2�O1��>P�O'0
ค�0�%%#�2% 1��2�O1��>P�22#2%��%0�B#N AP1%1��%2�O'0  >�2%�2N%AP1��1��'N2/R�O�2#ค/2#N/#202# �@P�
12��0�%0�B#%1��%2��' "2$/'1 �N�A1��1�/2ค#�O R�O  P�$Q��2%�>��2#O'0�%0N#>��'O�� 1��2
 �O1��>P�%1��?���%0#2�  .0. 2562 Q/O1�ค์�%��ค%1�2N/��O1��>P�� 2O�� 1��2�O1��>P� ( .0. 2561-2565)
�?P� 2N�>��2%Q��?���%0#2�  .0.  2562 #2�>��2#O'0�%0N#>��' O'0� 2�O1#C'�'�2%� 2N�>��2��2#
O�� 1��2�O1��>P�2?P�? ( .0. 2561-2564) N� 20�?P� 2N�>��2%�N1��%0�20Q�OO�� 1��2�O1��>P� ( .0. 

2561-2565) #2Q�ON�O��O1#C'Q��2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��O/$ 

2. �2%� 2N�>��2%�>��2#O'0�%0N#>��'$B��022�%์O'0�2%� 2N�>��>��2#O'0�%0N#>��'Pค%��2% Q/O1�ค์�%
��ค%1�2N/��O1��>P�� 2O�� 1��2�O1��>P� ( .0. 2561-2565) #2� 2N�>��2%�2#O�/�2��2% >�2%�2�2%
�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��?P� 2/��Q�/�1�2A1�%0�%/�#/2�R�$ �N/��?P2B� �?P #� 0810.3// 
2931 '�/1��?P 15  &1"2ค# 2562 
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O�/�ำ��ำ1�>��ำ/Oล>�1>N/>��ลO��พ?��ำ�Oอ��>P��อ�อ�ค์�1��ค1อ�2N/��Oอ��>P��ำ/
1>N�?0��1>�1/�/หำ�R�0/Nำ�O/0�ำ1�?�� ำO��พ?��ำ�อ�อ�ค์�1��ค1อ�2N/��Oอ��>P� พ .0. 2548 O�OR�
Nพ>P/N�>/�@� (��?��?P 3) พ.0. 2561 

 

ล ำ�?� �CO1?��>��อ� O�/�ำ��ำ1� ำN�>��ำ� 

1 ค�0�%%#�2%�>��2#O'0
�%0N#>��'O�� 1��2�O1��>P� 

%2$�2��'O'0N2�1ค/2#N/O��@P�R�O�2��2%�>��2#O'0�%0N#>��'
O�� 1��2�O1��>P��N1�CO�%>/2%�O1��>P� 

2 �CO�%>/2%�O1��>P� 1) 2%B��'O'0N2�1ค/2#N/O��2��2%�>��2#O'0�%0N#>��'O�� 1��2
�O1��>P��N12"2�O1��>P� 

2) N2�1�'�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��N12"2�O1��>P� 

3 2"2�O1��>P� 1) �1�Q/O#?�2%�%0�B#2"2�O1��>P� 2#1$22#1�/%A1/>22#1�O'O/O�N�%�? N AP1
%1��%2��'�2��2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��2��CO�%>/2%
�O1��>P� 

2) 2#2�>�2"2�O1��>P�/%A1�?P�%0�B#O/N�2"2�O1��>P�22#2%�1">�%2$O'0
N2�1ค/2#N/O�Q��?P�%0�B#2"2�O1��>P� 

3) �%0�2�2"2�O1��>P�N2�1�'�2%�>��2#O'0�%0N#>��'O�� 1��2
�O1��>P��?P2"2�O1��>P�R�O%1��%2� O'0R�ON2�1ค/2#N/O� /%A1�2%�1Q��O121�N�� 
�O1N2�1O�0�2% 1��2�O1��>P�Q/O�CO�%>/2%�O1��>P� 

4 �CO�%>/2%�O1��>P� 2N��'�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��?P2"2�O1��>P�R�O%1��%2�
O'0R�ON2�1ค/2#N/O� /%A1�2%�1Q��O121�N�� �O1N2�1O�0�2% 1��2�O1��>P�
Q�2"2�O1��>P�O'O/2N�Q/Oค�0�%%#�2% 1��2�O1��>P� 

5 ค�0�%%#�2% 1��2�O1��>P� 1) �CO�%>/2%�O1��>P��1�Q/O#?�2%�%0�B#ค�0�%%#�2% 1��2�O1��>P�N AP1R�O
%1��%2��'�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P��2�2"2�O1��>P� 

2) N2�1ค/2#N/O� /%A1�2%�1Q��O121�N�� �O1N2�1O�0�2% 1��2�O1��>P�
N AP1Q/O�CO�%>/2%�O1��>P��%0�20�'�2%�>��2#O'0�%0N#>��'O�� 1��2
�O1��>P�Q/O�%0�2��Q��O1��>P��%2� 

6 �CO�%>/2%�O1��>P� 1) �%0�20�'�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P�Q/O�%0�2��Q�
�O1��>P��%2�Q��?P N�>�N�$"2$Q�2>�/O2/1��1�O�N/1�%2$�2��'O'0N2�1
ค/2#N/O��1��'N2/ 

2) �O1��>��%0�20R/ON�O�%0$0N/'2R#N�O1$�/N222#2>�/1� 

3) 1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��? 
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  2.1 �ำ1�>��ำ/Oล>�1>N/>��ล0B��0ำ2�1์ 
    �2# %0%2��1��1�>� 2/��O��O'0�1Q��1��2%�%0�2$1 2�2�Q/OO�N1�ค์�%��ค%1�2N/�
�O1��>P�  .0. `cb` R�O� 2/��Q/O1�ค์�%��ค%1�2N/��O1��>P� #?1 2�2�O'0/�O2�?PQ��2%�1�� 2O�� 1��2
�O1��>P��1���N1�  P�$Q��2%�1�� 2O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P��1Q� �0�O1�� 2N�>��2%�2#
%0N�?$��%0�%/�#/2�R�$ /N2�O/$�2%�1�� 2O�� 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�   .0. `cb^ O'0�?P
O�OR�N >P#N�>#�@� (��1��?P a)  .0. `cd_  �1Q��?Q  O�� 1��2�O1��>P��0�O1�21�ค'O1��1�O�� 1��2�1�//1� 
$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�  O�� 1��21 2N"1  O�� 1��2� 2�'  
O�� 1��2/#CN�O2�/%A1O���B#��  11�#?'1�1�0N�O��2%� 2/��%2$'0N1?$�O���2�  �1��1Q�  �@��O1�#?�2%
� 2/��$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1��@Q� �2#�%0�/��2% >�2%�2�2�
�%0�2ค#�O1��>P�%0�1��1�//1� %N/#�1�ค�0�%%#�2% 1��21�ค์�2%�%>/2%2N/��1�//1� ค�0�%%#�2%�%022�
O�� 1��2�O1��>P�%0�1��1�//1�  �COO��1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�  %N/#�1��1�� 2  ���/�  /%A1
N�'?P$�O�'�$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�  N AP1Q/O�2%�1�� 2O�� 1��2
�1�1�ค์�%��ค%1�2N/��O1��>P�N�>��%02>��>"2  �%02>��>�'  P�$� 2$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�
2N/��O1��>P�Q�N���1�//1�R�Q�ON�O�O�/�2�Q��2%�1�� 2O�� 1��2�O1��>P��1���N1�R�O�N1R� O'0N AP1Q/O
22#2%��C%�2�2%�1�O�� 1��2�1�//1�  O����>�1�>%2��2%�%0� 2�?�1��1�//1�O'0�1�2�1�ค/2#�O1��2%
�1��%0�2��11��0� 2R�2CO�2%�1�� 2���%0#2� �?P#?�%02>��>"2 Q��O1��>P�R�O1$N2�O�O�%>�  N�O�Nค%AP1�#A1Q�
�2% 1��2�O1��>P�Q/ON�O#O�O� N�>��%0P$��์2C�2B��N1�%0�2��Q��O1��>P�   

 

    �1��1Q�  1�ค์�%��ค%1�2N2/��O1��>P�  �@��O1�� 2/��$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�
2N/��O1��>P�Q/O21�ค'O1�$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�  N AP1� 2R�2CN�2%  
�C%�2�2%%N/#�1� Q/ON�>�ค/2#21�ค'O1��1�O�� 1��2�1�//1� 22#2%�N�AP1#P$�R�2CNO�� 1��2�'BN#�1�//1�  
O�� 1��2"2ค  O�� 1��2N0%1��>�O'021�ค#O/N��2�>  ��1��?P _`  O��$B��022�%์�2�> `^ �?  R�$O'��์ 
b.^  O'0Q��2%�1�� 2O�� 1��2�O1��>P� ( .0. `cd_ – `cdc)   �0�O1�#?�2%�>��2#O'0�>��2#O'0
�%0N#>��'$B��022�%์N AP1ค/2#21�ค'O1�O�� 1��2�O1��>P��1�1�ค์�%��ค%1�2N/��O1��>P�  �2#%0N�?$�
�%0�%/�#/2�R�$ /N2�O/$�2%�1�� 2O���1�1�ค์�%��ค%1�2N/��O1��>P�  .0. `cb^  O'0�?PO�OR�N >P#N�>#�@� 
(��1��?P  a)   .0. `cd_  P�$ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� �0�O1�� 2N�>��2%Q/O
ค0O���2#N���์�?P� 2/��R/O �@P�N�O�2N/�/�@P��1��2%�>��2#O'0�%0N#>��'O�� 1��2 P�$� 2N�>��2%Q/OO'O/
N2%O�"2$Q�/�2>�/1� �1�O�N/1��?P�%0�20Q�O���%0#2�%2$�N2$ %2$'0N1?$�O�/�2��2% >�2%�2�2#/�1�2A1
�%0�%/�#/2�R�$ �N/��?P2B� �?P #� ^^_^.a// `_a_ '�/1��?P _c   &1"2ค#  `cd`  N%AP1�  �1��O1#
O�/�2��2%���/�O�� 1��2�O1��>P� ( .0. `cd_ – `cdc) �1�1�ค์�%��ค%1�2N/��O1��>P�  �1��?Q     
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 O�/�ำ��ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ล0B��0ำ2�1์ 
 NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P��อ�อ�ค์�1��ค1อ�2N/��Oอ��>P� 

  

  

ค0O��%/# 100 ค0O�� N���์�?Pค/%R�ON AP1Q/ON�>�ค/2#21�ค'O1�O'0�1�Nค'AP1��2% 1��2�O1��>P� 

�1�1�ค์�%��ค%1�2N/��O1��>P� R#Nค/%�O1$�/N2%O1$'0 80 (80 ค0O��) 
 N�O�O���?P� 2/��Q/Oค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� � 2N�>��2%Q/Oค0O���2#

 N���์�?P� 2/��R/O �@P�N�O�2N/�/�@P��1��2%�>��2#O'0�%0N#>��'O�� 1��2 P�$� 2N�>��2%Q/OO'O/N2%O�"2$Q�
 /�2>�/1� �1�O�N/1��?P�%0�20Q�O���%0#2�%2$�N2$ 

 

 O�/�ำ�N�AQอ��O�Q��ำ1QหOค>O��O�/�ำ��ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ล0B��0ำ2�1์ 
 NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P��อ�อ�ค์�1��ค1อ�2N/��Oอ��>P� 

 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1.  �Oอ/Cล2.ำพ
�?P/R�Oล>�Oอ/Cล
พAQ��ำ��อ�อ�ค์�1
��ค1อ�2N/�
�Oอ��>P� 

ค/%�%0�1��O/$�O1#C'�1��?Q 
(1) �O1#C'N�?P$/�1��O2��2$"2  N�N� �?P�1Q��1�/#CN�O2�/�B#��/� 2�' '1�1�0"C#>
�%0N�0 '1�1�0"C#>12�20 '1�1�0�1��>� '1�1�0�1�O/'N��Q 2 '1�1�0�1�R#O/
�N2R#O /'/ �O2��2%N#A1�/�2%��ค%1� N�N� N���2%��ค%1� �2%N'A1��1Q� /'/ 

20 

(3) 

 

 

 

(2) �O1#C'N�?P$/�1��O2��2%N#A1�/�2%��ค%1� N�N� N���2%��ค%1� �2%N'A1��1Q� 
/'/ �%0�2�% N�N� �O1#C'N�?P$/�1�� 2�/��%0�2�% O'0�N/�12$BO'0� 2�/�
�%0�2�% /'/ 

(2)  

(3) �O1#C'N�?P$/�1�2"2 �2�21�ค# N�N� �2%0@�12 22�2%�2B� 12��2�%%# $2N2 
�>� �2%21�ค#2�Nค%20/์ /'/ 

(2)  

(4) �O1#C'N�?P$/�1�%0���%>�2% AQ��2� N�N� �2%ค#�2ค#��2N� �2%R!!O2 �2%
�%0�2 P�%01 �์ /'/ 

(2)  

�1>N�O��ำ1พ>�ำ1�ำ ค>O��N�O/ ค>O���?PR�O 
1.  �O1#C'2"2 �1P/R�O'0�O1#C' AQ��2��1�1�ค์�%��ค%1�2N/��O1��>P� 20  

2.  �2%/>Nค%20/์2"2/�2%�์O'001�$"2  20  

3.  $B��022�%์ �%0�1��O/$ 60  

 3.1  $B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P� (10)  

 3.2  $B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1� (10)  

 3.3  $B��022�%์�1�//1� (10)  

 3.4  />21$�10� ์ (5)  

 3.5  �'$B��์ (5)  

 3.6  N�O2�%02�ค์�1�O�N'0�%0N�O��'$B��์ (5)  

 3.7  �B�$A��2�$B��022�%์ (5)  

 3.8  O���2� (5)  

 3.9  ค/2#N�AP1#P$��1�$B��022�%์Q�"2 %/# (5)  

1//ค>O�� 100  
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�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

1.  �Oอ/Cล2.ำพ�?P/R�
Oล>�Oอ/CลพAQ��ำ�
�อ�อ�ค์�1��ค1อ�
2N/��Oอ��>P� (�N1) 

(5) �O1#C'N�?P$/�1�%0��N0%1��>� N�N� �2%N�1�% �2%�%0#� �2%�0B21�/์ �2%
�%>�2% �2%�N1�N�?P$/ 1B�22/�%%# �2% 2�>�$์/�'BN#12�?  O%��2�  

(2)  

(6) �O1#C'N�?P$/�1�022�2 �%0N �? /1���%%# N�N� �2%�1��A1022�2 �%0N �?
O'0�2��%0� 2�? "C#>�ั��2�O1��>P� "212�>P� 2>�คO2 AQ�N#A1� O'0�1��?P%0'@� 
/'/ O'01AP� N 

(2)  

(7) �O1#C'N�?P$/�1��%1 $2�%�%%#�2�> N�N� �Q 2 �N2R#O "CN�2 คB�"2 �1�
�%1 $2�%�%%#�2�> /'/ 

(2)  

(8) �2%2 2%/�O'0�1�N�O��O1#C'N AP1�2%�1�� 2O�� 1��2�O1��>P� /%A1�2%Q�O
�O1#C' ���. 

(2)  

(9) �2%�%0�B#�%0�2ค#�O1��>P� %C�O�� />�?�2% O'0�2%� 2N�>��2%�%0�B#
�%0�2ค#�O1��>P� P�$Q�O�%0�/��2%%N/#ค>� %N/#� 2 %N/#�1�2>�Q� %N/#�%/�21� 
%N/#%1��%0P$��์ %N/#O�O�ั�/2 �%@�12/2%A1O'�N�'?P$�N%?$�%CO N AP1O�O�ั�/2
2 2/%1��2% 1��2�O1��>P��2#1 2�2�/�O2�?P�1�1�ค์�%��ค%1�2N/��O1��>P� 

(3)  

2.  �ำ1/>Nค1ำ>ห์
2.ำ/�ำ1�์Oล>
0?�0.ำพ 

ค/%�%0�1��O/$�O1#C'�1��?Q 
(1) �2%/>Nค%20/์�?Pค%1�ค'B#ค/2#N�AP1#P$� ค/2#21�ค'O1�$B��022�%์�1�//1� 
$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1� $B��022�%์
�1�1�ค์�%��ค%1�2N/��O1��>P� �P$�2$�1��CO�%>/2%�O1��>P� %/#�@�ค/2#
N�AP1#P$�O��$B��022�%์�2�> 20 �? O�� 1��2N0%1��>�O'021�ค#O/N��2�> O'0 
Thailand 4.0 

20 

(5) 

 

 

(2) �2%/>Nค%20/์�2%Q�O�1�N#A1�%/#/%A1�1�N#A1�N� 20O'0�2%�1�ค1�Q�O �'�1�
�2%�1�ค1�Q�O 2"2 �2%�์�?PN�>��@Q��N1�2% 1��2�O1��>P� 

(3)  

(3) �2%/>Nค%20/์�2�21�ค# N�N� �O2�O%��2� �2%0@�12 22�2%�2B� ค/2#$2��� 
12��2�%%# �ั�/2$2N2 �>� N�คP�P'$? �2%?��%0N �? /1���%%# "C#>�ั��2
�O1��>P� N�O��O� 

(3)  

(4) �2%/>Nค%20/์�2�N0%1��>� �O1#C'�O2�%2$R�Oค%1/N%A1� �2%2N�N2%>#12�?  �'BN#
12�?  �'BN#�2�21�ค# �2% 1��212�? O'0�'BN#�N2�N 2"2 �2�N0%1��>�O'0
ค/2#N�O�1$CN�1P/R� N�O��O� 

(3)  

(5) �2%/>Nค%20/์2>P�O/�'O1#  AQ��?P2?N�?$/ �%%#�2�>�N2� N �2�"C#>022�%์ 
�%0�/��2%/%A12>P��?PN�>��@Q� �2%�%0�>1��์?P#?�'�N12>P�O/�'O1#O'0�2% 1��2 

(3)  

(6) �'�2%/>Nค%20/์01�$"2 N AP1�%0N#>�2�2�"2 �2% 1��2Q��ั��B�1�O'0
P1�22�2% 1��2Q�1�2ค��1��O1��>P� �O/$N�ค�>ค SWOT Analysis �?P12�2N��'
�N1�2%� 2N�>��2�R�OO�N S-Strength (�B�O�O�) W-Weakness (�B�1N1�) O-

Opportunity (P1�22) O'0   T-Threat (1B�2%%ค) 
 

(3)  
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�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

3. 0B��0ำ2�1์ 
3.1 $B��022�%์�1�
1�ค์�%��ค%1�2N/�
�O1��>P� 

 

3.2 $B��022�%์�1�
1�ค์�%��ค%1�2N/�
�O1��>P�Q�N���1�//1� 

3.3 $B��022�%์
�1�//1� 

 

3.4 />21$�10� ์

 

 

 

3.5 �'$B��์ 

 

 

3.6 N�O2�%02�ค์�1�  
O�N'0�%0N�O��'$B��์ 
 

3.7 �B�$A��2�
$B��022�%์ 
(Positioning) 

3.8 O���2� 

 

 

ค/%�%0�1��O/$�O1#C'�1��?Q 
21�ค'O1��1�2"2 21�ค# N0%1��>� 2>P�O/�'O1#�1��O1��>P� �%0N�O��ั�/2�2%
 1��2O'0O�/�2��2% 1��2�?P21�ค'O1��1�$B��022�%์�1�1�ค์�%��ค%1�2N/�
�O1��>P� O'0N�AP1#P$�/'1��%0�2%1� O��$B��022�%์�1��2�> 20 �? O�� 1��2
N0%1��>�O'021�ค#O/N��2�> O'0 Thailand 4.0 

60 

(10) 

 

21�ค'O1�O'0N�AP1#P$��1�2"2 21�ค# N0%1��>� 2>P�O/�'O1#�1��O1��>P� O'0
$B��022�%์�1�//1� O'0N�AP1#P$�/'1��%0�2%1� O��$B��022�%์�1��2�> 20 �? 
O�� 1��2N0%1��>�O'021�ค#O/N��2�> O'0 Thailand 4.0 

(10)  

21�ค'O1��1�O�� 1��2N0%1��>�O'021�ค#O/N��2�> O���2%�%>/2%%2��2%
O�N��>� �P$�2$/$B��022�%์ ค2�. O'0�P$�2$%1��2'/'1��%0�2%1� O��
$B��022�%์�1��2�> 20 �? O'0 Thailand 4.0 

(10)  

/>21$�10�์ �@P�#?'1�1�0O2��2�2�"2 �?P1�ค์�%��ค%1�2N/��O1��>P� �O1��2%�0N�O�
/%A1�%%'B�@�1�2ค�1$N2��1�N�� 21�ค'O1��1�P1�22O'001�$"2 �?PN�O�'1�1�0 
N� 20�1�1�ค์�%��ค%1�2N/��O1��>P� O'021# 1��์�1�Pค%��2% 1��2�O1��>P� 

(5)  

O2��Q/ON/O��N1��2� />�?�2% "2%�>�/%A12>P��?P�O1�� 2�2#1 2�2�/�O2�?P�1�1�ค์�%
��ค%1�2N/��O1��>P��?P�0� 2R�2CN�2%�%%'B/>21$�10�์ /%A1O2��Q/ON/O��@�ค/2#�1�N��
Q�2>P��?P�0� 2N�>��2%Q/O�%%'B/>21$�10�์�1Q� 

(5)  

N�O2�%02�ค์�1�O�N'0�%0N�O��'$B��์#?ค/2#21�ค'O1�O'02�1�2�B��N1�'$B��์�?P
�0N�>��@Q� #BN�/#2$2>P�/�@P�2>P�Q��?P�1�N�� 

(5)  

ค/2##BN�#1P�11�O�N/O�NQ��2%/2�O�� 1��2�O1��>P� N AP1Q/O�%%'B/>21$�10�์�1�
1�ค์�%��ค%1�2N/��O1��>P� �@P�N�>��2�01�$"2 �1� AQ��?P�%>� �?P�0� 2R�2CN�'2 2N%O�
�2�$B��022�%์ 

 

(5) 

 

O���2�/%A1�B�#BN�/#2$N AP1�2% 1��2Q�1�2ค�  � 2/���B�#BN� /#2$Q�N%AP1�Q�
N%AP1�/�@P�/%A1O���2��?PN�>��2�N�O2�%02�ค์ �1/�?Q/1� คN2N�O2/#2$ �'$B��์ �B�$A�
�2�$B��022�%์O'0$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P��?P#?ค/2#�1�N�� 
� 2R�2CN�2%�1�� 2Pค%��2% 1��2�O1��>P�Q�O�� 1��2�O1��>P� P�$%0�BO���2�O'0
ค/2#N�AP1#P$��1��'N2/ 

(5)  

3.9 ค/2#N�AP1#P$�
�1�$B��022�%์Q�
"2 %/# 

 

ค/2#N�AP1#P$�1�ค์%/#�?P� 2R�2CN�2% 1��2�O1��>P��?PN�>��'�'>�/Pค%��2%�2�O��
$B��022�%์�2�> 20 �? O�� 1��2N0%1��>�O'021�ค#O/N��2�> ��1��?P 12 
Thailand 4.0 O�� 1��2"2ค/O�� 1��2�''BN#�1�//1�/O�� 1��2�1�//1� 
$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�O'0$B��022�%์
�1�1�ค์�%��ค%1�2N/��O1��>P� 

 

(5)  

1//ค>O�� 100   
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  2.2 �ำ1�>��ำ/Oล>�1>N/>��ลPค1��ำ1 

Q��2%�1�� 2O�� 1��2�O1��>P� ( .0. `cd_ – `cdc)  �1�1�ค์�%��ค%1�2N/��O1��>P�  �0�O1�#?
 �2%�>��2#O'0�%0N#>��'Pค%��2%�1�1�ค์�%��ค%1�2/��O1��>P�N AP1ค/2#21�ค'O1�O�� 1��2�O1��>P�  �2#
 %0N�?$��%0�%/�#/2�R�$ /N2�O/$�2%�1�� 2O���1�1�ค์�%��ค%1�2N/��O1��>P�  .0. `cb^  O'0�?PO�OR�
 N >P#N�>#�@� (��1��?P  a)   .0. `cd_  P�$ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� �0�O1�
 � 2N�>��2%Q/Oค0O���2#N���์�?P� 2/��R/O  �@P�N�O�2N/�/�@P��1��2%�>��2#O'0�%0N#>��'O�� 1��2  P�$
 � 2N�>��2%Q/OO'O/N2%O�"2$Q�/�2>�/1� �1�O�N/1��?P�%0�20Q�O���%0#2�%2$�N2$  %2$'0N1?$�O�/�2��2%
  >�2%�2�2#/�1�2A1�%0�%/�#/2�R�$ �N/��?P2B�  �?P #� ^^_^.a// `_a_ '�/1��?P _c   &1"2ค#  `cd`  
 N%AP1�  �1��O1#O�/�2��2%���/�O�� 1��2�O1��>P� ( .0. `cd_ – `cdc)  �1�1�ค์�%��ค%1�2N/��O1��>P�  
 �1��?Q     

 O�/�ำ��ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ลPค1��ำ1 

 NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P� (พ.0. `_`_ – `_`_) �อ�อ�ค์�1��ค1อ�2N/��Oอ��>P� 
 

 

�1>N�O��ำ1พ>�ำ1�ำ ค>O��
N�O/ 

ค>O��
�?PR�O 

1.  �2%2%B�2�2��2%�์�2% 1��2 10  

2.  �2%�%0N#>��'�2%� 2O�� 1��2�O1��>P�R���>�1�>Q�N�>��%>#2� 10  

3.  �2%�%0N#>��'�2%� 2O�� 1��2�O1��>P�R���>�1�>Q�N�>�คB�"2  10  

4.  O���2�O'0$B��022�%์�2% 1��2 10  

5.  Pค%��2% 1��2 �%0�1��O/$ 60  

 5.1 ค/2#�1�N���1��AP1Pค%��2% (5)  

 5.2 � 2/��/1��B�%02�ค์21�ค'O1��1�Pค%��2% (5)  

 5.3 N�O2/#2$ (�'�'>��1�Pค%��2%) #?ค/2#�1�N��� 2R�2CN�2%�1Q����%0#2�R�O�C��O1� (5)  

 5.4 Pค%��2%#?ค/2#21�ค'O1��1�O��$B��022�%์�2�> 20 �? (5)  

 5.5 N�O2/#2$ (�'�'>��1�Pค%��2%) #?ค/2#21�ค'O1��1�O�� 1��2N0%1��>�O'021�ค#
O/N��2�> 

(5)  

 5.6 Pค%��2%#?ค/2#21�ค'O1��1� Thailand 4.0  (5)  

 5.7 Pค%��2%21�ค'O1��1�$B��022�%์�1�//1� (5)  

 5.8 Pค%��2%O�OR��ั�/2ค/2#$2���/%A1�2%N2%>#2%O2�Q/O�%0N�0�2�>#1P�ค� #1P�ค1P� $1P�$A� 
"2$Q�O/'1��%0�2%1� 

(5)  

 5.9 ���%0#2� #?ค/2#21�ค'O1��1�N�O2/#2$ (�'�'>��1�Pค%��2%) (5)  

 5.10 #?�2%�%0#2��2%%2ค2�C��O1��2#/'1�/>�?�2%���%0#2� (5)  

 5.11 #?�2%� 2/���1/�?Q/1� (KPI) O'021�ค'O1��1�/1��B�%02�ค์O'0�'�?Pค2�/N2�0R�O%1� (5)  

 5.12 �'�?Pค2�/N2�0R�O%1� 21�ค'O1��1�/1��B�%02�ค์ (5)  

1// 100  
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O�/�ำ�N�AQอ��O�Q��ำ1QหOค>O��O�/�ำ��ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ลPค1��ำ1 
 NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P��อ�อ�ค์�1��ค1อ�2N/��Oอ��>P� 

 

�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

1. 21B�2�ำ��ำ1�์�ำ1
พ?��ำ 

N�O��2%/>Nค%20/์�%1��2%�1�� 2$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P� (Q�O
�2%/>Nค%20/์ SWOT Analysis/Demand (Demand Analysis)/Global 

Demand O'0 Trend �ั��1$O'02�2��2%�์�2% N�'?P$�O�'��?P#?�'�N1�2%
 1��2 1$N2��O1$�O1��%0�1��O/$�2%/>Nค%20/์01�$"2 �O2�N0%1��>� , �O2�
21�ค# , �O2��%1 $2�%�%%#�2�>O'02>P�O/�'O1#) 

10  

2. �ำ1�1>N/>��ล�ำ1� ำ
O��พ?��ำ�Oอ��>P�R�
��>�?�>Q�N�>��1>/ำ� 

1) �2%ค/�คB#�?P#?�2%Q�O�1/N'��N2�N N AP1� 2#2Q�O/1��'Q�N�>��%>#2� N�N� �2%
/1�� 2�/�Pค%��2% �>��%%# �2��N2� N �OคA1�'�'�>�1P�N1�/N2N�O�R��2#�?P�1Q� 
N�O2/#2$N12R/O/%A1R#N � 2�/��?P� 2N�>��2%�%>��2#�?PR�O� 2/��R/ON�N2R/%N � 2�/�
�?PR#N22#2%�� 2N�>��2%R�O#?� 2�/�N�N2R/%N 22#2%�1�>�2$R�O�2#/'1��%02>��> 
"2  (Efficiency) �1��2% 1��2�O1��>P��2#1 2�2�/�O2�?P�?PR�O� 2/��R/O 
2) />Nค%20/์�'�%0��/2>P��?P�%0�� (Impact) Pค%��2%�?P� 2N�>��2%Q�N�>�
�%>#2� (Quantitative) 

10  

3. �ำ1�1>N/>��ล�ำ1� ำ
O��พ?��ำ�Oอ��>P�R�
��>�?�>Q�N�>�คB�.ำพ 

1) �2%�%0N#>��%02>��>�'�1�O�� 1��2Q�N�>�คB�"2  คA1�2%� 2N12N�ค�>ค
�N2� N #2Q�ON AP1/1�/N2"2%�>� Pค%��2% �>��%%# �2��N2�N �?P� 2N�>��2%Q� AQ��?P
�1Q�N �%��N1ค/2#�O1��2%�1��%0�2��/%A1R#NO'0N�O�R��2#1 2�2�/�O2�?P
/%A1R#N �%0�2�� @� 1Q�/%A1R#N 2>P��1� /12�B ค%B"1��์ �2%� 2N�>��2%�N2�N #?
2"2 /%A1'1�1�0�C��O1� ค��� �2/% 22#2%�Q�O�2%R�O�2#/1��B�%02�ค์/%A1R#N 
�@P�N�O�R��2#/'1��%02>��>�' (Effectiveness) �'�2%��>�1�>%2��2%�?P�%%'B
/1��B�%02�ค์O'0N�O2/#2$�1�O���2%��>�1�>%2��2%�2#�?PR�O%1����%0#2�#2
� 2N�>��2% %/#�@�22#2%�N�?$�Nค?$��1�2N/�%2��2%/%A1/�N/$�2� 

2) />Nค%20/์�'�%0��/2>P��?P�%0�� (Impact) Pค%��2%�?P� 2N�>��2%Q�N�>�
คB�"2  (Qualitative) 

10  

4. O���ำ�Oล>
0B��0ำ2�1์�ำ1พ?��ำ 

1) />Nค%20/์O���2� �2� �?PN�>��2��O2��N2�N #?ค/2#21�ค'O1��1�$B��022�%์
�1�1�ค์�%��ค%1�2N/��O1��>P�Q�#>�>�N2�N ��� 2R�2CN�2%�1�� 2Pค%��2% 1��2
�O1��>P�P�$Q�O SWOT Analysis/Demand (Demand Analysis)/Global 

Demand/Trend /%A1/'1��2%�C%�2�2% (Integration) �1�1�ค์�%��ค%1�2N/�
�O1��>P��?P#? AQ��?P�>��N1�1� 

2) />Nค%20/์O���2� �2� �?PN�>��2��O2��N2�N �?P21�ค'O1��1��2%O�OR��ั�/2
ค/2#$2��� /'1��%0�2%1�  
 

10  
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�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

5. Pค1��ำ1พ?��ำ 
5.1 ค/2#�1�N���1�
�AP1Pค%��2% 

ค/%�%0�1��O/$�O1#C'�1��?Q 
N�O�Pค%��2%�?P#?/1��B�%02�ค์2�1��N1O��$B��022�%์�2% 1��2�1�1�ค์�%��ค%1�
2N/��O1��>P�O'0� 2N�>��2%N AP1Q/O�2% 1��2�%%'B�2#/>21$�10�์�1�1�ค์�%��ค%1�
2N/��O1��>P��?P� 2/��R/O �AP1Pค%��2%#?ค/2#�1�N�� #BN�R�N%AP1�Q�N%AP1�/�@P� 1N2�O'O/
N�O2Q�R�O/N2�0 1��210R%Q�1�2ค� 

60 

(5) 

 

5.2 � 2/��/1��B 
�%02�ค์21�ค'O1��1�
Pค%��2% 

#?/1��B�%02�ค์�1�N�� (clear objective) Pค%��2%�O1�� 2/��/1��B �%02�ค์
21�ค'O1��1�ค/2#N�O�#2�1�Pค%��2% 21�ค'O1��1�/'1��2%O'0N/�B�' />�?�2%
� 2N�>��2��O1�21�ค'O1��1�/1��B�%02�ค์ #?ค/2#N�O�R�R�O�1�N�� #?'1�1�0N� 20
N�20�� 

(5)  

5.3 N�O2/#2$ 
(�'�'>��1�Pค%��2%) 
#?ค/2#�1�N��� 2R�2CN
�2%�1Q����%0#2�R�O
�C��O1� 

2"2 �?P1$2�Q/ON�>��@Q�Q�1�2ค�N�O��>0�2��?P�O1�R�Q/O�@�N�O2/#2$�O1��1�N�� 
22#2%�%0�B� 2�/�N�N2R% �'BN#N�O2/#2$คA110R% #?�'�'>�1$N2�R% �'BN#N�O2/#2$ 
 AQ��?P� 2N�>��2� O'0%0$0N/'2� 2N�>��2� 1�>�2$Q/O�1�N��/N2Pค%��2%�?Q�0� 2�?PR/� 
N%>P#�O�Q��N/�N/'2Q�O'0��'�N#AP1R% Qค%คA1�'BN#N�O2/#2$�1�Pค%��2% /2�
�'BN#N�O2/#2$#?/'2$�'BN# Q/O�1��1�'�R�/N2Qค%คA1�'BN#N�O2/#2$/'1� Qค%คA1
�'BN#N�O2/#2$%1� 

(5)  

5.4 Pค%��2%#?ค/2#
21�ค'O1��1�O��
$B��022�%์ 20 �? 

Pค%��2%21�ค'O1��1� (1) ค/2##1P�ค� (2) �2%2%O2�ค/2#22#2%�Q��2%O�N��1� (3) 

�2% 1��2O'0N2%>#2%O2�01�$"2 ค� (4) �2%2%O2�P1�22ค/2#N2#1"2คO'0N�N2
N�?$#�1��2�21�ค# (5) �2%2%O2��2%N�>�P���คB�"2 �?/>��?PN�O�#>�%�N12>P�O/�'O1# 
(6) �2%�%1�2#�B'O'0 1��2%0���2%�%>/2%�1��2%"2ค%1� N AP1Q/ON�>�ค/2##1P�ค� 
#1P�ค1P� $1P�$A� 

(5)  

5.5 N�O2/#2$ 
(�'�'>��1�Pค%��2%) 
#?ค/2#21�ค'O1��1�
O�� 1��2N0%1��>�
O'021�ค#O/N��2�> 
 

 

 

 

 

Pค%��2%#?ค/2#21�ค'O1��1�O�� 1��2N0%1��>�O'021�ค#O/N��2�> ��1��?P 12 P�$ 
(1) $@�/'1��%1��2�1�N0%1��>� 1N ?$� (2) $@�ค�N�O�0C�$์�'2��2% 1��2 (3) $@�
/>21$�10�์"2$Q�O$B��022�%์�2�> 20 �? (4) $@�N�O2/#2$1�2ค��%0N�0R�$ 2579 

(5) $@�/'1��2%� 2R�2CN�2%��>�1�>Q/ON�>��'21#&��>N1$N2��%>��1�Q� 5 �?�?P�N1$1�R�2CN
�'21#&��>N�?PN�O�N�O2/#2$%0$0$2/ "2$Q�OO�/�2��2% 1��2 (1) �2%$�%0�1�
01�$"2 �2%O�N��1�O'0�2%/'B� O��1��1�%2$R�O�2��'2�2CN%2$R�O2C� (2) �2% 1��2
01�$"2 ค��2#�N/�/1$O'0�2%��>%C�%0��N AP12%O2�21�ค#2C�/1$1$N2�#?คB�"2  (3) 

�2%'�ค/2#N/'AP1#'Q 2�2�21�ค# (4) �2%%1�%1��2%N�AP1#P$�"C#>"2คO'0ค/2#N�O�
N#A1� (5) �2%2%O2�ค/2#N�%>�N�>�P��2�N0%1��>�O'021�ค#1$N2�N�O�#>�%�1�
2>P�O/�'O1# (6) �2%�%>/2%%2��2%O�N��>��?P#?�%02>��>"2   

(5)  

5.6 Pค%��2%#?ค/2#
21�ค'O1��1� 
Thailand 4.0 

Pค%��2%#?'1�1�0/%A121�ค'O1��1��2%�%1�N�'?P$�Pค%�2%O2�N0%1��>�R�2CN Value-

Based Economy /%A1N0%1��>��?P�1�Nค'AP1��O/$�/1��%%#� 2�O1$ R�O#2� N�N� (1) 
N�'?P$��2��2%�'>�2>�คO2 P"ค"1��์R�2CN2>�คO2N�>��/1��%%# (2) N�'?P$��2��2%�1� 
Nค'AP1��%0N�0�O/$"2ค1B�22/�%%# R�2CN�2%�1�Nค'AP1��O/$N�คP�P'$? ค/2#ค>�
2%O2�2%%ค์O'0�/1��%%# (3) N�'?P$��2��2%N�O�"2ค�2%�'>�2>�คO2 R�2CN�2%N�O�"2ค
�%>�2%#2��@Q� %/#�@�Pค%��2%�?PN�>#N�O#�O/$/>�$2�2% ค/2#ค>�2%O2�2%%ค์ �/1��%%# 
/>�$2022�%์ N�คP�P'$? O'0�2%/>�1$O'0 1��2O'O/�N1$1�ค/2#R�O N�%?$�N�>�
N�%?$�N�?$� N�N� �O2�N�1�%N�คP�P'$?�?/"2  22�2%�2B� /1���%%# /'/ 

 

(5) 
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5.11 #?�2%� 2/���1/�?Q/1� 
(KPI) O'021�ค'O1��1�
/1��B�%02�ค์O'0�'�?Pค2�
/N2�0R�O%1� 

#?�2%� 2/���1��?�?Q/1��'�2� (Key Performance Indicator : KPI) �?P
22#2%�/1�R�O (measurable) Q�O�1��%02>��>�' (effectiveness) Q�O�1�
�%02>��>"2  (efficiency) R�O N�N� �2%� 2/��ค/2# @� 1Q� �2%� 2/��
%O1$'0 �2%� 2/��11�N�>��2��'�1�/1��B�%02�ค์�?PN�>��?P2>P��?PR�O%1� (�2%
ค2��2%�์ ค2�/N2�0R�O%1�) 
 

 

(5) 

 

5.12 �'�?Pค2�/N2�0R�O%1�
21�ค'O1��1�/1��B�%02�ค์ 

�'�?PR�O%1�N�O�2>P��?PN�>��@Q�R�O�%>��2��2%� 2N�>��2%�2#Pค%��2% 1��2 �@P�
21�ค'O1��1�/1��B�%02�ค์�?P�1Q�R/O �2%R�O�'/%A1�'�?PN�>��@Q��0�O1�N�N2�1�
/1��B�%02�ค์/%A1#2��/N2/1�B�%02�ค์�@P��2%N�?$�/1��B�%02�ค์ค/%ค 2�@��@� 
(1) #?ค/2#N�O�R�R�OO'0#?ค/2#N� 20N�20�� Q��2%� 2N�>��2��2#
Pค%��2% (2) /1�O'0�%0N#>��'%0�1��1�ค/2#2 2N%O�R�O (3) %0�B2>P��?P
�O1��2%� 2N�>��2�1$N2��1�N��O'0N� 20N�20��#2��?P2B�O'022#2%�
��>�1�>R�O (4) N�O�N/�BN�O��' 21�ค'O1��1�ค/2#N�O��%>� (5) 2N��'�N1�2%�N�
�1�N/'2R�O 
 

 

(5) 

 

1//ค>O�� 100  

 

 

 

 

�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์ ค>O��N�O/ 
ค>O��   
�?PR�O 

5.7 Pค%��2%21�ค'O1��1�
$B��022�%์�1�//1� 

Pค%��2% 1��2�O1��>P�#?ค/2#21�ค'O1��1�/O/$%0$0N/'2�1�O�� 1��2
�1�//1��?PR�O� 2/���@Q� N AP1�1�Nค'AP1��2% 1��2�O1��>P�N2#A1�/�@P��2%
�1�Nค'AP1��2% 1��2�1�//1� �@P�R#N22#2%�O$�2N/�Q�2N/�/�@P�11��2��1�R�O 
�1��2��?QPค%��2% 1��2�O1��>P��O1�N�O�Pค%��2%N�AP1#P$��N1/%A1N�>��2�
R��O/$�1��1�$B��022�%์�1�//1��?PR�O� 2/���@Q��?PN�O��ั��B�1� 

(5) 

 

 

 

 

5.8 Pค%��2%O�OR��ั�/2
ค/2#$2���/%A1�2%
N2%>#2%O2�Q/O�%0N�0 �2�>
#1P�ค� #1P�ค1P� $1P�$A� "2$Q�O
/'1��%0�2%1� 

N�O�Pค%��2%�?P� 2N�>��2%"2$Q�O AQ��2�ค/2# 1N ?$��?P�%0�2��� 2N�>��2%
N1�/%A1%N/#� 2N�>��2% N�O�Pค%��2%�N1$1�O'0�$2$R�O N�O�Pค%��2%�?P
�%0�2���O1��2%N AP1Q/ON�>�ค/2#$1P�$A� �@P�#?'1�1�0�?P�0Q/O�O1��>P�#?ค/2#
#1P�ค� #1P�ค1P� $1P�$A� N�O��O1��>P��?P 1��2O'O/ �O/$�2% 1��2�2#�%1��2
N0%1��>� 1N ?$�  

(5)  

5.9 ���%0#2�#?ค/2#
21�ค'O1��1�N�O2/#2$ 
(�'�'>��1�Pค%��2%) 

���%0#2�Pค%��2% 1��2�0�O1�ค 2�@��@�/'1�2 2ค1� 5 �%0�2%Q��2%
�1�� 2Pค%��2%R�OO�N (1) ค/2#�%0/$1� (Economy) (2) ค/2##?
�%02>��>"2  (Efficiency) (3) ค/2##?�%02>��>�' (Effectiveness) (4) 

ค/2#N/'AP1#'Q 2Q��2% 1��2�O1��>P� � 2R�2CNค/2#$B�>�%%# (Equity) (5) 

ค/2#P�%N�Q2 (Transparency) 

(5)  

5.10 #?�2%�%0#2��2%
%2ค2�C��O1��2#/'1�
/>�?�2%���%0#2� 

�2%�%0#2��2%%2ค2N AP1�2% 1��2�O1�Q/O21�ค'O1��1�Pค%��2% �C��O1�
�2#/'1�/>�2�2%�2��N2� /'1��1�%2ค2�'2� %2ค2�'2��O1��>P� #?ค/2#P�%N�
Q�Q��2%� 2/��%2ค2O'0�%/�21�R�OQ�N�>��%0�1�1์  

(5)  
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�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์ ค>O��N�O/ ค>O��   
�?PR�O 

5. Pค1��ำ1พ?��ำ (�N1) 
5.11 #?�2%� 2/���1/�?Q/1� 
(KPI) O'021�ค'O1��1�
/1��B�%02�ค์O'0�'�?Pค2�
/N2�0R�O%1� 

 

#?�2%� 2/���1��?�?Q/1��'�2� (Key Performance Indicator : KPI) �?P
22#2%�/1�R�O (measurable) Q�O�1��%02>��>�' (effectiveness) Q�O�1�
�%02>��>"2  (efficiency) R�O N�N� �2%� 2/��ค/2# @� 1Q� �2%� 2/��
%O1$'0 �2%� 2/��11�N�>��2��'�1�/1��B�%02�ค์�?PN�>��?P2>P��?PR�O%1� (�2%
ค2��2%�์ ค2�/N2�0R�O%1�) 

 

(5) 

 

5. Pค1��ำ1พ?��ำ (�N1) 
5.12 �'�?Pค2�/N2�0R�O%1�
21�ค'O1��1�/1��B�%02�ค์ 

 

�'�?PR�O%1�N�O�2>P��?PN�>��@Q�R�O�%>��2��2%� 2N�>��2%�2#Pค%��2% 1��2 �@P�
21�ค'O1��1�/1��B�%02�ค์�?P�1Q�R/O �2%R�O�'/%A1�'�?PN�>��@Q��0�O1�N�N2�1�
/1��B�%02�ค์/%A1#2��/N2/1�B�%02�ค์�@P��2%N�?$�/1��B�%02�ค์ค/%ค 2�@��@� 
(1) #?ค/2#N�O�R�R�OO'0#?ค/2#N� 20N�20�� Q��2%� 2N�>��2��2#
Pค%��2% (2) /1�O'0�%0N#>��'%0�1��1�ค/2#2 2N%O�R�O (3) %0�B2>P��?P
�O1��2%� 2N�>��2�1$N2��1�N��O'0N� 20N�20��#2��?P2B�O'022#2%�
��>�1�>R�O (4) N�O�N/�BN�O��' 21�ค'O1��1�ค/2#N�O��%>� (5) 2N��'�N1�2%�N�
�1�N/'2R�O 

 

(5) 

 

1//ค>O�� 100  
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    2N/��?P 3 

        �ล�ำ1/>Nค1ำ>ห์�ำ1�>��ำ/Oล>�1>N/>��ล 

 

 1. �ล�ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ล0B��0ำ2�1์NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P� 

   1.1 21B�ค>O���1>N/>��ล0B��0ำ2�1์ 
   ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� � 2�/� 10 ค� � 2N�>��2%Q/Oค0O���2#

N���์�?P� 2/��R/O �@P�N�O�2N/�/�@P��1��2%�>��2#O'0�%0N#>��'O�� 1��2  �'�2%Q/Oค0O��$B��022�%์        

N�O��1��?Q 
    

�1>N�O��ำ1พ>�ำ1�ำ ค>O��
N�O/ 

ค>O�� 

�?PR�O 
1Oอ0ล>�อ�
ค>O��N�O/ 

1.  �O1#C'2"2 �1P/R�O'0�O1#C' AQ��2��1�1�ค์�%��ค%1�2N/��O1��>P� 20 17.64 88.20 

2.  �2%/>Nค%20/์2"2/�2%�์O'001�$"2  20 17.18 85.90 

3.  $B��022�%์ �%0�1��O/$ 60 50.64 84.40 

 3.1  $B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P� (10) 8.55  

 3.2  $B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1� (10) 8.45  

 3.3  $B��022�%์�1�//1� (10) 8.55  

 3.4  />21$�10� ์ (5) 4.18  

 3.5  �'$B��์ (5) 4.27  

 3.6  N�O2�%02�ค์�1�O�N'0�%0N�O��'$B��์ (5) 4.09  

 3.7  �B�$A��2�$B��022�%์ (5) 4.18  

 3.8  O���2� (5) 4.27  

 3.9  ค/2#N�AP1#P$��1�$B��022�%์Q�"2 %/# (5) 4.09  

1//ค>O�� 100 85.45 85.45 

 

  1)  �/N2�%0N�O��?P 1 �O1#C'2"2 �1P/R�O'0�O1#C' AQ��2��1�1�ค์�%��ค%1�2N/��O1��>P� R�Oค0O��
 2C�2B� 17.64 ค0O�� ค>�N�O�%O1$'0 88.20 �1�ค0O��Q�"2 %/#�1Q�/#� 

  2)  �/N2�%0N�O��?P 3 $B��022�%์ R�Oค0O���P 22B� 50.64 ค0O�� ค>�N�O�%O1$'0 84.40 �1�
 ค0O��Q�"2 %/#�1Q�/#�    

  �1Q��?Q �2%� 2/��$B��022�%์�1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1� #?�2%� 2�O1#C'2"2 �1P/R� O'0 

 �O1#C' AQ��2� � 2#2/>Nค%20/์2"2/�2%�์O'001�$"2 Q��2% 1��2O'0O�OR��ั�/2ค/2#�O1��2%�1�
 �%0�2��Q� AQ��?P �@P�ค%1�ค'B#Q��2%Q�ON�O��O1#C'Q��2%� 2/��$B��022�%์�1�1�ค์�2%�%>/2%2N/�� 2�'       
 /�1��1� N AP1� 2R�2CN�2%�1�� 2Pค%��2%N AP1 1��2�O1��>P�Q�O�� 1��2�O1��>P� ( .0. 2561-2565)          

1$N2��C��O1�ค%��O/� 
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  1.2 �Oอ/Cล2.ำพ�?P/R�Oล>�Oอ/CลพAQ��ำ� 
 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

1.  �Oอ/Cล2.ำพ
�?P/R�Oล>�Oอ/Cล
พAQ��ำ��อ�
อ�ค์�1��ค1อ�
2N/��Oอ��>P� 

ค/%�%0�1��O/$�O1#C'�1��?Q 
(1) �O1#C'N�?P$/�1��O2��2$"2  N�N� �?P�1Q��1�/#CN�O2�/�B#��/
� 2�' '1�1�0"C#>�%0N�0 '1�1�0"C#>12�20 '1�1�0�1��>� 
'1�1�0�1�O/'N��Q 2 '1�1�0�1�R#O/�N2R#O /'/ �O2��2% N#A1�/
�2%��ค%1� N�N� N���2%��ค%1� �2%N'A1��1Q� /'/ 

20 

(3) 

 

 

 

2.64 

 

 

 

88.00 

(2) �O1#C'N�?P$/�1��O2��2%N#A1�/�2%��ค%1� N�N� N���2%
��ค%1� �2%N'A1��1Q� /'/ �%0�2�% N�N� �O1#C'N�?P$/�1�� 2�/�
�%0�2�% O'0�N/�12$BO'0� 2�/��%0�2�% /'/ 

(2) 1.82 91.00 

(3) �O1#C'N�?P$/�1�2"2 �2�21�ค# N�N� �2%0@�12 22�2%�2B� 
12��2�%%# $2N2 �>� �2%21�ค#2�Nค%20/์ /'/ 

(2) 1.64 82.00 

(4) �O1#C'N�?P$/�1�%0���%>�2% AQ��2� N�N� �2%ค#�2ค#��2N� 
�2%R!!O2 �2%�%0�2 P�%01 � ์/'/ 

(2) 1.73 86.50 

(5) �O1#C'N�?P$/�1�%0��N0%1��>� N�N� �2%N�1�% �2%�%0#� 
�2%�0B21�/์ �2%�%>�2% �2%�N1�N�?P$/ 1B�22/�%%# �2% 2�>�$์/
�'BN#12�?  O%��2�  

(2) 1.82 91.00 

(6) �O1#C'N�?P$/�1�022�2 �%0N �? /1���%%# N�N� �2%�1��A1
022�2 �%0N �?O'0�2��%0� 2�? "C#>�ั��2�O1��>P� "212�>P� 
2>�คO2 AQ�N#A1� O'0�1��?P%0'@� /'/ O'01AP� N 

(2) 1.82 91.00 

(7) �O1#C'N�?P$/�1��%1 $2�%�%%#�2�> N�N� �Q 2 �N2R#O "CN�2 
คB�"2 �1��%1 $2�%�%%#�2�> /'/ 

(2) 1.82 91.00 

(8) �2%2 2%/�O'0�1�N�O��O1#C'N AP1�2%�1�� 2O�� 1��2�O1��>P� 
/%A1�2%Q�O�O1#C' ���. 

(2) 1.82 91.00 

(9) �2%�%0�B#�%0�2ค#�O1��>P� %C�O�� />�?�2% O'0�2%
� 2N�>��2%�%0�B#�%0�2ค#�O1��>P� P�$Q�O�%0�/��2%%N/#ค>� 
%N/#� 2 %N/#�1�2>�Q� %N/#�%/�21� %N/#%1��%0P$��์ %N/#
O�O�ั�/2 �%@�12/2%A1O'�N�'?P$�N%?$�%CO N AP1O�O�ั�/22 2/%1�
�2% 1��2�O1��>P��2#1 2�2�/�O2�?P�1�1�ค์�%��ค%1�2N/�
�O1��>P� 

 

(3) 2.55 85.00 

1//ค>O�� 20 17.64 88.20 
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  1.3 �ำ1/>Nค1ำ>ห์2.ำ/�ำ1�์Oล>0?�0.ำพ 
 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

2.  �ำ1/>Nค1ำ>ห์
2.ำ/�ำ1�์Oล>
0?�0.ำพ 

ค/%�%0�1��O/$�O1#C'�1��?Q 
(1) �2%/>Nค%20/์�?Pค%1�ค'B#ค/2#N�AP1#P$� ค/2#21�ค'O1�
$B��022�%์�1�//1� $B��022�%์�2% 1��2�1�1�ค์�%��ค%1�
2N/��O1��>P�Q�N���1�//1� $B��022�%์�1�1�ค์�%��ค%1�2N/�
�O1��>P� �P$�2$�1��CO�%>/2%�O1��>P� %/#�@�ค/2#N�AP1#P$�O��
$B��022�%์�2�> 20 �? O��  1��2N0%1��>�O'021�ค#O/N��2�> 
O'0 Thailand 4.0 

20 

(5) 

 

 

 

 

4.09 

 

81.80 

(2) �2%/>Nค%20/์�2%Q�O�1�N#A1�%/#/%A1�1�N#A1�N� 20O'0�2%
�1�ค1�Q�O �'�1��2%�1�ค1�Q�O 2"2 �2%�์�?PN�>��@Q��N1�2% 1��2
�O1��>P� 

(3) 2.64 88.00 

(3) �2%/>Nค%20/์�2�21�ค# N�N� �O2�O%��2� �2%0@�12 
22�2%�2B� ค/2#$2��� 12��2�%%# �ั�/2$2N2 �>� 
N�คP�P'$? �2%?��%0N �? /1���%%# "C#>�ั��2�O1��>P� N�O��O� 

(3) 2.64 88.00 

(4) �2%/>Nค%20/์�2�N0%1��>� �O1#C'�O2�%2$R�Oค%1/N%A1� �2%
2N�N2%>#12�?  �'BN#12�?  �'BN#�2�21�ค# �2% 1��212�? O'0
�'BN#�N2�N 2"2 �2�N0%1��>�O'0ค/2#N�O�1$CN�1P/R� N�O��O� 

(3) 2.55 86.00 

(5) �2%/>Nค%20/์2>P�O/�'O1#  AQ��?P2?N�?$/ �%%#�2�>�N2� N �2�
"C#>022�%์ �%0�/��2%/%A12>P��?PN�>��@Q� �2%�%0�>1�์�?P#?�'�N1
2>P�O/�'O1#O'0�2% 1��2 

(3) 2.64 88.00 

(6) �'�2%/>Nค%20/์01�$"2 N AP1�%0N#>�2�2�"2 �2% 1��2
Q��ั��B�1�O'0P1�22�2% 1��2Q�1�2ค��1��O1��>P� �O/$
N�ค�>ค SWOT Analysis �?P12�2N��'�N1�2%� 2N�>��2�R�OO�N S-

Strength (�B�O�O�) W-Weakness (�B�1N1�) O-Opportunity 

(P1�22) O'0   T-Threat (1B�2%%ค) 

(3) 2.64 88.00 

1//ค>O�� 20 17.18 85.90 

 

  1.4 0B��0ำ2�1์ 

�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

3. 0B��0ำ2�1์ 
3.1 $B��022�%์�1�
1�ค์�%��ค%1�2N/�
�O1��>P� 

 

 

ค/%�%0�1��O/$�O1#C'�1��?Q 
21�ค'O1��1�2"2 21�ค# N0%1��>� 2>P�O/�'O1#�1��O1��>P� 
�%0N�O��ั�/2�2% 1��2O'0O�/�2��2% 1��2�?P21�ค'O1��1�
$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P� O'0N�AP1#P$�/'1�
�%0�2%1� O��$B��022�%์�1��2�> 20 �? O�� 1��2N0%1��>�
O'021�ค#O/N��2�> O'0 Thailand 4.0 

60 

(10) 

 

8.55 

 

85.50 
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  1.4 0B��0ำ2�1์ (�Nอ) 
    

�1>N�O��ำ1พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์
ค>O��

N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

3.2 $B��022�%์�1�
1�ค์�%��ค%1�2N/�
�O1��>P�Q�N���1�//1� 

 

3.3 $B��022�%์
�1�//1� 

 

 

3.4 />21$�10� ์

 

 

 
 

3.5 �'$B��์ 

 

 

 

3.6 N�O2�%02�ค์�1�  
O�N'0�%0N�O��'$B��์ 

 
 

3.7 �B�$A��2�
$B��022�%์ 
(Positioning) 
 

3.8 O���2� 

 

 

 

 

 

3.9 ค/2#N�AP1#P$�
�1�$B��022�%์Q�
"2 %/# 

 

 

 

21�ค'O1�O'0N�AP1#P$��1�2"2 21�ค# N0%1��>� 2>P�O/�'O1#�1�
�O1��>P� O'0$B��022�%์�1�//1� O'0N�AP1#P$�/'1��%0�2%1� O��
$B��022�%์�1��2�> 20 �? O�� 1��2N0%1��>�O'021�ค#O/N��2�> 
O'0 Thailand 4.0 

(10) 8.45 84.50 

21�ค'O1��1�O�� 1��2N0%1��>�O'021�ค#O/N��2�> O���2%
�%>/2%%2��2%O�N��>� �P$�2$/$B��022�%์ ค2�. O'0�P$�2$
%1��2'/'1��%0�2%1� O��$B��022�%์�1��2�> 20 �? O'0 
Thailand 4.0 

(10) 8.55 85.50 

/>21$�10�์ �@P�#?'1�1�0O2��2�2�"2 �?P1�ค์�%��ค%1�2N/�
�O1��>P� �O1��2%�0N�O�/%A1�%%'B�@�1�2ค�1$N2��1�N�� 21�ค'O1�
�1�P1�22O'001�$"2 �?PN�O�'1�1�0N� 20�1�1�ค์�%��ค%1�
2N/��O1��>P� O'021# 1��์�1�Pค%��2% 1��2�O1��>P� 

(5) 4.18 81.60 

O2��Q/ON/O��N1��2� />�?�2% "2%�>�/%A12>P��?P�O1�� 2�2#1 2�2�
/�O2�?P�1�1�ค์�%��ค%1�2N/��O1��>P��?P�0� 2R�2CN�2%�%%'B
/>21$�10�์ /%A1O2��Q/ON/O��@�ค/2#�1�N��Q�2>P��?P�0� 2N�>��2%Q/O
�%%'B/>21$�10�์�1Q� 

(5) 4.27 85.40 

N�O2�%02�ค์�1�O�N'0�%0N�O��'$B��์#?ค/2#21�ค'O1�O'0
2�1�2�B��N1�'$B��์�?P�0N�>��@Q� #BN�/#2$2>P�/�@P�2>P�Q��?P�1�N�� 

 

(5) 4.09 81.80 

ค/2##BN�#1P�11�O�N/O�NQ��2%/2�O�� 1��2�O1��>P� N AP1Q/O�%%'B
/>21$�10�์�1�1�ค์�%��ค%1�2N/��O1��>P� �@P�N�>��2�01�$"2 �1�
 AQ��?P�%>� �?P�0� 2R�2CN�'2 2N%O��2�$B��022�%์ 

(5) 4.18 83.60 

O���2�/%A1�B�#BN�/#2$N AP1�2% 1��2Q�1�2ค�  � 2/���B�#BN� 
/#2$Q�N%AP1�Q�N%AP1�/�@P�/%A1O���2��?PN�>��2�N�O2 �%02�ค์ 
�1/�?Q/1� คN2N�O2/#2$ �'$B��์ �B�$A��2�$B��022�%์O'0$B��022�%์
�1�1�ค์�%��ค%1�2N/��O1��>P��?P#?ค/2#�1�N�� � 2R�2CN�2%�1�� 2
Pค%��2% 1��2�O1��>P�Q�O�� 1��2�O1��>P� P�$%0�BO���2�O'0
ค/2#N�AP1#P$��1��'N2/ 

(5) 4.27 85.40 

ค/2#N�AP1#P$�1�ค์%/#�?P� 2R�2CN�2% 1��2�O1��>P��?PN�>��'�'>�/
Pค%��2%�2�O��$B��022�%์�2�> 20 �? O�� 1��2N0%1��>�O'0
21�ค#O/N��2�> ��1��?P 12 Thailand 4.0 O�� 1��2"2ค/
O�� 1��2�''BN#�1�//1�/O�� 1��2�1�//1� $B��022�%์�2% 1��2
�1�1�ค์�%��ค%1�2N/��O1��>P�Q�N���1�//1�O'0$B��022�%์�1�
1�ค์�%��ค%1�2N/��O1��>P� 

(5) 4.09 81.80 

1//ค>O�� 60 60 50.64 84.40 
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  2. �ล�ำ1พ>�ำ1�ำ�ำ1�>��ำ/Oล>�1>N/>��ลPค1��ำ1NพAPอค/ำ/2อ�คลOอ�O��พ?��ำ�Oอ��>P� 

   2.1 21B�ค>O���1>N/>��ลPค1��ำ1 
   ค�0�%%#�2%�>��2#O'0�%0N#>��'O�� 1��2�O1��>P� � 2�/� 10 ค� � 2N�>��2%Q/Oค0O���2#N���์
 �?P� 2/��R/O �@P�N�O�2N/�/�@P��1��2%�>��2#O'0�%0N#>��'O�� 1��2 �'�2%Q/Oค0O��Pค%��2% N�O��1��?Q 

 

�1>N�O��ำ1พ>�ำ1�ำ ค>O��N�O/ ค>O��
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

1.  �2%2%B�2�2��2%�์�2% 1��2 10 8.27 82.70 

2.  �2%�%0N#>��'�2%� 2O�� 1��2�O1��>P�R���>�1�>Q�N�>��%>#2� 10 8.45 84.50 

3.  �2%�%0N#>��'�2%� 2O�� 1��2�O1��>P�R���>�1�>Q�N�>�คB�"2  10 8.27 82.70 

4.  O���2�O'0$B��022�%์�2% 1��2 10 8.36 83.60 

5.  Pค%��2% 1��2 �%0�1��O/$ 60 47.36 78.93 

 5.1 ค/2#�1�N���1��AP1Pค%��2% (5) 3.82  

 5.2 � 2/��/1��B�%02�ค์21�ค'O1��1�Pค%��2% (5) 3.91  

 5.3 N�O2/#2$ (�'�'>��1�Pค%��2%) #?ค/2#�1�N��� 2R�2CN�2%�1Q�
���%0#2�R�O�C��O1� 

(5) 3.73  

 5.4 Pค%��2%#?ค/2#21�ค'O1��1�O��$B��022�%์�2�> 20 �? (5) 4.09  

 5.5 N�O2/#2$ (�'�'>��1�Pค%��2%) #?ค/2#21�ค'O1��1�O�� 1��2
N0%1��>�O'021�ค#O/N��2�> 

(5) 4.27  

 5.6 Pค%��2%#?ค/2#21�ค'O1��1� Thailand 4.0  (5) 3.82  

 5.7 Pค%��2%21�ค'O1��1�$B��022�%์�1�//1� (5) 4.36  

 5.8 Pค%��2%O�OR��ั�/2ค/2#$2���/%A1�2%N2%>#2%O2�Q/O
�%0N�0�2�>#1P�ค� #1P�ค1P� $1P�$A� "2$Q�O/'1��%0�2%1� 

(5) 4.09  

 5.9 ���%0#2� #?ค/2#21�ค'O1��1�N�O2/#2$ (�'�'>��1�Pค%��2%) (5) 3.64  

 5.10 #?�2%�%0#2��2%%2ค2�C��O1��2#/'1�/>�?�2%���%0#2� (5) 3.73  

 5.11 #?�2%� 2/���1/�?Q/1� (KPI) O'021�ค'O1��1�/1��B�%02�ค์O'0�'
�?Pค2�/N2�0R�O%1� 

(5) 3.73  

 5.12 �'�?Pค2�/N2�0R�O%1� 21�ค'O1��1�/1��B�%02�ค์ (5) 4.18  

1// 100 80.73 80.73 

         

   1)  �/N2�%0N�O��?P 3 �2%�%0N#>��'�2%� 2O�� 1��2�O1��>P�R���>�1�>Q�N�>��%>#2� R�Oค0O��
2C�2B� 8.45 ค0O�� ค>�N�O�%O1$'0 84.50 �1�ค0O��Q�"2 %/#�1Q�/#� O'0%1�'�คA1 �%0N�O��?P 4 O���2�O'0
$B��022�%์�2% 1��2 R�Oค0O�� 8.36 ค>�N�O�%O1$'0 83.60 �1�ค0O��Q�"2 %/#�1Q�/#� 

   2)  �/N2�%0N�O��?P 5 Pค%��2% 1��2 R�Oค0O���P 22B� 47.36 ค0O�� ค>�N�O�%O1$'0 

78.93 �1�ค0O��Q�"2 %/#�1Q�/#� N�AP1��2�ค/2#�1�N���1��AP1Pค%��2% O'0N�O2/#2$ (�'�'>��1�Pค%��2%) $1�
R#N#?ค/2#�1�N���?P� 2R�2CN�2%�1Q����%0#2��?P�C��O1��2#/'1�/>�?�2%���%0#2� �@�� 2Q/O���%0#2�$1�R#N21�ค'O1��1�
N�O2/#2$ (�'�'>��1�Pค%��2%)  
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  2.2 �ำ121B�2�ำ��ำ1�์�ำ1พ?��ำ 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

1. 21B�2�ำ� 
�ำ1�์�ำ1
พ?��ำ 

N�O��2%/>Nค%20/์�%1��2%�1�� 2$B��022�%์�1�1�ค์�%��ค%1�
2N/��O1��>P� (Q�O�2%/>Nค%20/์ SWOT Analysis/Demand 

(Demand Analysis)/Global Demand O'0 Trend �ั��1$O'0
2�2��2%�์�2% N�'?P$�O�'��?P#?�'�N1�2% 1��2 1$N2��O1$�O1�
�%0�1��O/$�2%/>Nค%20/์01�$"2 �O2�N0%1��>� , �O2�21�ค# , 
�O2��%1 $2�%�%%#�2�>O'02>P�O/�'O1#) 

10 8.27 82.70 

1//ค>O�� 10 8.27 82.70 
 

  2.3 �ำ1�1>N/>��ล�ำ1� ำO��พ?��ำ�Oอ��>P�R���>�?�>Q�N�>��1>/ำ� 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

2. �ำ1�1>N/>� 
�ล�ำ1� ำO�� 
พ?��ำ�Oอ��>P�R�
��>�?�>Q�N�>�
�1>/ำ� 

1) �2%ค/�คB#�?P#?�2%Q�O�1/N'��N2�N N AP1� 2#2Q�O/1��'Q�N�>�
�%>#2� N�N� �2%/1�� 2�/�Pค%��2% �>��%%#�2��N2�N �OคA1�'
�'�>�1P�N1�/N2N�O�R��2#�?P�1Q�N�O2/#2$N12R/O/%A1R#N � 2�/��?P
� 2N�>��2%�%>��2#�?PR�O� 2/��R/ON�N2R/%N � 2�/��?PR#N22#2%�
� 2N�>��2%R�O#?� 2�/�N�N2R/%N 22#2%�1�>�2$R�O�2#/'1�
�%02>��>"2  (Efficiency) �1��2% 1��2�O1��>P��2#1 2�2�
/�O2�?P�?PR�O� 2/��R/O 
2) />Nค%20/์�'�%0��/2>P��?P�%0�� (Impact) Pค%��2%�?P
� 2N�>��2%Q�N�>��%>#2� (Quantitative) 

10 8.45 84.50 

1//ค>O�� 10 8.45 84.50 
 

  2.4 �ำ1�1>N/>��ล�ำ1� ำO��พ?��ำ�Oอ��>P�R���>�?�>Q�N�>�คB�.ำพ 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

3. �ำ1�1>N/>� 
�ล�ำ1� ำO�� 
พ?��ำ�Oอ��>P�R�
��>�?�>Q�N�>�
คB�.ำพ 

1) �2%�%0N#>��%02>��>�'�1�O�� 1��2Q�N�>�คB�"2  คA1�2%
� 2N12N�ค�>ค�N2� N #2Q�ON AP1/1�/N2"2%�>� Pค%��2% �>��%%# �2�
�N2�N �?P� 2N�>��2%Q� AQ��?P�1Q�N �%��N1ค/2#�O1��2%�1��%0�2��
/%A1R#NO'0N�O�R��2#1 2�2�/�O2�?P/%A1R#N �%0�2�� @� 1Q�
/%A1R#N 2>P��1� /12�B ค%B"1��์ �2%� 2N�>��2%�N2�N #?2"2 /%A1
'1�1�0�C��O1� ค��� �2/% 22#2%�Q�O�2%R�O�2#/1��B�%02�ค์
/%A1R#N �@P�N�O�R��2#/'1��%02>��>�' (Effectiveness) �'�2%
��>�1�>%2��2%�?P�%%'B/1��B�%02�ค์O'0N�O2/#2$�1�O���2%
��>�1�>%2��2%�2#�?PR�O%1����%0#2�#2� 2N�>��2% %/#�@�
22#2%�N�?$�Nค?$��1�2N/�%2��2%/%A1/�N/$�2� 

2) />Nค%20/์�'�%0��/2>P��?P�%0�� (Impact) Pค%��2%�?P
� 2N�>��2%Q�N�>�คB�"2  (Qualitative) 

10 8.27 82.70 

1//ค>O�� 10 8.27 82.70 
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   2.5 O���ำ�Oล>0B��0ำ2�1์�ำ1พ?��ำ 
 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

4. O���ำ�Oล>
0B��0ำ2�1์�ำ1
พ?��ำ 

1) />Nค%20/์O���2� �2� �?PN�>��2��O2��N2�N #?ค/2#21�ค'O1��1�
$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P�Q�#>�>�N2�N ��� 2R�2CN�2%
�1�� 2Pค%��2% 1��2�O1��>P�P�$Q�O SWOT Analysis/Demand 

(Demand Analysis)/Global Demand/Trend /%A1/'1��2%�C%�2
�2% (Integration) �1�1�ค์�%��ค%1�2N/��O1��>P��?P#? AQ��?P�>��N1�1� 

2) />Nค%20/์O���2� �2� �?PN�>��2��O2��N2�N �?P21�ค'O1��1��2%
O�OR��ั�/2ค/2#$2��� /'1�         �%0�2%1�  

10 8.36 83.60 

1//ค>O�� 10 8.36 83.60 

 

 

�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

5. Pค1��ำ1พ?��ำ 
5.1 ค/2#�1�N��
�1��AP1Pค%��2% 

ค/%�%0�1��O/$�O1#C'�1��?Q 
N�O�Pค%��2%�?P#?/1��B�%02�ค์2�1��N1O��$B��022�%์�2% 1��2�1�
1�ค์�%��ค%1�2N/��O1��>P�O'0� 2N�>��2%N AP1Q/O�2% 1��2�%%'B�2#
/>21$�10�์�1�1�ค์�%��ค%1�2N/��O1��>P��?P� 2/��R/O �AP1Pค%��2%#?
ค/2#�1�N�� #BN�R�N%AP1�Q�N%AP1�/�@P� 1N2�O'O/N�O2Q�R�O/N2�0 1��210R%
Q�1�2ค� 

60 

(5) 

 

3.82 

 

76.40 

5.2 � 2/��/1��B 
�%02�ค์21�ค'O1�
�1�Pค%��2% 

#?/1��B�%02�ค์�1�N�� (clear objective) Pค%��2%�O1�� 2/��/1��B 
�%02�ค์21�ค'O1��1�ค/2#N�O�#2�1�Pค%��2% 21�ค'O1��1�/'1��2%
O'0N/�B�' />�?�2%� 2N�>��2��O1�21�ค'O1��1�/1��B�%02�ค์ #?ค/2#
N�O�R�R�O�1�N�� #?'1�1�0N� 20N�20�� 

(5) 3.91 78.20 

5.3 N�O2/#2$ 
(�'�'>��1�
Pค%��2%) #?ค/2#
�1�N��� 2R�2CN�2%
�1Q����%0#2�R�O
�C��O1� 

2"2 �?P1$2�Q/ON�>��@Q�Q�1�2ค�N�O��>0�2��?P�O1�R�Q/O�@�N�O2/#2$
�O1��1�N�� 22#2%�%0�B� 2�/�N�N2R% �'BN#N�O2/#2$คA110R% #?�'�'>�
1$N2�R% �'BN#N�O2/#2$  AQ��?P� 2N�>��2� O'0%0$0N/'2� 2N�>��2� 
1�>�2$Q/O�1�N��/N2Pค%��2%�?Q�0� 2�?PR/� N%>P#�O�Q��N/�N/'2Q�O'0��
'�N#AP1R% Qค%คA1�'BN#N�O2/#2$�1�Pค%��2% /2��'BN#N�O2/#2$#?/'2$
�'BN# Q/O�1��1�'�R�/N2Qค%คA1�'BN#N�O2/#2$/'1� Qค%คA1�'BN# 
N�O2/#2$%1� 

(5) 3.73 74.60 

5.4 Pค%��2%#?
ค/2#21�ค'O1��1�
O��$B��022�%์ 
20 �? 

Pค%��2%21�ค'O1��1� (1) ค/2##1P�ค� (2) �2%2%O2�ค/2#22#2%�Q�
�2%O�N��1� (3) �2% 1��2O'0N2%>#2%O2�01�$"2 ค� (4) �2%2%O2�
P1�22ค/2#N2#1"2คO'0N�N2N�?$#�1��2�21�ค# (5) �2%2%O2��2%
N�>�P���คB�"2 �?/>��?PN�O�#>�%�N12>P�O/�'O1# (6) �2%�%1�2#�B'O'0
 1��2%0���2%�%>/2%�1��2%"2ค%1� N AP1Q/ON�>�ค/2##1P�ค� #1P�ค1P� 
$1P�$A� 

 

(5) 4.09 81.80 
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�1>N�O��ำ1
พ>�ำ1�ำ 1ำ0ล>Nอ?0�หล?�N��� ์

ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

5.5 N�O2/#2$ 
(�'�'>��1�
Pค%��2%) #?ค/2#
21�ค'O1��1�O�� 
 1��2N0%1��>�O'0
21�ค#O/N��2�> 
 

 

 

 

 

Pค%��2%#?ค/2#21�ค'O1��1�O�� 1��2N0%1��>�O'021�ค#O/N��2�> 
��1��?P 12 P�$ (1) $@�/'1��%1��2�1�N0%1��>� 1N ?$� (2) $@�ค�
N�O�0C�$์�'2��2% 1��2 (3) $@�/>21$�10�์"2$Q�O$B��022�%์�2�> 20 
�? (4) $@�N�O2/#2$1�2ค��%0N�0R�$ 2579 (5) $@�/'1��2%
� 2R�2CN�2%��>�1�>Q/ON�>��'21#&��>N1$N2��%>��1�Q� 5 �?�?P�N1$1�R�2CN
�'21#&��>N�?PN�O�N�O2/#2$%0$0$2/ "2$Q�OO�/�2��2% 1��2 (1) 

�2%$�%0�1�01�$"2 �2%O�N��1�O'0�2%/'B� O��1��1�%2$R�O�2�
�'2�2CN%2$R�O2C� (2) �2% 1��201�$"2 ค��2#�N/�/1$O'0�2%
��>%C�%0��N AP12%O2�21�ค#2C�/1$1$N2�#?คB�"2  (3) �2%'�ค/2#
N/'AP1#'Q 2�2�21�ค# (4) �2%%1�%1��2%N�AP1#P$�"C#>"2คO'0ค/2#
N�O�N#A1� (5) �2%2%O2�ค/2#N�%>�N�>�P��2�N0%1��>�O'021�ค#
1$N2�N�O�#>�%�1�2>P�O/�'O1# (6) �2%�%>/2%%2��2%O�N��>��?P#?
�%02>��>"2   

(5) 4.27 85.40 

5.6 Pค%��2%#?
ค/2#21�ค'O1��1� 
Thailand 4.0 

Pค%��2%#?'1�1�0/%A121�ค'O1��1��2%�%1�N�'?P$�Pค%�2%O2�
N0%1��>�R�2CN Value-Based Economy /%A1N0%1��>��?P�1�Nค'AP1�
�O/$�/1��%%#� 2�O1$ R�O#2� N�N� (1) N�'?P$��2��2%�'>�2>�คO2 
P"ค"1��์R�2CN2>�คO2N�>��/1��%%# (2) N�'?P$��2��2%�1�Nค'AP1�
�%0N�0�O/$"2ค1B�22/�%%# R�2CN�2%�1�Nค'AP1��O/$N�คP�P'$? 
ค/2#ค>�2%O2�2%%ค์O'0�/1��%%# (3) N�'?P$��2��2%N�O�"2ค�2%
�'>�2>�คO2 R�2CN�2%N�O�"2ค�%>�2%#2��@Q� %/#�@�Pค%��2%�?PN�>#N�O#
�O/$/>�$2�2% ค/2#ค>�2%O2�2%%ค์ �/1��%%# />�$2022�%์ 
N�คP�P'$? O'0�2%/>�1$O'0 1��2O'O/�N1$1�ค/2#R�ON�%?$�N�>�
N�%?$�N�?$� N�N� �O2�N�1�%N�คP�P'$?�?/"2  22�2%�2B� 
/1���%%# /'/ 

(5) 3.82 76.40 

5.7 Pค%��2%
21�ค'O1��1�
$B��022�%์�1�//1� 

Pค%��2% 1��2�O1��>P�#?ค/2#21�ค'O1��1�/O/$%0$0N/'2�1�
O�� 1��2�1�//1��?PR�O� 2/���@Q� N AP1�1�Nค'AP1��2% 1��2�O1��>P�
N2#A1�/�@P��2%�1�Nค'AP1��2% 1��2�1�//1� �@P�R#N22#2%�O$�2N/�Q�
2N/�/�@P�11��2��1�R�O �1��2��?QPค%��2% 1��2�O1��>P��O1�N�O�
Pค%��2%N�AP1#P$��N1/%A1N�>��2�R��O/$�1��1�$B��022�%์�1�//1��?P
R�O� 2/���@Q��?PN�O��ั��B�1� 

(5) 

 

 

 

4.36 87.20 

5.8 Pค%��2%O�OR�
�ั�/2ค/2#$2���
/%A1�2%N2%>#2%O2�
Q/O�%0N�0 �2�>
#1P�ค� #1P�ค1P� $1P�$A� 
"2$Q�O/'1��%0�2
%1� 

N�O�Pค%��2%�?P� 2N�>��2%"2$Q�O AQ��2�ค/2# 1N ?$��?P�%0�2��
� 2N�>��2%N1�/%A1%N/#� 2N�>��2% N�O�Pค%��2%�N1$1�O'0�$2$R�O 
N�O�Pค%��2%�?P�%0�2���O1��2%N AP1Q/ON�>�ค/2#$1P�$A� �@P�#?'1�1�0
�?P�0Q/O�O1��>P�#?ค/2##1P�ค� #1P�ค1P� $1P�$A� N�O��O1��>P��?P 1��2O'O/ 
�O/$�2% 1��2�2#�%1��2N0%1��>� 1N ?$�  
 

(5) 4.09 81.80 
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�1>N�O��ำ1
พ>�ำ1�ำ 

1ำ0ล>Nอ?0�หล?�N��� ์ ค>O��
N�O/ 

ค>O��   
�?PR�O 

1Oอ0ล>�อ�
ค>O��N�O/ 

5.9 ���%0#2�#?
ค/2#21�ค'O1��1�
N�O2/#2$ (�'�'>�
�1�Pค%��2%) 

���%0#2�Pค%��2% 1��2�0�O1�ค 2�@��@�/'1�2 2ค1� 5 �%0�2%Q�
�2%�1�� 2Pค%��2%R�OO�N (1) ค/2#�%0/$1� (Economy) (2) ค/2##?
�%02>��>"2  (Efficiency) (3) ค/2##?�%02>��>�' (Effectiveness) 

(4) ค/2#N/'AP1#'Q 2Q��2% 1��2�O1��>P� � 2R�2CNค/2#$B�>�%%# 
(Equity) (5) ค/2#P�%N�Q2 (Transparency) 

(5) 3.64 72.80 

5.10 #?�2%
�%0#2��2%%2ค2
�C��O1��2#/'1�
/>�?�2%���%0#2� 

�2%�%0#2��2%%2ค2N AP1�2% 1��2�O1�Q/O21�ค'O1��1�Pค%��2% 
�C��O1��2#/'1�/>�2�2%�2��N2� /'1��1�%2ค2�'2� %2ค2�'2�
�O1��>P� #?ค/2#P�%N�Q�Q��2%� 2/��%2ค2O'0�%/�21�R�OQ�N�>�
�%0�1�1์  

(5) 3.73 74.60 

5.11 #?�2%� 2/��
�1/�?Q/1� (KPI) O'0
21�ค'O1��1�
/1��B�%02�ค์O'0�'
�?Pค2�/N2�0R�O%1� 

#?�2%� 2/���1��?�?Q/1��'�2� (Key Performance Indicator : KPI) 

�?P22#2%�/1�R�O (measurable) Q�O�1��%02>��>�' (effectiveness) 

Q�O�1��%02>��>"2  (efficiency) R�O N�N� �2%� 2/��ค/2# @� 1Q� 
�2%� 2/��%O1$'0 �2%� 2/��11�N�>��2��'�1�/1��B�%02�ค์�?PN�>��?P
2>P��?PR�O%1� (�2%ค2��2%�์ ค2�/N2�0R�O%1�) 

(5) 3.73 74.60 

5.12 �'�?Pค2�/N2�0
R�O%1�21�ค'O1��1�
/1��B�%02�ค์ 

�'�?PR�O%1�N�O�2>P��?PN�>��@Q�R�O�%>��2��2%� 2N�>��2%�2#Pค%��2%
 1��2 �@P�21�ค'O1��1�/1��B�%02�ค์�?P�1Q�R/O �2%R�O�'/%A1�'�?PN�>��@Q�
�0�O1�N�N2�1�/1��B�%02�ค์/%A1#2��/N2/1�B�%02�ค์�@P��2%N�?$�
/1��B�%02�ค์ค/%ค 2�@��@� (1) #?ค/2#N�O�R�R�OO'0#?ค/2#
N� 20N�20�� Q��2%� 2N�>��2��2#Pค%��2% (2) /1�O'0�%0N#>��'
%0�1��1�ค/2#2 2N%O�R�O (3) %0�B2>P��?P�O1��2%� 2N�>��2�1$N2��1�N��
O'0N� 20N�20��#2��?P2B�O'022#2%���>�1�>R�O (4) N�O�N/�BN�O��' 
21�ค'O1��1�ค/2#N�O��%>� (5) 2N��'�N1�2%�N��1�N/'2R�O 

(5) 4.18 83.60 

1//ค>O�� 60 47.36 78.93 
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          2N/��?P 4  

         21B��ล �Oอ2?�N��Oล>�OอN2�อO�> 

 

 1. 21B��ล�ำ1พ?��ำ�Oอ��>P�Q�.ำพ1// 

   1.1 21B��ล�ำ12 ำ1/��ำ�O��2อ��ำ/O���1>N/>�ค/ำ/พ@�พอQ��Nอ�ล�ำ1� ำN�>��ำ��อ�
อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ�Q�.ำพ1// �1>� ำ�ี���1>/ำ� พ.0. 2563 

 

�ำ121B��ลO���1>N/>�ค/ำ/พ@�พอQ�   
 - R�O�1�2N�N1�22%O���%0N#>�/ � 2�/�  264 �B� R�O%1��1��'1�#2 � 2�/� 264 �B� O'02%B��'

 %2$'0N1?$��%2���2#N1�22% 

-  �2%�%0N#>��'ค/2# @� 1Q��1��%0�2���N1�2%��>�1�>�2��1�1�ค์�2%�%>/2%2N/�� 2�'      
/�1��1� P�$�2%2BN#O���%0N#>�Q/O�%0�2���%0N#>� � 2/��� 2�/��B��2%�%0N#>� %O1$'0 10 �1�
� 2�/�ค%1/N%A1��1Q�/#�Q�� 2�'/�1��1� ค>�N�O�/#CN'0 22 �B� %/#N�O�� 2�/� 264 �B� P�$#?%2$'0N1?$� 
�1��?Q 

 /#CN�?P 1  �O2�/�O22�2�?  � 2�/�  268  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 2 �O2�2/�  � 2�/�  162  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 3 �O2�Pค�#0�C#  � 2�/�  106  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 4 �O2��N2O$�  � 2�/�  348  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 5 �O2�O�N�R�%  � 2�/�  233  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 6 �O2�ค'1��B/%?PN/�A1 � 2�/�  253  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 7 �O2�ค'1��B/%?PQ�O  � 2�/�  197  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 8 �O2�/�1��1�  � 2�/�  324  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 9 �O2�N�>�O2�2B�  � 2�/�  275  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 10 �O2��N2#0�C#  � 2�/�  177  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 11 �O2�ค'1�/>�N�>� � 2�/�  105  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

 /#CN�?P 12 �O2�/1/�B�O�Q�O � 2�/�  185  ค%1/N%A1�  Q�O  22 �B�  R�O�'1�#2  22  �B� 

  1//    � 2�/�  2,633 ค1?/N1Aอ� Q�O 264 �B�  R�O�ล?�/ำ 264 �B� 
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O���?P 1  �ำ1� ำ�?��ำ1�?�� ำO��0B��0ำ2�1์�อ�อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ� 
 

ค ำ�?QO��  : O���?P 1  N�O�O���%0N#>���N1�Q��2%�1�� 2O��$B��022�%์�1�1�ค์�2%�%>/2%2N/�� 2�'/�1��1�  
P�$�0� 2�2%�%0N#>�O'0%2$�2��B�N ค%1Q�  /'1��2��?P1�ค์�%��ค%1�2N/��O1��>P�R�O�%0�20Q�OO��$B��022�%์O'O/ 
 

�APออ�ค์�1��ค1อ�2N/��Oอ��>P�                             1�ค์�2%�%>/2%2N/�� 2�'/�1��1�                                                
. 

�1>N�O��ำ1�1>N/>� 
/? 

�ำ1� ำN�>��ำ� 

R/N/? 
�ำ1� ำN�>��ำ� 

2N/��?P 1  ค�>�11/�ำ1พ?��ำ�Oอ��>P�   

1.  #?�2%�1��1Q�ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P�   

2.  #?�2%�1��%0�B#ค�0�%%#�2% 1��2�O1��>P�N AP1�1�� 2O�� 1��2�O1��>P�   

3.  #?�2%�1��%0�B#1$N2��N1N�AP1�2#P 2N2#1   

4.  #?�2%�1��1Q�ค�0�%%#�2%2�1�2�B��2%�1�� 2O�� 1��2�O1��>P�   

5.  #?�2%�1��%0�B#ค�0�%%#�2%2�1�2�B��2%�1�� 2O�� 1��2�O1��>P�   

6.  #?ค�0�%%#�2% 1��2�O1��>P�O'0�%0�2ค#�O1��>P� >�2%�2%N2�O��$B��022�%์�2%
 1��2 

  

2N/��?P 2  �ำ1�?�� ำO���ำ1พ?��ำ�Oอ��>P� 
  

7.  #?�2%%/�%/#�O1#C'O'0�ั�/22 2ค1��1��O1��>P�#2�1�� 2�2��O1#C'   

8.  #?�2%N�>�P1�22Q/O�%0�2��N�O2#2#?2N/�%N/#Q��2%�1�� 2O��   

9.  #?�2%/>Nค%20/์01�$"2 �1��O1��>P� (SWOT)  N AP1�%0N#>�2�2�"2 �2% 1��2�O1��>P�   

10.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1�01�$"2 �1�
�O1��>P� 

  

11.  #?�2%� 2/��/>21$�10�์O'0"2%�>�/'1��2% 1��2�O1��>P��?P21�ค'O1��1�$B��022�%์
�1�//1� 

  

12.  #?�2%� 2/���B�#BN�/#2$N AP1�2% 1��2�?P$1P�$A�   

13.  #?�2%� 2/��N�O2/#2$�2% 1��2�O1��>P�   

14.  #?�2%� 2/��$B��022�%์�2% 1��2O'0O�/�2��2% 1��2   

15.  #?�2%� 2/��$B��022�%์�?P21�ค'O1��1�$B��022�%์�1��1�//1�   

16.  #?�2%1�B#1�>O'0�%0�20Q�OO��$B��022�%์�2% 1��2   

17.  #?�2%�1�� 2�1��?�'BN#Pค%��2%Q�O��$B��022�%์   

18.  #?�2%� 2/��%C�O���2%�>��2#�%0N#>��'O��$B��022�%์   
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O���?P 2  O���>��ำ/�ล�ำ1� ำN�>��ำ��อ�อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ� 
 

ค ำ�?QO��  : O���?P 2  N�O�O���>��2#��N1�  P�$#?/1��B�%02�ค์N AP1�>��2#�'�2%� 2N�>��2��2#O��$B��022�%์�1�1�ค์�%��ค%1�2N/��O1��>P�"2$Q�OO��$B ��022�%์    
P�$#?� 2/��%0$0N/'2Q��2%�>��2#O'0%2$�2��'�2%� 2N�>��2�1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��? 
 

2N/��?P 1  �Oอ/Cล�?P/R� 

1.  �AP11�ค์�%��ค%1�2N/��O1��>P�                              1�ค์�2%�%>/2%2N/�� 2�'/�1��1�                      . 
2.  %2$�2��'�2%� 2N�>��2� �?���%0#2�  .0. 2563 (N�A1��B'2ค# 2562 – N�A1��1�$2$� 2563) 
 

2N/��?P 2  � ำ�/�Pค1��ำ1Oล>���1>/ำ��ำ/O��พ?��ำ�Oอ��>P� (พ.0. 2561-2565) 

0B��0ำ2�1์ 

�ี�?P 1  พ.0. 2561 

 

�ี�?P 2 พ.0. 2562 �ี�?P 3 พ.0. 2563 �ี�?P 4 พ.0. 2564 �ี�?P 5 พ.0. 2565 1// 5 �ี 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

� ำ�/� 

Pค1��ำ1 
�� 

�1>/ำ� 

1. �2% 1��2�O2�
Pค%�2%O2� AQ��2� 

- - 
204 124,700,000 204 124,700,000 204 124,700,000 60 48,800,000 675 422,900,000 

2. �2% 1��2�O2�
N0%1��>� 

- - 
- - - - 5 1,500,000 - - 5 1,500,000 

3. �2% 1��2�O2�
�2%0@�12 022�2 O'0
/1���%%# 

- - 

20 6,465,000 49 8,882,000 52 9,996,500 17 2,332,000 138 27,675.500 

4. �2% 1��2�O2�
2>P�O/�'O1# 

- - 
- - 19 2,750,000 19 2,750,000 - - 38 5,500,000 

5. �2% 1��2�O2�O/'N�
�Q 2N AP1�2%N�1�% 

- - 
- - 12 7,300,000 12 7,300,000 - - 24 14,600,000 

6. �2% 1��2�O2�
คB�"2 �?/>� 21�ค# 
O'0�2%�%>/2%�1��2% 

- - 

1 25,000 95 33,436,000 94 37,981,000 1 25,000 191 71,467,000 

1// 

- - 
225 6,614,700 379 177,068,000 386 184,227,500 78 51,157,000 1,071 543,642,500 
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�ล�ำ1� ำN�>��ำ��ำ/O��พ?��ำ�Oอ��>P� (พ.0. 2561-2565) �1>� ำ�ี���1>/ำ� พ.0. 2563 

(N�Aอ��Bลำค/ 2562 - �?�0ำ0� 2563) 
 

0B��0ำ2�1 ์
� ำ�/�Pค1��ำ1 
�?P� ำN�>��ำ1OลO/ 

� ำ�/� 

Pค1��ำ1�?Pอ0CN 
Q�1>ห/Nำ� 
� ำN�>��ำ1 

� ำ�/�Pค1��ำ1 
�?P0?�R/NR�O 
� ำN�>��ำ1 

� ำ�/�Pค1��ำ1 
�?Q�ห/� 

� ำ�/� 1Oอ0ล> � ำ�/� 1Oอ0ล> � ำ�/� 1Oอ0ล> � ำ�/� 1Oอ0ล> 

1. �2% 1��2�O2�
Pค%�2%O2� AQ��2� 

22 10.79 5 2.45 177 86.76 204 100.00 

2. �2% 1��2�O2�
N0%1��>� 

- - - - - - - - 

3. �2% 1��2�O2�
�2%0@�12 022�2 O'0
/1���%%# 

14 28.57 - - 35 71.43 49 100.00 

4. �2% 1��2�O2�
2>P�O/�'O1# 

3 15.79 - - 16 84.21 19 100.00 

5. �2% 1��2�O2�
O/'N��Q 2N AP1
�2%N�1�% 2 16.67 - - 10 83.33 12 100.00 

6. �2% 1��2�O2�
คB�"2 �?/>� 21�ค# 
O'0�2%�%>/2%�1��2% 

9 9.47 - - 86 90.53 95 100.00 

 

1// 50 

 

13.19 

 

5 

 

1.32 

 

324 

 

85.49 

 

379 

 

100.00 
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 2N/��?P 3  �ำ1�1>N/>�ค/ำ/พ@�พอQ��อ��1>�ำ���Nอ�ล�ำ1� ำN�>��ำ��อ�อ�ค์�ำ1�1>หำ12N/�
� ำ�ลห�อ��อ��ำ/Pค1��ำ1�?PR�O1?�N�>�อB�ห�B�N�พำ>�>� 

  Pค%��2%�?PR�O%1�N�>�1B�/�B�N� 20�>� �%0� 2�?���%0#2�  .0. 2563 

 

 

O���?P 3  O���1>N/>��ล�ำ1� ำN�>��ำ��ำ/O��0B��0ำ2�1์ 
 

ค ำ�?QO�� : O���?P 3  N�O�O���%0N#>���N1�  P�$#?/1��B�%02�ค์N AP1Q�O�%0N#>��'�2%� 2N�>��2��1�
1�ค์�2%�%>/2%2N/�� 2�'/�1��1� �2#$B��022�%์�?P� 2/��R/O  O'0#?� 2/��%0$0N/'2Q��2%%2$�2�
1$N2��O1$�?'0/�@P�ค%1Q�"2$Q�N�A1��1�/2ค#�1��B��? 

 

2N/��?P 1  �Oอ/Cล�?P/R� 

 1.  �AP11�ค์�%��ค%1�2N/��O1��>P�                         1�ค์�2%�%>/2%2N/�� 2�'/�1��1�   

 

 2N/��?P 2  0B��0ำ2�1์Oล>Pค1��ำ1Q��ี���1>/ำ� พ.0. 2563 

 1.  $B��022�%์O'0� 2�/�Pค%��2%�?P�%2��Q�O��O'0� 2�/�Pค%��2%�?PR�O��>�1�> 
 2.  � 2�/�Pค%��2%O'0���%0#2��2#O�� 1��2�O1��>P� ( .0. 2561-2565) 
 

0B��0ำ2�1์ 
� ำ�/�Pค1��ำ1 

� ำ�/�Pค1��ำ1 
�?P�1ำ��อ0CNQ�O�� 

� ำ�/�Pค1��ำ1 
�?PR�O��>�?�> 

1. �2% 1��2�O2�Pค%�2%O2� AQ��2� 

204 27 

2. �2% 1��2�O2�N0%1��>� - - 

3. �2% 1��2�O2��2%0@�12 022�2 O'0/1���%%# 49 14 

4. �2% 1��2�O2�2>P�O/�'O1# 19 3 

5. �2% 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 12 2 

6. �2% 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 95 9 

1// 379 55 

 

 

 

 

 

 

�?/�?Q/?��?PNลAอ� ห�N/0 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 
(� ำ�/�) 

� ำN�>��ำ1OลO/ 
(� ำ�/�) 1// 

(� ำ�/�) 

- R#N#? - 
 

- - - - 
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2N/��?P 3 �ล�ำ1� ำN�>��ำ� 21B��ำ��ล�ำ12 ำ1/��ำ�O��2อ��ำ/O���1>N/>�ค/ำ/พ@�พอQ��Nอ�ล�ำ1
� ำN�>��ำ��อ�อ�ค์�ำ1�1>หำ12N/�� ำ�ลห�อ��อ�Q�.ำพ1//  �1>� ำ�ี���1>/ำ� พ.0. 2563 (หO/�
N�Aอ��Bลำค/ 2562 – �?�0ำ0� 2563) 

 

1. �Oอ/Cล�?P/R� 

 1. N 0  

 � ำ�/� 1Oอ0ล> 

�2$ 125 47.35 

/�>� 139 52.65 

1// 264 100.00 
    

  �2��2%2� �/N2 �'BN#�CO�1�O��21��2# �1Q�/#� 264 ค� N#AP1� 2O���2#N 0 2N/�Q/�N�CO�1�O��21��2#  

     N�O�N 0/�>� ค>�N�O�%O1$'0 52.65 N�O�N 0�2$ ค>�N�O�%O1$'0 47.35  

 

 2. 12$B 
 � ำ�/� 1Oอ0ล> 

�P 2�/N2 20 �? 19 7.20 

20 – 30 �? 32 12.12 

31 – 40 �? 45 17.05 

41 – 50 �? 56 21.21 

51 – 60 �? 74 28.03 

#2��/N2 60 �? 38 14.39 

1// 264 100.00 
   

  �2��2%2� �/N2 �'BN#�CO�1�O��21��2# #?12$B1$CN Q��N/�12$B 51 -60 �? #2��?P2B� ค>�N�O�                  
%O1$'0 28.03 %1�'�#2 12$B 41-50 �? ค>�N�O�%O1$'0 21.21 12$B 31-40 �? ค>�N�O�%O1$'0 17.05 12$B
#2��/N2 60 �? ค>�N�O�%O1$'0 14.39 12$B 20-30 �? ค>�N�O�%O1$'0 12.12 O'012$B�P 2�/N2 20 �? ค>�N�O�         
%O1$'0 7.20    

 3. �2%0@�12 
 � ำ�/� 1Oอ0ล> 

�%0�#0@�12 125 47.35 

#1�$#0@�12/%A1N�?$�N�N2 103 39.06 

1�B�%>��2/%A1N�?$�N�N2 20 7.58 

�%>��2�%? 10 3.79 

2C��/N2�%>��2�%? 1 0.39 

1AP� N 5 1.89 

1// 264 100.00 

   �2��2%2� �/N2 �'BN#�CO�1�O��21��2#2N/�Q/�N#?�2%0@�12%0�1��%0�#0@�12 ค>�N�O�%O1$'0 47.35 

%1�'�#2 %0�1�#1�$#0@�12/%A1N�?$�N�N2 ค>�N�O�%O1$'0 39.06 %0�1�1�B�%>��2/%A1N�?$�N�N2 ค>�N�O�%O1$'0 7.58 

�%>��2�%? ค>�N�O�%O1$'0 3.79 1AP�N ค>�N�O�%O1$'0 1.89 O'0%0�1�2C��/N2�%>��2�%? ค>�N�O�%O1$'0 0.39  
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4. 12�? /'1� 

 � ำ�/� 1Oอ0ล> 

%1�%2��2% 3 1.34 

N1���/%1�/>22/�>� 4 1.52 

คO2�2$/�B%�>�2N/��1/ 47 17.80 

%1��O2� 85 32.20 

�1�N%?$�/�1�0@�12 26 9.85 

N�1�%�% 96 36.36 

1AP� N  3 1.14 

1// 264 100.00 

   �2��2%2� �/N2 �'BN#�CO�1�O��21��2#2N/�Q/�N�%0�1�12�? N�1�%�% ค>�N�O�%O1$'0 36.36 

%1�'�#2�%0�1�12�? %1��O2� ค>�N�O�%O1$'0 32.19 �%0�1�12�? คO2�2$/�B%�>�2N/��1/ ค>�N�O�%O1$'0 17.80
�1�N%?$�/�1�0@�12 ค>�N�O�%O1$'0 9.85 �%0�1�12�? N1���/%1�/>22/�>� ค>�N�O�%O1$'0 1.52 �%0�1�12�?       
%1�%2��2% ค>�N�O�%O1$'0 1.34 O'01AP�N ค>�N�O�%O1$'0 1.14  

 

 0B��0ำ2�1์�?P 1 �ำ1พ?��ำ�Oำ�Pค1�21Oำ�พAQ��ำ�  
1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 27 Pค%��2% 

 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ 

 

���1>/ำ� 

(�ำ�) 

1. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#N�'?P$O�N�22$�2��O2�2/� /#CN�?P 2 
� 2�'/�1��1� N�AP1#�O2�/�1�#2�%์ � 2�'Pค��?P�O1� 1 2N"1N#A1�2%0O�O/ �1�//1�
2%0O�O/                                                                                  
�%>#2��2��>/�%2�% �/O2� 4.00 N#�% %0$0�2� 1,100 N#�% /�2 0.30 N#�% 
/%A1/�2�%1��2#2"2  AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,320 '�.#.  

�1��N2� -  206,000 

2. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#N�'?P$O�N�22$�2��O2�Pค�P%�2?N�AP1#
�O2��2'O1# /#CN�?P 3 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/       
�%>#2��2� �>/�%2�%�/O2� 3 N#�% %0$0�2� 1,500 N#�% /�2 0.30 N#�%  
/%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 1,350 '�.#.  

�1��N2�  - 224,000 

3. P%��2%�N12%O2����ค1��%?�N2%>#N/'O�22$�2��%>N/��'BN#�O2�N�2�>� /#CN�?P 4 
� 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/  
�%>#2��2��>/�%2�%�/O2� 4.00 N#�% %0$0�2� 240 N#�% /�2 0.15 N#�% 
 %O1#�O2$Pค%��2% 1 �O2$ /%A1#? AQ��?Pค1��%?� R#N�O1$�/N2 960 �2%2�N#�%  

�1��N2� -  480,000 

4. Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O� 22$�2��%>N/��'BN#�O2�P �>N�1�      
/#CN�?P 5 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/                            
�%>#2��2� �>/�%2�%�/O2� 4.00 N#�% %0$0�2� 240 N#�% /�2 0.15 N#�% 
 %O1#�O2$Pค%��2% 1 �O2$ /%A1#? AQ��?Pค1��%?�R#N�O1$�/N2 960 �2%2�N#�%  

�1��N2�  - 480,000 

5. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��'BN#�O2�
P �>N�1� /#CN�?P 5 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/  
�%>#2��2� �>/�%2�%�/O2� 4.00 N#�% %0$0�2� 400 N#�% /�2 0.30 N#�%      
/%A1/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 480 '�.#.  

�1��N2� -  87,000 
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�?/�?Q/?��?PNลAอ� 

ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ 

 

���1>/ำ� 

(�ำ�) 

6. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#�$2$R/'N�2�22$�2��%>N/��1$
P%�N%?$��O2�Q/#NR�$ 1��2 /#CN�?P 6 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�
2%0O�O/  
�%>#2��2��>/�%2�% �/O2� 5.00 N#�% %0$0�2� 940 N#�% /�2 0.20 N#�% /%A1
/�2�%1��2#2"2  AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 940 '�.#.  

�1��N2� -  210,000 

7. Pค%��2% Overlay Para Asphaltic Concrete �1����ค1��%?��/O2� 5 N#�%  
$2/ 355 N#�% /�2 0.05 N#�% /%A1#? AQ��?P� 2N�>��2%R#N�O1$�/N2 1,775 �2%2�
N#�%/#CN�?P 1 N�AP1# /#CN�?P 8 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/ 

�1��N2� -  539,830.53 

8. Pค%��2%�N12%O2����ค1��%?�N2%>#N/'O�22$�2��%>N/��'BN#�O2�/�1�N�2 /#CN�?P 9 
� 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/ �%>#2��2��>/�%2�%�/O2� 3 
N#�% %0$0�2� 249 N#�% /�2 0.15 N#�%  %O1#�O2$Pค%��2% 1 �O2$ /%A1#? AQ��?P
ค1��%?�R#N�O1$�/N2 747  �2%2N#�%  

�1��N2� -  376,000 

9. Pค%��2%�%1��%B��N1#O�#N2%>#���'C�%1� %O1#N�'?P$O�N��%>N/� /#CN�?P 10 � 2�'
/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/  
�%>#2��2��>/�%2�%�/O2� 4.00 N#�% %0$0�2� 1,100 N#�% /�2 0.20 N#�% /%A1
/�2�%1��2#2"2  AQ��?P/%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 880 '�.#.  

�1��N2�  - 150,000 

10. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��'BN#�O2�
/�1�1?'1# /#CN�?P 11 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/  
�%>#2��2��>/�%2�% �/O2� 4.00 N#�% %0$0�2� 800 N#�% /%A1/�2�%1��2#2"2 
 AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 960 '�.#.  

�1��N2�  - 160,000 

11. Pค%��2%�N1#O�#N2%>#�>/�%2�%'C�%1� %O1#N�'?P$O�N�22$�2��%>N/��O2�/1/�B�O�
Q�O /#CN�?P 12 N�AP1#�O2�N�>�O2�2B� /#CN�?P 9 � 2�'/�1��1� 1 2N"1N#A1�2%0O�O/ 
�1�//1�2%0O�O/  
�%>#2��2��>/�%2�%�/O2� 3.00 N#�% %0$0�2� 500 N#�% /%A1/�2�%1��2#2"2 
 AQ��?P /%A1#?�%>#2�%�>�'C�%1�R#N�O1$�/N2 450 '�.#.  

�1��N2� -  65,000 

12. Pค%��2%�%1��%B��N1#O�#/�N1N�># 12ค2%2 2�1��2�1�ค์�2%�%>/2%2N/�� 2�'
/�1��1� Q��2��N1N�>#/O1��%0���%1�1'C#>N�?$#'C�!C�2?�2 %O1#�%0�C�%0��
�%1�1'C#>N�?$#2?�2 

�1��N2� -  110,000 

13. Pค%��2%/2��N1%0�2$�Q 2 %O1#N�'?P$O�N�22$�2��O2�P �>N�1� /#CN�?P 5 � 2�'
/�1��1� 1 2N"1N#A1�2%0O�O/ �1�//1�2%0O�O/   
�%>#2��2� �N1��2� 1.00x1.00 #. � 2�/� 22 �N1�  

�1��N2�  - 51,000 

14. Pค%��2%�1�� 2�1%์��>��%0�20/�%0�221# 1��์ 1�ค์�2%�%>/2%2N/�� 2�'       
/�1��1� �%>#2��2� �/O2� 1.20 #. $2/ 2.40 N#�% � 2�/� 2 �O2$ 

�1��N2� -  38,200 

15. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��� 2/�N2$
R!!O222�2%�0Q/O�1��O2�/�O22�2�? /#CN�?P 1 � 2�'      /�1��1� 

�1��N2� -  57,139.07 

16. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��� 2/�N2$
R!!O222�2%�0Q/O�1��O2��N2O$� /#CN�?P 4 � 2�'/�1��1� 

�1��N2� -  48,948.22 

17. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/Pค%��2%�$2$N��%0��� 2/�N2$
R!!O222�2%�0Q/O�1��O2�O�N�R�% /#CN�?P 5 � 2�'/�1��1� 

�1��N2� -  48,957.66 

18. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��� 2/�N2$
R!!O222�2%�0Q/O�1��O2�ค'1��B/%?PN/�A1 /#CN�?P 6 � 2�'/�1��1� 

�1��N2� -  68,171.85 
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�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ 

 

���1>/ำ� 

(�ำ�) 

19. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�ค'1��B/%?PQ�O /#CN�?P 7 � 2�' /�1��1�  

�1��N2� -  133,988.61 

20. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�ค'1��B/%?PQ�O /#CN�?P 7 � 2�'/�1��1� 

�1��N2� -  35,821.46 

21. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�/�1��1� (�'BN#�O2�20 2�PคO�) /#CN�?P 8 

� 2�'/�1��1�  

�1��N2� -  57,592.53 

22. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�N�>�O2�2B� (�'BN#N�>�#0�2#�O1#) /#CN�?P 9 

� 2�'/�1��1�  

�1��N2� -  98,987.84 

23. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�N�>� O2�2B� (/'1�/1�) /#CN�?P 9 � 2�'       
/�1��1�  

�1��N2� -  23,304.60 

24. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�N�>�O2�2B� (�'BN#N�>�#0�2#�O1#) /#CN�?P 9 
� 2�'/�1��1�  

�1��N2� -  47,214.82 

25. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�Pค�#0�C# /#CN�?P 10 � 2�'/�1��1� 

�1��N2� -  175,528.15 

26. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�ค'1�/>�N�>� /#CN�?P 11 � 2�'/�1��1� 

�1��N2� -  37,260.61 

27. 1B�/�B��2%R!!O22N/�"C#>"2ค�1�//1�2%0O�O/ Pค%��2%�$2$N��%0��
� 2/�N2$R!!O222�2%�0Q/O�1��O2�/1/�B�O�Q�O /#CN�?P 12 � 2�'/�1��1� 

�1��N2� -  40,136.77 

 

 

2)  ค/2# @� 1Q��1��CON�?P$/�O1� 
 

�1>N�O� 

พอQ�/ำ� พอQ� พอQ��Oอ0 

� ำ�/�
(ค�) 1Oอ0ล> � ำ�/�

(ค�) 1Oอ0ล> � ำ�/�
(ค�) 1Oอ0ล> 

1) �2%N�>�P1�22Q/O�%0�2��#?2N/�%N/#Q�Pค%��2% / �>��%%# 108 40.91 147 55.68 9 3.41 

2) �2%�%0�221# 1��์Q/O�%0�2��%1�%CO�O1#C'�1�Pค%��2% / �>��%%# 120 45.45 127 48.11 17 6.44 

3) �2%N�>�P1�22Q/O�%0�2��O2��ค/2#ค>�N/O�Q�Pค%��2% / �>��%%# 113 42.80 134 50.76 17 6.44 

4) �2%%2$�2��'�2%� 2N�>��2��1�Pค%��2% / �>��%%#�N122�2%�0 102 38.64 148 56.06 14 5.30 

5) ค/2#P�%N�Q2Q��2%N�>��2� / �>��%%# 98 37.12 151 57.20 15 5.68 

6) �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P� 2/�� 98 37.12 148 56.06 18 6.82 

7) �'�2%� 2N�>�Pค%��2% / �>��%%#� 2R�2CN�2%O�OR��ั�/2 108 40.91 142 53.79 14 5.30 

8) �2%O�OR��ั�/2 O'0�2%�1�2�1�ค/2#�O1��2%�1��%0�2�� 105 39.77 137 51.89 22 8.34 

9) �%0P$��์�?P�%0�2��R�O%1��2��2%� 2N�>�Pค%��2% / �>��%%# 106 40.15 142 53.79 16 6.06 

.ำพ1//  40.32  53.71  5.97 
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 0B��0ำ2�1์�?P 2  �ำ1พ?��ำ�Oำ�N011��>� 

 1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 0 Pค%��2% 
 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ ���1>/ำ� 

(�ำ�) 

- R#NR�O� 2N�>��2% - - - - - 

 

0B��0ำ2�1์�?P 3  �ำ1พ?��ำ�Oำ��ำ10@�1ำ 0ำ2�ำ Oล>/?���11/ 

1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 14 Pค%��2% 
 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ ���1>/ำ� 

(�ำ�) 

1. 1B�/�B�P%�N%?$�21��1� 2 �.Q� AQ��?P� 2�'/�1��1� � 2�/� 4 P%�N%?$� 
Pค%��2%12/2%�'2�/1� 

�1��2%0@�12/ 
-  1,556,000 

2. 1B�/�B�P%�N%?$�21��1� 2 �.Q� AQ��?P� 2�'/�1��1� � 2�/� 4 P%�N%?$� 
Pค%��2%12/2%N2%># (�#)  

�1��2%0@�12/ 
-  655,548.46 

3. คN212/2%�'2�/1�0C�$์ 1��2N�O�N'O��O2�/�O22�2�? �1��2%0@�12/ -  122,340 

4. คN212/2%N2%># (�#) 0C�$์ 1��2N�O�N'O��O2�/�O22�2�? �1��2%0@�12/ 
-  50,120.90 

5. Pค%��2%O�N��1��?021�ค์�%��ค%1�2N/��O1��>P� O'0�2%�1��2%O�N��1��?02
%0//N2�1�ค์�%��ค%1�2N/��O1��>P� 

�1��2%0@�12/ 
-  149,734 

6. 1B�/�B�P%�N%?$�Q�N�� AQ��?PPค%��2%�1��2%O�N��1��?02Nค%A1�N2$� 2�' 
/�1��1�N�'># %0N�?$%�>�'BN#P%�N%?$�Nค%A1�N2$ 

�1��2%0@�12/ 
-  60,000 

7. 1B�/�B�P%�N%?$�Q�N�� AQ��?PPค%��2%�1��>��%%#คN2$��>�1�>�%%#2CNN$2/��
�'BN#P%�N%?$�Nค%A1�N2$ 

�1��2%0@�12/ 
-  40,000 

8. Pค%��2%2�1�2�B�คN2Q�O�N2$�2%�%>/2%�2%0@�12�1�0C�$์ 1��2N�O�N'O�        
(คN2�1��2%N%?$��2%21�%2$/1/) 

�1��2%0@�12/ 
-  54,310 

9. Pค%��2%2�1�2�B�คN2Q�O�N2$�2%�%>/2%�2%0@�12�1�0C�$์ 1��2N�O�N'O�        
(คN2/�1�2A1N%?$� 1B��%�์�2%N%?$� คN2Nค%AP1�O���1�N%?$� O'0�>��%%# 1��2
�CON%?$�) 

�1��2%0@�12/ 

-  7,682 

10. 1B�/�B�P%�N%?$�Q�N�� AQ��?P� 2�'/�1��1� Pค%��2%�1��>��%%#/1�N�O�
O/N��2�>�'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� 

�1��2%0@�12/ 
-  60,000 

11. 1B�/�B�P%�N%?$�Q�N�� AQ��?P Pค%��2%�1��>��%%#N�O2คN2$'C�N2A1N��%�2%?
�'BN#P%�N%?$�Nค%A1�N2$� 2�'/�1��1� 

�1��2%0@�12/ 
-  60,000 

12.1B�/�B�ค�0�%%#�2%/#CN�O2� Pค%��2%2N�N2%>#�%0N �?/1���%%#/1�'1$
�%0�� 

�1��2%0@�12/ 
-  120,000 

13. 1B�/�B��?P� 2�2%��ค%1�1 2N"1N#A1�2%0O�O/ Pค%��2%  <2A�22�
/1���%%#N�AQ1��C% 2O'0�2��2�2��1�//1�2%0O�O/= �%0� 2�? 2563 

�1��2%0@�12/ 
-  30,000 

14. 1B�/�B�12222#1ค%22�2%�2B��%0� 2/#CN�O2� (12#.) 
 

2 2�1��2��'1� 

-  90,000 

 

 



        -52- 

2)  ค/2# @� 1Q��1��CON�?P$/�O1� 

�1>N�O� 

พอQ�/ำ� พอQ� พอQ��Oอ0 

� ำ�/�
(ค�) 1Oอ0ล> � ำ�/�

(ค�) 1Oอ0ล> � ำ�/�
(ค�) 1Oอ0ล> 

1) �2%N�>�P1�22Q/O�%0�2��#?2N/�%N/#Q�Pค%��2% / �>��%%# 110 41.67 148 56.06 6 2.27 

2) �2%�%0�221# 1��์Q/O�%0�2��%1�%CO�O1#C'�1�Pค%��2% / �>��%%# 118 44.70 138 52.27 8 3.03 

3) �2%N�>�P1�22Q/O�%0�2��O2��ค/2#ค>�N/O�Q�Pค%��2% / �>��%%# 110 41.67 140 53.03 14 5.30 

4) �2%%2$�2��'�2%� 2N�>��2��1�Pค%��2% / �>��%%#�N122�2%�0 94 35.61 157 59.47 13 4.92 

5) ค/2#P�%N�Q2Q��2%N�>��2� / �>��%%# 98 37.12 157 59.47 9 3.41 

6) �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P� 2/�� 101 38.26 151 57.20 12 4.55 

7) �'�2%� 2N�>�Pค%��2% / �>��%%#� 2R�2CN�2%O�OR��ั�/2 103 39.02 149 56.44 12 4.55 

8) �2%O�OR��ั�/2 O'0�2%�1�2�1�ค/2#�O1��2%�1��%0�2�� 103 39.02 149 56.44 12 4.55 

9) �%0P$��์�?P�%0�2��R�O%1��2��2%� 2N�>�Pค%��2% / �>��%%# 102 38.64 149 56.44 13 4.92 

.ำพ1//  39.52  56.31  4.17 
 

  

0B��0ำ2�1์�?P 4  �ำ1พ?��ำ�Oำ�2>P�O/�ลOอ/ 

  1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 3 Pค%��2% 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ ���1>/ำ� 

(�ำ�) 

1. Pค%��2%� 2�1��$0#C'�1$%N/#�1�N�0�2'N#A1�2%0O�O/ � 0C�$์� 2�1�
�$0#C'�1$O��ค%�/��% N�0�2'N#A1�2%0O�O/ 

2 2�1��2��'1� 

-  
171,788.50 

2. Pค%��2%�>�1222N%2� 2�?�O/$/1/Q�  1��2� 2ค/2#2012�2�2�?%�R! 
(2%0O�O/) O'0P%�N%?$��O2�/�O22�2�? 

2 2�1��2��'1� 

-  
12,180 

3. Pค%��2%�>�1222 1��2N�AP1�Q�/1�#/>�' 24 �1�$2$� 2563 
�%0� 2�?���%0#2� 2563 

2 2�1��2��'1� 

-  
74,510 

 

 2)  ค/2# @� 1Q��1��CON�?P$/�O1� 

�1>N�O� 

พอQ�/ำ� พอQ� พอQ��Oอ0 

� ำ�/�
(ค�) 1Oอ0ล> � ำ�/�

(ค�) 1Oอ0ล> � ำ�/�
(ค�) 1Oอ0ล> 

1) �2%N�>�P1�22Q/O�%0�2��#?2N/�%N/#Q�Pค%��2% / �>��%%# 101 38.26 154 58.34 9 3.40 

2) �2%�%0�221# 1��์Q/O�%0�2��%1�%CO�O1#C'�1�Pค%��2% / �>��%%# 95 35.99 157 59.47 12 4.54 

3) �2%N�>�P1�22Q/O�%0�2��O2��ค/2#ค>�N/O�Q�Pค%��2% / �>��%%# 92 34.85 161 60.96 11 4.17 

4) �2%%2$�2��'�2%� 2N�>��2��1�Pค%��2% / �>��%%#�N122�2%�0 71 26.90 179 67.80 14 5.30 

5) ค/2#P�%N�Q2Q��2%N�>��2� / �>��%%# 77 29.17 166 62.88 21 7.95 

6) �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P� 2/�� 8 31.44 162 61.36 19 7.20 

7) �'�2%� 2N�>�Pค%��2% / �>��%%#� 2R�2CN�2%O�OR��ั�/2 86 32.58 162 61.36 16 6.06 

8) �2%O�OR��ั�/2 O'0�2%�1�2�1�ค/2#�O1��2%�1��%0�2�� 93 35.23 159 60.23 12 4.54 

9) �%0P$��์�?P�%0�2��R�O%1��2��2%� 2N�>�Pค%��2% / �>��%%# 96 36.36 154 58.34 14 5.30 

.ำพ1//  33.42  61.20  5.38 
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 0B��0ำ2�1์�?P 5  �ำ1พ?��ำOหลN��Q ำNพAPอ�ำ1N�1�1 

  1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 2 Pค%��2% 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ ���1>/ำ� 

(�ำ�) 

1. Pค%��2%�>�1222N%2� 2�?�O/$/1/Q��N1#O�#�2$�0'1�Q 2 (คBO#/1��N2
0%?�B�N%A1�) /#CN�?P 6 

2 2�1��2�
�'1� 

-  
27,280 

2. Pค%��2%�>�1222 1��2"C#>�10�์ � 2ค/2#2012�' 2�Q 2คCค'1�O'0
 1��2�B#���?P1$CN1201$%>#O#N�Q 2คCค'1� N�AP1�Q�/1�ค'O2$/1��%#%2�
2#" / 5 �1�/2ค# 

2 2�1��2�
�'1� -  

54,505 

  

2)  ค/2# @� 1Q��1��CON�?P$/�O1� 
 

�1>N�O� 

พอQ�/ำ� พอQ� พอQ��Oอ0 

� ำ�/�
(ค�) 1Oอ0ล> � ำ�/�

(ค�) 1Oอ0ล> � ำ�/�
(ค�) 1Oอ0ล> 

1) �2%N�>�P1�22Q/O�%0�2��#?2N/�%N/#Q�Pค%��2% / �>��%%# 106 40.15 146 55.31 12 4.54 

2) �2%�%0�221# 1��์Q/O�%0�2��%1�%CO�O1#C'�1�Pค%��2% / �>��%%# 116 43.94 134 50.76 14 5.30 

3) �2%N�>�P1�22Q/O�%0�2��O2��ค/2#ค>�N/O�Q�Pค%��2% / �>��%%# 99 37.51 151 57.19 14 5.30 

4) �2%%2$�2��'�2%� 2N�>��2��1�Pค%��2% / �>��%%#�N122�2%�0 85 32.20 162 61.36 17 6.44 

5) ค/2#P�%N�Q2Q��2%N�>��2� / �>��%%# 92 34.85 156 59.09 16 6.06 

6) �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P� 2/�� 92 34.85 152 57.58 20 7.57 

7) �'�2%� 2N�>�Pค%��2% / �>��%%#� 2R�2CN�2%O�OR��ั�/2 100 37.88 145 54.92 19 7.20 

8) �2%O�OR��ั�/2 O'0�2%�1�2�1�ค/2#�O1��2%�1��%0�2�� 103 39.02 145 54.92 16 6.06 

9) �%0P$��์�?P�%0�2��R�O%1��2��2%� 2N�>�Pค%��2% / �>��%%# 110 41.67 137 51.89 17 6.44 

.ำพ1//  38.01  55.89  6.10 
 

 0B��0ำ2�1์�?P 6  �ำ1พ?��ำ�Oำ�คB�.ำพ�?/>� 2?�ค/ Oล>�ำ1�1>หำ1�?��ำ1 

 1) �2%N�'?P$�O�'��1��B#���2#�1/�?Q/1��?PN'A1� � 2�/� 9 Pค%��2% 

�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ 

���1>/ำ� 

(�ำ�) 

1. N�?Q$$1��? �CO2C�12$B 2 2�1��2��'1� -  8,268,400 

2. N�?Q$$1��? �CO >�2% 2 2�1��2��'1� -  1,792,800 

3. N�?Q$$1��? �CO�N/$N1�2์  2 2�1��2��'1� -  48,000 

4. Pค%��2%�@�1�%#�>�1222"1$ >�1�>�1�1�ค์�2%�%>/2%2N/�� 2�'         
/�1��1� 

2 2�1��2��'1� -  93,080 

5. Pค%��2%�O1��1�P%ค >12B�1��O2 2 2�1��2��'1� -  110,725 

6. Pค%��2%�$2$N���2%�1�N�O��$0�B�/#CN�O2�Q�N�� AQ��?P� 2�'      
/�1��1�  (�1��AQ1�1��$0N AP1�2%� 2�1��$0#C'�1$ 2>P���>�C') 

2 2�1��2��'1� -  85,750 
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�?/�?Q/?��?PNลAอ� 
ห�N/0�ำ�
1?��>��อ� 

�ล�ำ1� ำN�>��ำ� 

อ0CN1>ห/Nำ�
� ำN�>��ำ1 

 

� ำN�>��ำ1
OลO/ 

���1>/ำ� 

(�ำ�) 

7. Pค%��2%�O1��1� ค/�คB# O'0N�O2%0/1�P%ค�>�N�AQ1R/%12PคP%�2 (COVID-

19) �%0� 21�ค์�2%�%>/2%2N/�� 2�'/�1��1� �%0� 2�?���%0#2�  .0. 
2563 

2 2�1��2��'1� -  35,210 

8. Pค%��2%�O1��1�O'0O'0ค/�คB#P%ค�>��N1 <�2%1�%#N�>���>�1�>�2%Q/O
ค/2#%COQ��2%�O1��1�P%ค�>�N�AQ1R/%12PคP%�2 2019 (COVID-19) O'0�2%
�1�� 2/�O2�2�1�2#1$N AP1�2%�O1��1���N1�=  �%0� 21�ค์�2%�%>/2%2N/�
� 2�'/�1��1� �%0� 2�?���%0#2�  .0. 2563 

2 2�1��2��'1� -  63,660 

9. Pค%��2%�1� >�?%1� %0%2��2� %0�%#�2$2'1�1�์  %0�2�2#N�O�
 %0N�O21$CN/1/ O'02#N�O� %0�2�N�O2/  %0�%#%2�>�? N�AP1�Q�P1�22#/2
#�ค' %0%2� >�?�%#%2�2">N1�  B��01�%2� `cd` 

2 2�1��2��'1� -  33,300 

 

2)  ค/2# @� 1Q��1��CON�?P$/�O1� 
 

�1>N�O� 

พอQ�/ำ� พอQ� พอQ��Oอ0 

� ำ�/�
(ค�) 1Oอ0ล> � ำ�/�

(ค�) 1Oอ0ล> � ำ�/�
(ค�) 1Oอ0ล> 

1) �2%N�>�P1�22Q/O�%0�2��#?2N/�%N/#Q�Pค%��2% / �>��%%# 113 42.80 144 54.55 7 2.65 

2) �2%�%0�221# 1��์Q/O�%0�2��%1�%CO�O1#C'�1�Pค%��2% / �>��%%# 112 42.42 141 53.41 11 4.17 

3) �2%N�>�P1�22Q/O�%0�2��O2��ค/2#ค>�N/O�Q�Pค%��2% / �>��%%# 100 37.88 152 57.58 12 4.54 

4) �2%%2$�2��'�2%� 2N�>��2��1�Pค%��2% / �>��%%#�N122�2%�0 91 34.47 162 61.36 11 4.17 

5) ค/2#P�%N�Q2Q��2%N�>��2� / �>��%%# 92 34.85 159 60.23 13 4.92 

6) �2%� 2N�>��2�N�O�R��2#%0$0N/'2�?P� 2/�� 98 37.12 155 58.71 11 4.17 

7) �'�2%� 2N�>�Pค%��2% / �>��%%#� 2R�2CN�2%O�OR��ั�/2 98 37.12 153 57.96 13 4.92 

8) �2%O�OR��ั�/2 O'0�2%�1�2�1�ค/2#�O1��2%�1��%0�2�� 100 37.88 149 56.44 15 5.68 

9) �%0P$��์�?P�%0�2��R�O%1��2��2%� 2N�>�Pค%��2% / �>��%%# 102 38.64 151 57.19 11 4.17 

.ำพ1//  38.13  57.49  4.38 

 

   1.2 ค/ำ/2 ำN1O��ำ1พ?��ำ�ำ/0B��0ำ2�1์  

    1.2.1 $B��022�%์�?P 1 �2% 1��2�O2�Pค%�2%O2� AQ��2� 

   � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 204 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P
� 2N�>��2% 27 Pค%��2%/�>��%%#  

%0�1�ค/2# @� 1Q�P�$%/#�1��%0�2��� 2�'/�1��1� �O2�Pค%�2%O2� AQ��2� 1$CNQ�%0�1�
 1Q� ค>�N�O�%O1$'0 53.71 %1�'�#2 %0�1� 1Q�#2� ค>�N�O�%O1$'0 40.32 O'0%0�1� 1Q��O1$ ค>�N�O�
%O1$'0 5.97 

    1.2.2 $B��022�%์�?P 2 �2% 1��2�O2�N0%1��>�  
    � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 0 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P� 2N�>��2% 
 0 Pค%��2%/�>��%%#  
 



        -55- 
 

     

    1.2.3 $B��022�%์�?P 3 �2% 1��2�O2��2%0@�12 022�2 O'0/1���%%# 

    � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 49 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P� 2N�>��2% 
 14 Pค%��2%/�>��%%#  

%0�1�ค/2# @� 1Q�P�$%/#�1��%0�2��� 2�'/�1��1� �O2��2%0@�12 022�2 O'0
/1���%%# 1$CNQ�%0�1� 1Q� ค>�N�O�%O1$'0 56.31 %1�'�#2 %0�1� 1Q�#2� ค>�N�O�%O1$'0 39.52 O'0
%0�1� 1Q��O1$ ค>�N�O�%O1$'0 4.17 

    1.2.4 $B��022�%์�?P 4 �2% 1��2�O2�2>P�O/�'O1# 

    � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 19 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P� 2N�>��2% 
 3 Pค%��2%/�>��%%#  

%0�1�ค/2# @� 1Q�P�$%/#�1��%0�2��� 2�'/�1��1� �O2�2>P�O/�'O1# 1$CNQ�%0�1� 1Q� 
ค>�N�O�%O1$'0 61.20 %1�'�#2 %0�1� 1Q�#2� ค>�N�O�%O1$'0 33.42 O'0%0�1� 1Q��O1$ ค>�N�O�%O1$'0 
5.38 

    1.2.5 $B��022�%์�?P 5 �2% 1��2�O2�O/'N��Q 2N AP1�2%N�1�% 

    � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 12 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P� 2N�>��2% 
 2 Pค%��2%/�>��%%#  

%0�1�ค/2# @� 1Q�P�$%/#�1��%0�2��� 2�'/�1��1� �O2�O/'N��Q 2N AP1�2%N�1�%         
1$CNQ�%0�1� 1Q� ค>�N�O�%O1$'0 55.89 %1�'�#2 %0�1� 1Q�#2� ค>�N�O�%O1$'0 38.01 O'0%0�1� 1Q��O1$        
ค>�N�O�%O1$'0 6.10 

    1.2.6 $B��022�%์�?P 6 �2% 1��2�O2�คB�"2 �?/>� 21�ค# O'0�2%�%>/2%�1��2% 

    � 2�/�Pค%��2%/�>��%%#�1Q�2>Q� 95 Pค%��2%/�>��%%# � 2�/�Pค%��2%/�>��%%#�?P� 2N�>��2% 
 9 Pค%��2%/�>��%%#  

%0�1�ค/2# @� 1Q�P�$%/#�1��%0�2��� 2�'/�1��1� �O2�คB�"2 �?/>� 21�ค# O'0�2%
�%>/2%�1��2% 1$CNQ�%0�1� 1Q� ค>�N�O�%O1$'0 57.49 %1�'�#2 %0�1� 1Q�#2� ค>�N�O�%O1$'0 38.13 O'0
%0�1� 1Q��O1$ ค>�N�O�%O1$'0 4.38 

 

  2. �OอN2�อO�>Q��ำ1�?�� ำO��พ?��ำ�Oอ��>P�Q�อ�ำค� 

  2.1 �OอN2�อO�> /�Oอค>�NหO�อAP�N �อ��1>�ำ�� 

 ห/CN�?P 11 

(1) �1N2�1Pค%��2%'2�$2��1����ค1��%?��2�N�O2/#CN�O2�ค'1�/>�N�>��'1�N2O��2�Q�
�?���%0#2� 64 

(2) 1$2�R�O'2�$2��1����ค1��%?��2��2�N�O2�O2���2B�/#CN�O2�ค'1�/>�N�>� 

(3) �2%�%0�2$�N2/22%�2�Pค%��2%#?ค/2#'N2�O2N�>�ค/2#N�O��%>�#2� 1$2�Q/O� 2�2�P�$�1�N���/N2�?Q 
(4) ค/%#?�2%N�O2�@��1��%0�2��Q�/#CN�O2�/%A1�B#��#2��/N2�?Q /%A1�2%� 2N�>��2%�>��%%#�N2�NQ/O

R�O�'�?#2��/N2�?Q 
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  2.2 �ล�1>��� ำR�2CNอ�ำค� 

  1) N�>��2% 1��2�?P'N2�O2 N %20�2%� 2N�>��2��N2�N  �1�1�ค์�%��ค%1�2N/��O1��>P��O1��N2�
 �%0�/��2%/'2$�1Q��1� 2'1��1��O1� 

2) �%0�2��$1��2�ค/2#%COค/2#N�O2Q�Q��2%#?2N/�%N/#Q��2% 1��2�O1��>P�  O'012�N�>�ค/2#         
N�AP1/�N2$�1��%0�/��2%�1�� 2O�� 1��2�O1��>P��?P#?ค/2#$BN�$2��1��O1�#2��@Q� 

  3) �ั�/2ค/2#�O1��2%�1��%0�2��12�R#N R�O%1��2%O�OR�1$N2��%��B�N %20�O1� 2�1��1�%0N�? $�
 ��/#2$O'0���%0#2��?P#?� 2�1�O'0�2�N%AP1�12�� 2R#NR�O  N %20R#NQ�N1 2�2�/�O2�?P�1�1�ค์�%��ค%1�2N/�
 �O1��>P� 

  2.3 �Oอ2?�N�� �OอN2�อO�> �ล�ำ��ำ1พ?��ำ 

  1) �2%�1�� 2O�� 1��2�O1��>P�ค/% >�2%�2���%0#2�O'0ค 2�@��@�2�2�0�2��2%ค'1�Q��2%
  >�2%�2Pค%��2%/�>��%%# �?P�0�%%�BQ�O�� 1��2�>P� 

  2) ค/%N%N�%1�Q/O#?�2%� 2N�>�Pค%��2%/�>��%%# �?P�1Q�Q��O1�1��1�>���%0#2�%2$�N2$Q/O22#2%�
 � 2N�>��2%R�OQ��?���%0#2��1Q� 

3) 1�ค์�%��ค%1�2N/��O1��>P�ค/% >�2%�2�1Q����%0#2�Q/ON ?$� 1O'0N/#202#�1�"2%�>�            
O�N'0�O2��?P�0�O1�� 2N�>��2% �@P��0�N/$'��ั�/2Q��2%P1�N >P# P1�'� P1��1Q��N2$%2$�2%Q/#N 
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ค ำ�?QO�� : O&&2 ำ//�ค/ำ-*@�*/Q��/�'/0�ำ�%  !N/�ำ/  ำ_%�%�ำ%�/�/�คก�ำ/&/�>ำ/2N/%! ำ&ห>%/�&/% 
Q%,ำ*//- Q>O#Nำ%# ำ_ค/AP/�>-ำ.  x >/A/   ห�Q%�N/�  (    ) 
************************************************************************************** 
 

2N/%#?P  1   �Oอ/Cล#?P/R' 

1.  _*0  (    )  �ำ.   (    )  >ญ�� 
2.  /ำ.B  (    )  !P ำ�/Nำ  20  '?  (    )  20 – 30 '?  (    )  31 – 40 '? 
  (    )  41 – 50 '?  (    )  51 – 60 '?  (    )  -ำ��/Nำ  60  '? 
3.  �ำ/0@�1ำ (    )  '/0"-0@�1ำ  (    )  -1$.-0@�1ำ>/A/_#?.&_#Nำ 
  (    )  /%B'/�ญญำ>/A/_#?.&_#Nำ (    )  '/�ญญำ!/? 
  (    )  2C��/Nำ'/�ญญำ!/?  (    )  /AP%N 

4.  /ำ�?*>ห1� (    )  /1&/ำ��ำ/  (    )  _/��% / /1�/�2ำ>��� (    )  คOำ�ำ. / $B/���2N/%!1/ 

  (    )  /1&�Oำ�  (    )  %1�_/?.%  %1�0@�1ำ  (    )  _�1!/�/ 

  (    )  /AP%N  /0&B..................................................... 
 

 

2N/%#?P 2  �ำ1'1>N/>%ค/ำ/พ@�พอQ��อ�'1>�ำ�%!Nอ(ล�ำ1  ำN%>%�ำ%�อ�อ�ค์�ำ1&1>หำ12N/%! ำ&ล         
ห%อ�&อ% 

5.  Q>O#Nำ%# ำ_ค/AP/�>-ำ.   ห�Q%�N/�/Nำ�ค/ำ-*@�*/Q�#?P� ำ>% Q>OQ%O!Nห0>1/�O/!ำ-ค/ำ-_'O%�/�� 
    �ำ�ค/ำ-/CO2@�*@�*/Q�#?P#Nำ%R O/1&  P .Q%O!Nห0>1/�O/#?P� ำ>% Q>O#Nำ%2ำ-ำ/"# ำ_ค/AP/�>-ำ.R O_*?.� 
    1  �N/�  !N/>%@P�>1/�O/_#Nำ%1Q% 
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0B#$0ำ2!1์#?P 1  0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%Pค1�21Oำ�พAQ%ฐำ% 

 �ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 
 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

 

�&'1>/ำ� 

(&ำ#) 

1. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-_�ห?P.O!N�2ำ.#ำ�&Oำ%2/% 
>-CN#?P 2 ! ำ&ห>%/�&/% _�AP/-&Oำ%>%/�-ำ!/ก ! ำ&หPค�'?P�O/� / ำ_,/
_-A/�2/0O�O/ �1�>/1 2/0O�O/ '/�-ำ��ำ%(�/�/ำ�/ �/Oำ� 4.00 _-!/ 
/0.0#ำ� 1,100 _-!/ >%ำ 0.30 _-!/ >/A/>%ำ'/1&!ำ-2,ำ**AQ%#?P 
>/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 1,320 ห&.-.  

�/��Nำ� -  206,000 

2. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-_�ห?P.O!N�2ำ.#ำ�&Oำ%Pค�
P/�2?_�AP/-&Oำ%%ำหO/- >-CN#?P 3 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ 
�1�>/1 2/0O�O/  
'/�-ำ��ำ% (�/�/ำ�/�/Oำ� 3 _-!/ /0.0#ำ� 1,500 _-!/ >%ำ 0.30 
_-!/ >/A/>%ำ'/1&!ำ-2,ำ**AQ%#?P>/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 
1,350 ห&.-.  

�/��Nำ�  - 224,000 

3. P/��ำ/�N/2/Oำ�"%%ค/%�/?!_2/�-_>หO�2ำ.#ำ�&/�_/��หBN-&Oำ%_�ำ �% 
>-CN#?P 4 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/  
'/�-ำ��ำ%(�/�/ำ�/�/Oำ� 4.00 _-!/ /0.0#ำ� 240 _-!/ >%ำ 0.15 
_-!/ */O/-'Oำ.Pค/��ำ/ 1 'Oำ. >/A/-?*AQ%#?Pค/%�/?! R-N%O/.�/Nำ 960 

!ำ/ำ�_-!/  

�/��Nำ� -  480,000 

4. Pค/��ำ/�N/2/Oำ�"%%ค/%�/?!_2/�-_>หO� 2ำ.#ำ�&/�_/��หBN-&Oำ%     
P*$�N#/� >-CN#?P 5 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/ 
'/�-ำ��ำ% (�/�/ำ�/�/Oำ� 4.00 _-!/ /0.0#ำ� 240 _-!/ >%ำ 0.15 
_-!/ */O/-'Oำ.Pค/��ำ/ 1 'Oำ. >/A/-?*AQ%#?Pค/%�/?!R-N%O/.�/Nำ 960 

!ำ/ำ�_-!/  

�/��Nำ�  - 480,000 

5. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-_�ห?P.O!N�2ำ.#ำ�&/�_/�
�หBN-&Oำ%P*$�N#/� >-CN#?P 5 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 
2/0O�O/  
'/�-ำ��ำ% (�/�/ำ�/�/Oำ� 4.00 _-!/ /0.0#ำ� 400 _-!/ >%ำ 0.30 
_-!/ >/A/>%ำ'/1&!ำ-2,ำ**AQ%#?P>/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 
480 ห&.-.  

�/��Nำ� -  87,000 

6. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-�.ำ.R>หN#ำ�2ำ.#ำ�
&/�_/��/.P/�_/?.%&Oำ%Q>-NR#.*1�%ำ >-CN#?P 6 ! ำ&ห>%/�&/% / ำ_,/
_-A/�2/0O�O/ �1�>/1 2/0O�O/  
'/�-ำ��ำ%(�/�/ำ�/ �/Oำ� 5.00 _-!/ /0.0#ำ� 940 _-!/ >%ำ 0.20 
_-!/ >/A/>%ำ'/1&!ำ-2,ำ**AQ%#?P >/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 
940 ห&.-.  

�/��Nำ� -  210,000 

7. Pค/��ำ/ Overlay Para Asphaltic Concrete #1&"%%ค/%�/?!�/Oำ� 
5 _-!/ .ำ/ 355 _-!/ >%ำ 0.05 _-!/ >/A/-?*AQ%#?P  ำ_%�%�ำ/R-N%O/.
�/Nำ 1,775 !ำ/ำ�_-!/>-CN#?P 1 _�AP/- >-CN#?P 8 ! ำ&ห>%/�&/% / ำ_,/
_-A/�2/0O�O/ �1�>/1 2/0O�O/ 

�/��Nำ� -  539,830.53 
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!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

 

�&'1>/ำ� 

(&ำ#) 

8. Pค/��ำ/�N/2/Oำ�"%%ค/%�/?!_2/�-_>หO�2ำ.#ำ�&/�_/��หBN-&Oำ%
>%/�_#ำ >-CN#?P 9 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/ 
'/�-ำ��ำ%(�/�/ำ�/�/Oำ� 3 _-!/ /0.0#ำ� 249 _-!/ >%ำ 0.15 
_-!/ */O/-'Oำ.Pค/��ำ/ 1 'Oำ. >/A/-?*AQ%#?Pค/%�/?!R-N%O/.�/Nำ 747  
!ำ/ำ_-!/  

�/��Nำ� -  376,000 

9. Pค/��ำ/'/1&'/B��N/-O�-_2/�-"%%หC�/1�*/O/-_�ห?P.O!N�&/�_/�     
>-CN#?P 10 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/  
'/�-ำ��ำ%(�/�/ำ�/�/Oำ� 4.00 _-!/ /0.0#ำ� 1,100 _-!/ >%ำ 
0.20 _-!/ >/A/>%ำ'/1&!ำ-2,ำ**AQ%#?P>/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.
�/Nำ 880 ห&.-.  

�/��Nำ�  - 150,000 

10. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-_�ห?P.O!N�2ำ.#ำ�&/�_/�
�หBN-&Oำ%>%/�/?ห/- >-CN#?P 11 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ 
�1�>/1 2/0O�O/  
'/�-ำ��ำ%(�/�/ำ�/ �/Oำ� 4.00 _-!/ /0.0#ำ� 800 _-!/ >/A/>%ำ
'/1&!ำ-2,ำ**AQ%#?P >/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 960 ห&.-.  

�/��Nำ�  - 160,000 

11. Pค/��ำ/�N/-O�-_2/�-(�/�/ำ�/หC�/1�*/O/-_�ห?P.O!N�2ำ.#ำ�&/�_/�
&Oำ%>1/�BญO�Q!O >-CN#?P 12 _�AP/-&Oำ%_%�%O2%2B� >-CN#?P 9 ! ำ&ห>%/�&/% 
/ ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/  
'/�-ำ��ำ%(�/�/ำ�/�/Oำ� 3.00 _-!/ /0.0#ำ� 500 _-!/ >/A/>%ำ
'/1&!ำ-2,ำ**AQ%#?P >/A/-?'/�-ำ!/ �%หC�/1�R-N%O/.�/Nำ 450 ห&.-.  

�/��Nำ� -  65,000 

12. Pค/��ำ/'/1&'/B��N/-O�-/!N/_!�- /ำคำ/2 ำ%1��ำ%/�คก�ำ/&/�>ำ/
2N/%! ำ&ห>%/�&/% Q%�ำ%!N/_!�->O/��/0���//&/หC-�_%?.-หC�+C�2?�ำ
*/O/-'/0!C�/0���//&/หC-�_%?.-2?�ำ 

�/��Nำ� -  110,000 

13. Pค/��ำ//ำ�#N//0&ำ.%Q ำ*/O/-_�ห?P.O!N�2ำ.#ำ�&Oำ%P*$�N#/�         
>-CN#?P 5 ! ำ&ห>%/�&/% / ำ_,/_-A/�2/0O�O/ �1�>/1 2/0O�O/   
'/�-ำ��ำ% #N/�%ำ  1.00x1.00 -. � ำ%/% 22 #N/%  

�/��Nำ�  - 51,000 

14. Pค/��ำ/�1 # ำ&//ก !� '/0�ำ0/'/0�ำ21-*1%$ก /�คก�ำ/&/�>ำ/2N/%
! ำ&ห>%/�&/%  

'/�-ำ��ำ% �/Oำ� 1.20 -. .ำ/ 2.40 _-!/ � ำ%/% 2 'Oำ. 

�/��Nำ� -  38,200 

15. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%>%Oำ2"ำ%? >-CN#?P 1 ! ำ&ห      
>%/�&/% 

�/��Nำ� -  57,139.07 

16. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%#NำO.� >-CN#?P 4 ! ำ&ห>%/�&/% 

�/��Nำ� -  48,948.22 

17. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/Pค/��ำ/�.ำ._�!/0&&
� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%O�N�R#/ >-CN#?P 5 ! ำ&ห>%/�&/% 

�/��Nำ� -  48,957.66 

18. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%คห/�&B>/?P_>%A/ >-CN#?P 6 ! ำ&ห
>%/�&/% 

�/��Nำ� -  68,171.85 
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!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

 

�&'1>/ำ� 

(&ำ#) 

19. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%คห/�&B>/?PQ!O >-CN#?P 7 ! ำ&ห 
>%/�&/%  

�/��Nำ� -  133,988.61 

20. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%คห/�&B>/?PQ!O >-CN#?P 7 ! ำ&ห
>%/�&/% 

�/��Nำ� -  35,821.46 

21. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%>%/�&/% (�หBN-&Oำ%20*ำ%
PคO�) >-CN#?P 8 ! ำ&ห>%/�&/%  

�/��Nำ� -  57,592.53 

22. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%_%�%O2%2B� (�หBN-_%�%
-0�ำ-'O/-) >-CN#?P 9 ! ำ&ห>%/�&/%  

�/��Nำ� -  98,987.84 

23. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%_%�% O2%2B� (>ห1�/1 ) >-CN#?P 9 
! ำ&ห>%/�&/%  

�/��Nำ� -  23,304.60 

24. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%_%�%O2%2B� (�หBN-_%�%
-0�ำ-'O/-) >-CN#?P 9 ! ำ&ห>%/�&/%  

�/��Nำ� -  47,214.82 

25. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%Pค�-0!C- >-CN#?P 10 ! ำ&ห
>%/�&/% 

�/��Nำ� -  175,528.15 

26. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%คห/�>�%_#�% >-CN#?P 11 ! ำ&ห
>%/�&/% 

�/��Nำ� -  37,260.61 

27. /B >%B%�ำ/R++Oำ2N/%,C-�,ำค�1�>/1 2/0O�O/ Pค/��ำ/�.ำ._�!
/0&&� ำ>%Nำ.R++Oำ2ำ$ำ/�0Q>O�1&&Oำ%>1/�BญO�Q!O >-CN#?P 12 ! ำ&ห
>%/�&/% 

�/��Nำ� -  40,136.77 

 

'1>N O% พอQ�/ำ� พอQ� พอQ�%Oอ0 

1) �ำ/_'> P/�ำ2Q>O'/0�ำ�%-?2N/%/N/-Q%Pค/��ำ//����//-    

2) �ำ/'/0�ำ21-*1%$กQ>O'/0�ำ�%/1&/CO�O/-Cห�/�Pค/��ำ//����//-    

3) �ำ/_'> P/�ำ2Q>O'/0�ำ�%O2 �ค/ำ-ค� _>O%Q%Pค/��ำ//����//-    

4) �ำ//ำ.�ำ%(ห�ำ/  ำ_%�%�ำ%�/�Pค/��ำ//����//-!N/2ำ$ำ/�0    

5) ค/ำ-P'/N�Q2Q%�ำ/  ำ_%�%�ำ%/����//-    

6) �ำ/  ำ_%�%�ำ%_'O%R'!ำ-/0.0_/หำ#?P� ำ>%     

7) (ห�ำ/  ำ_%�%Pค/��ำ//����//-% ำR'2CN�ำ/O�OR�'ัญ>ำ    

8) �ำ/O�OR�'ัญ>ำOห0�ำ/!/&2%/�ค/ำ-!O/��ำ/�/�'/0�ำ�%    

9) '/0P.�%ก#?P'/0�ำ�%R O/1&�ำ��ำ/  ำ_%�%Pค/��ำ//����//-    
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0B#$0ำ2!1์#?P 2 : 0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%N011ฐ�>� 

�ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 

 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

�&'1>/ำ� 

(&ำ#) 

- R-NR O  ำ_%�%�ำ/ - - - - - 

 

'1>N O% พอQ�/ำ� พอQ� พอQ�%Oอ0 

1) �ำ/_'> P/�ำ2Q>O'/0�ำ�%-?2N/%/N/-Q%Pค/��ำ//����//-    

2) �ำ/'/0�ำ21-*1%$กQ>O'/0�ำ�%/1&/CO�O/-Cห�/�Pค/��ำ//����//-    

3) �ำ/_'> P/�ำ2Q>O'/0�ำ�%O2 �ค/ำ-ค� _>O%Q%Pค/��ำ//����//-    

4) �ำ//ำ.�ำ%(ห�ำ/  ำ_%�%�ำ%�/�Pค/��ำ//����//-!N/2ำ$ำ/�0    

5) ค/ำ-P'/N�Q2Q%�ำ/  ำ_%�%�ำ%/����//-    

6) �ำ/  ำ_%�%�ำ%_'O%R'!ำ-/0.0_/หำ#?P� ำ>%     

7) (ห�ำ/  ำ_%�%Pค/��ำ//����//-% ำR'2CN�ำ/O�OR�'ัญ>ำ    

8) �ำ/O�OR�'ัญ>ำOห0�ำ/!/&2%/�ค/ำ-!O/��ำ/�/�'/0�ำ�%    

9) '/0P.�%ก#?P'/0�ำ�%R O/1&�ำ��ำ/  ำ_%�%Pค/��ำ//����//-    
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0B#$0ำ2!1์#?P 3  : 0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%�ำ10@�1ำ 0ำ2%ำ Oล>/?�%$11/ 

�ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 

 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

�&'1>/ำ� 

(&ำ#) 

1. /B >%B%P/�_/?.%21��1  2*�.Q%*AQ%#?P! ำ&ห>%/�&/% � ำ%/% 
4 P/�_/?.% Pค/��ำ//ำ>ำ/�หำ�/1% 

�/��ำ/0@�1ำ/ 
-  1,556,000 

2. /B >%B%P/�_/?.%21��1  2*�.Q%*AQ%#?P! ำ&ห>%/�&/% � ำ%/% 
4 P/�_/?.% Pค/��ำ//ำ>ำ/_2/�- (%-)  

�/��ำ/0@�1ำ/ 
-  655,548.46 

3. คNำ/ำ>ำ/�หำ�/1%0C%.ก*1�%ำ_ O�_หO�&Oำ%>%Oำ2"ำ%? �/��ำ/0@�1ำ/ -  122,340 

4. คNำ/ำ>ำ/_2/�- (%-) 0C%.ก*1�%ำ_ O�_หO�&Oำ%>%Oำ2"ำ%? �/��ำ/0@�1ำ/ -  50,120.90 

5. Pค/��ำ/O�N��1%�?.ำ/�คก�/'�ค//�2N/%#O/�"�P% Oห0�ำ/
�1 �ำ/O�N��1%�?.ำ/0>/Nำ�/�คก�/'�ค//�2N/%#O/�"�P% 

�/��ำ/0@�1ำ/ 
-  149,734 

6. /B >%B%P/�_/?.%Q%_�!*AQ%#?PPค/��ำ/�1 �ำ/O�N��1%�?.ำ
_ค/A/�Nำ.! ำ&ห>%/�&/%_�ห�-*/0_�?./!��หBN-P/�_/?.%_ค/A/�Nำ. 

�/��ำ/0@�1ำ/ 
-  60,000 

7. /B >%B%P/�_/?.%Q%_�!*AQ%#?PPค/��ำ/�1 ����//-คNำ.'��&1!�
$//-2CN_.ำ/�%�หBN-P/�_/?.%_ค/A/�Nำ. 

�/��ำ/0@�1ำ/ 
-  40,000 

8. Pค/��ำ/2%1&2%B%คNำQ�O�Nำ.�ำ/&/�>ำ/�ำ/0@�1ำ�/�0C%.ก
*1�%ำ_ O�_หO� (คNำ�1 �ำ/_/?.%�ำ/2/%/ำ.>1/) 

�/��ำ/0@�1ำ/ 
-  54,310 

9. Pค/��ำ/2%1&2%B%คNำQ�O�Nำ.�ำ/&/�>ำ/�ำ/0@�1ำ�/�0C%.ก
*1�%ำ_ O�_หO� (คNำ>%1�2A/_/?.% /B'�/�ก�ำ/_/?.% คNำ_ค/AP/�O&&
%1�_/?.% Oห0����//-*1�%ำ(CO_/?.%) 

�/��ำ/0@�1ำ/ 

-  7,682 

10. /B >%B%P/�_/?.%Q%_�!*AQ%#?P! ำ&ห>%/�&/% Pค/��ำ/�1 
����//-/1%_ O�O>N��ำ!��หBN-P/�_/?.%_ค/A/�Nำ.! ำ&ห>%/�&/% 

�/��ำ/0@�1ำ/ 
-  60,000 

11. /B >%B%P/�_/?.%Q%_�!*AQ%#?P Pค/��ำ/�1 ����//-_�OำคNำ.
หC�_2A/_%!/%ำ/?�หBN-P/�_/?.%_ค/A/�Nำ.! ำ&ห>%/�&/% 

�/��ำ/0@�1ำ/ 
-  60,000 

12./B >%B%ค�0�//-�ำ/>-CN&Oำ% Pค/��ำ/2N�_2/�-'/0_*�?
/1�%$//-/1%ห/.�/0#� 

�/��ำ/0@�1ำ/ 
-  120,000 

13. /B >%B%#?P# ำ�ำ/'�ค//�/ ำ_,/_-A/�2/0O�O/ Pค/��ำ/       
<2A&2ำ%/1�%$//-_&AQ/�&C/*ำOห0�ำ%�ำ�ำ �1�>/1 2/0O�O/= 
'/0� ำ'? 2563 

�/��ำ/0@�1ำ/ 

-  30,000 

14. /B >%B%/ำ2ำ2-1ค/2ำ$ำ/�2B�'/0� ำ>-CN&Oำ% (/2-.) 
 

2 ำ%1��ำ%'ห1  

-  90,000 
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'1>N O% พอQ�/ำ� พอQ� พอQ�%Oอ0 

1) �ำ/_'> P/�ำ2Q>O'/0�ำ�%-?2N/%/N/-Q%Pค/��ำ//����//-    

2) �ำ/'/0�ำ21-*1%$กQ>O'/0�ำ�%/1&/CO�O/-Cห�/�Pค/��ำ//����//-    

3) �ำ/_'> P/�ำ2Q>O'/0�ำ�%O2 �ค/ำ-ค� _>O%Q%Pค/��ำ//����//-    

4) �ำ//ำ.�ำ%(ห�ำ/  ำ_%�%�ำ%�/�Pค/��ำ//����//-!N/2ำ$ำ/�0    

5) ค/ำ-P'/N�Q2Q%�ำ/  ำ_%�%�ำ%/����//-    

6) �ำ/  ำ_%�%�ำ%_'O%R'!ำ-/0.0_/หำ#?P� ำ>%     

7) (ห�ำ/  ำ_%�%Pค/��ำ//����//-% ำR'2CN�ำ/O�OR�'ัญ>ำ    

8) �ำ/O�OR�'ัญ>ำOห0�ำ/!/&2%/�ค/ำ-!O/��ำ/�/�'/0�ำ�%    

9) '/0P.�%ก#?P'/0�ำ�%R O/1&�ำ��ำ/  ำ_%�%Pค/��ำ//����//-    

 

0B#$0ำ2!1์#?P 4  : 0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%2>P�O/ ลOอ/ 

�ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 
 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

�&'1>/ำ� 

(&ำ#) 

1. Pค/��ำ/� ำ�1 �.0-Cห)/./N/-�1&_#0&ำห_-A/�2/0O�O/ � 0C%.ก
� ำ�1 �.0-Cห)/.O&&ค/&/��/ _#0&ำห_-A/�2/0O�O/ 
 

2 ำ%1��ำ%
'ห1  

-  

171,788.50 

2. Pค/��ำ/��!/ำ2ำ_/ำ# ำ ? O/.>1/Q� *1�%ำ# ำค/ำ-20/ำ 
2"ำ%?/"R+ (2/0O�O/) Oห0P/�_/?.%&Oำ%>%Oำ2"ำ%? 
 

2 ำ%1��ำ%
'ห1  -  

12,180 

3. Pค/��ำ/��!/ำ2ำ*1�%ำ_%AP/�Q%/1%->� ห 24 �1%.ำ.% 
2563 '/0� ำ'?�&'/0-ำ� 2563 
 

2 ำ%1��ำ%
'ห1  -  

74,510 

 
 

 

 

 

 

 

'1>N O% พอQ�/ำ� พอQ� พอQ�%Oอ0 

1) �ำ/_'> P/�ำ2Q>O'/0�ำ�%-?2N/%/N/-Q%Pค/��ำ//����//-    

2) �ำ/'/0�ำ21-*1%$กQ>O'/0�ำ�%/1&/CO�O/-Cห�/�Pค/��ำ//����//-    

3) �ำ/_'> P/�ำ2Q>O'/0�ำ�%O2 �ค/ำ-ค� _>O%Q%Pค/��ำ//����//-    

4) �ำ//ำ.�ำ%(ห�ำ/  ำ_%�%�ำ%�/�Pค/��ำ//����//-!N/2ำ$ำ/�0    

5) ค/ำ-P'/N�Q2Q%�ำ/  ำ_%�%�ำ%/����//-    

6) �ำ/  ำ_%�%�ำ%_'O%R'!ำ-/0.0_/หำ#?P� ำ>%     

7) (ห�ำ/  ำ_%�%Pค/��ำ//����//-% ำR'2CN�ำ/O�OR�'ัญ>ำ    

8) �ำ/O�OR�'ัญ>ำOห0�ำ/!/&2%/�ค/ำ-!O/��ำ/�/�'/0�ำ�%    

9) '/0P.�%ก#?P'/0�ำ�%R O/1&�ำ��ำ/  ำ_%�%Pค/��ำ//����//-    

 

 

 



8 

 

0B#$0ำ2!1์#?P 5 : 0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%OหลN�%Q ำNพAPอ�ำ1N�1!1 
�ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 
 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

�&'1>/ำ� 

(&ำ#) 

1. Pค/��ำ/��!/ำ2ำ_/ำ# ำ ? O/.>1/Q��N/-O�-)ำ.�0ห/%Q ำ (คBO-
/1 'Nำ0/?&Bญ_/A/�) >-CN#?P 6 

2 ำ%1��ำ%
'ห1  

-  
27,280 

2. Pค/��ำ/��!/ำ2ำ*1�%ำ,C-�#10%ก # ำค/ำ-20/ำ ห ำ%Q ำคCคห/�
Oห0*1�%ำ�B-�%#?P/.CN/ำ01./�-O-N%Q ำคCคห/� _%AP/�Q%/1%คหOำ./1%
&/-/ำ�2-,*/ 5 $1%/ำค- 

2 ำ%1��ำ%
'ห1  

-  

54,505 

 

'1>N O% พอQ�/ำ� พอQ� พอQ�%Oอ0 

1) �ำ/_'> P/�ำ2Q>O'/0�ำ�%-?2N/%/N/-Q%Pค/��ำ//����//-    

2) �ำ/'/0�ำ21-*1%$กQ>O'/0�ำ�%/1&/CO�O/-Cห�/�Pค/��ำ//����//-    

3) �ำ/_'> P/�ำ2Q>O'/0�ำ�%O2 �ค/ำ-ค� _>O%Q%Pค/��ำ//����//-    

4) �ำ//ำ.�ำ%(ห�ำ/  ำ_%�%�ำ%�/�Pค/��ำ//����//-!N/2ำ$ำ/�0    

5) ค/ำ-P'/N�Q2Q%�ำ/  ำ_%�%�ำ%/����//-    

6) �ำ/  ำ_%�%�ำ%_'O%R'!ำ-/0.0_/หำ#?P� ำ>%     

7) (ห�ำ/  ำ_%�%Pค/��ำ//����//-% ำR'2CN�ำ/O�OR�'ัญ>ำ    

8) �ำ/O�OR�'ัญ>ำOห0�ำ/!/&2%/�ค/ำ-!O/��ำ/�/�'/0�ำ�%    

9) '/0P.�%ก#?P'/0�ำ�%R O/1&�ำ��ำ/  ำ_%�%Pค/��ำ//����//-    
 

0B#$0ำ2!1์#?P 6 : 0B#$0ำ2!1์�ำ1พ?�%ำ Oำ%คB�.ำพ�?/>! 2?�ค/ Oล>�ำ1&1>หำ1�? �ำ1 

�ำ1N'ล?P0%O'ล��อ��B/�%!ำ/!?/�?Q/? #?PNลAอ� 
 

!?/�?Q/? #?PNลAอ� 
ห%N/0�ำ%
1?&(> �อ& 

(ล�ำ1  ำN%>%�ำ% 

อ0CN1>ห/Nำ�
  ำN%>%�ำ1 

 

  ำN%>%�ำ1
OลO/ 

�&'1>/ำ� 

(&ำ#) 
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1. .1@�.�@��@1�์�@1
พ?��@ 

N�็��2#/>Nค#20ห์�#อ��2#�1�� 2"B��022�#์�อ�อ�ค์�#��ค#อ�2N/�
�Oอ��>P� (Q�O�2#/>Nค#20ห์ SWOT Analysis/Demand (Demand 

Analysis)/Global Demand O%0 Trend �ั��1"O%02�2��2#�์�2# 

N�%?P"�O�%��?P!?�%�Nอ�2#�1��2 อ"N2��Oอ"�Oอ��#0�อ��O/"�2#
/>Nค#20ห์01�" 2��O2�N0#1��>� , �O2�21�ค! , �O2�
�#1�"2�#�##!�2�>O%02>P�O/�%Oอ!) 
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2. �@1�1>N/>��ล�@1
� @O��พ?��@�Oอ��>P�R�
��>�?�>Q�Nช>��1>/@� 

1) �2#ค/�คB!�?P!?�2#Q�O�1/N%��N2�N N�APอ� 2!2Q�O/1��%Q�N�>��#>!2� 
N�N� �2#/1�� 2�/�Pค#��2# �>��##! �2��N2� N �OคAอ�%�%�>�1P�Nอ�
/N2N�็�R��2!�?P�1Q�N�O2ห!2"Nอ2R/Oห#AอR!N � 2�/��?P� 2N�>��2#�#>�
�2!�?PR�O� 2ห��R/ON�N2Rห#N � 2�/��?PR!N22!2#�� 2N�>��2#R�O!?� 2�/�
N�N2Rห#N 22!2#�อ�>�2"R�O�2!ห%1��#02>��> 2� (Efficiency) �อ�
�2#�1��2�Oอ��>P��2!อ 2�2�ห�O2�?P�?PR�O� 2ห��R/O 
2) />Nค#20ห์�%�#0��/2>P��?P�#0�� (Impact) Pค#��2#�?P� 2N�>��2#
Q�N�>��#>!2� (Quantitative) 
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3. �@1�1>N/>��ล�@1
� @O��พ?��@�Oอ��>P�R�
��>�?�>Q�Nช>�ค@�.@พ 

1) �2#�#0N!>��#02>��>�%�อ�O���1��2Q�N�>�คB� 2� คAอ�2#
� 2Nอ2N�ค�>ค�N2� N !2Q�ON�APอ/1�/N2 2#�>� Pค#��2# �>��##! �2�
�N2�N �?P� 2N�>��2#Q��AQ��?P�1Q�N �#��Nอค/2!�Oอ��2#�อ��#0�2��
ห#AอR!NO%0N�็�R��2!อ 2�2�ห�O2�?Pห#AอR!N �#0�2���@��อQ�ห#AอR!N 
2>P��อ� /12�B ค#B 1��์ �2#� 2N�>��2#�N2�N !?2 2�ห#Aอ%1�1�0
�C��Oอ� ค��� �2/# 22!2#�Q�O�2#R�O�2!/1��B�#02�ค์ห#AอR!N �@P�
N�็�R��2!ห%1��#02>��>�% (Effectiveness) �%�2#��>�1�>#2��2#�?P
�##%B/1��B�#02�ค์O%0N�O2ห!2"�อ�O���2#��>�1�>#2��2#�2!�?P
R�O#1����#0!2�!2� 2N�>��2# #/!�@�22!2#�N�?"�Nค?"��1�2N/�
#2��2#ห#Aอห�N/"�2� 

2) />Nค#20ห์�%�#0��/2>P��?P�#0�� (Impact) Pค#��2#�?P� 2N�>��2#
Q�N�>�คB� 2� (Qualitative) 
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4. O���@�Oล>
0@��0@.�1์�@1พ?��@ 

1) />Nค#20ห์O���2� �2� �?PN�>��2��O2��N2�N !?ค/2!2อ�ค%Oอ��1�
"B��022�#์�อ�อ�ค์�#��ค#อ�2N/��Oอ��>P�Q�!>�>�N2�N ��� 2R�2CN�2#
�1�� 2Pค#��2#�1��2�Oอ��>P�P�"Q�O SWOT Analysis/Demand 

(Demand Analysis)/Global Demand/Trend ห#Aอห%1��2#�C#�2
�2# (Integration) �1�อ�ค์�#��ค#อ�2N/��Oอ��>P��?P!?�AQ��?P�>��Nอ�1� 

2) />Nค#20ห์O���2� �2� �?PN�>��2��O2��N2�N �?P2อ�ค%Oอ��1��2#
O�OR��ัญห2ค/2!"2��� ห%1��#0�2#1�  
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�1>N�O��@1พ>�@1�@ 1@0ล>Nอ?0�หล?�N���์ 
ค>O��

N�O/ 

ค>O��   
�?PR�O 

5. Pค1��@1พ?��@ 

5.1 ค/2!�1�N���อ��APอ
Pค#��2# 

ค/#�#0�อ��O/"�Oอ!C%�1��?Q 
N�็�Pค#��2#�?P!?/1��B�#02�ค์2�อ��NอO��"B��022�#์�2#�1��2�อ�
อ�ค์�#��ค#อ�2N/��Oอ��>P�O%0� 2N�>��2#N�APอQหO�2#�1��2�##%B�2!
/>21"�10�์�อ�อ�ค์�#��ค#อ�2N/��Oอ��>P��?P� 2ห��R/O �APอPค#��2#!?ค/2!
�1�N�� !BN�R�N#APอ�Q�N#APอ�ห�@P� อN2�O%O/N�O2Q�R�O/N2�0�1��2อ0R#Q�อ�2ค� 
 

60 

(5) 

 

5.2 � 2ห��/1��B 
�#02�ค์2อ�ค%Oอ��1�
Pค#��2# 

!?/1��B�#02�ค์�1�N�� (clear objective) Pค#��2#�Oอ�� 2ห��/1��B 
�#02�ค์2อ�ค%Oอ��1�ค/2!N�็�!2�อ�Pค#��2# 2อ�ค%Oอ��1�ห%1��2#O%0
Nห�B�% />�?�2#� 2N�>��2��Oอ�2อ�ค%Oอ��1�/1��B�#02�ค์ !?ค/2!N�็�R�R�O
�1�N�� !?%1�1�0N��20N�20�� 
 

(5)  

5.3 N�O2ห!2" (�%�%>�
�อ�Pค#��2#) !?ค/2!
�1�N��� 2R�2CN�2#�1Q�
���#0!2�R�O�C��Oอ� 

2 2��?Pอ"2�QหON�>��@Q�Q�อ�2ค�N�็��>0�2��?P�Oอ�R�QหO�@�N�O2ห!2"�Oอ�
�1�N�� 22!2#�#0�B� 2�/�N�N2R# �%BN!N�O2ห!2"คAออ0R# !?�%�%>�อ"N2�R# 
�%BN!N�O2ห!2" �AQ��?P� 2N�>��2� O%0#0"0N/%2� 2N�>��2� อ�>�2"QหO�1�N��
/N2Pค#��2#�?Q�0� 2�?PRห� N#>P!�O�Q��N/�N/%2Q�O%0��%�N!APอR# Qค#คAอ
�%BN!N�O2ห!2"�อ�Pค#��2# ห2��%BN!N�O2ห!2"!?ห%2"�%BN! QหO�อ��1�%�R�
/N2Qค#คAอ�%BN!N�O2ห!2"ห%1� Qค#คAอ�%BN!N�O2ห!2"#อ� 
 

(5)  

5.4 Pค#��2#!?ค/2!
2อ�ค%Oอ��1�O��
"B��022�#์ 20 �ี 

Pค#��2#2อ�ค%Oอ��1� (1) ค/2!!1P�ค� (2) �2#2#O2�ค/2!22!2#�Q��2#
O�N��1� (3) �2#�1��2O%0N2#>!2#O2�01�" 2�ค� (4) �2#2#O2�Pอ�22
ค/2!N2!อ 2คO%0N�N2N�?"!�1��2�21�ค! (5) �2#2#O2��2#N�>�P���
คB� 2��?/>��?PN�็�!>�#�Nอ2>P�O/�%Oอ! (6) �2#�#1�2!�B%O%0�1��2#0��
�2#�#>ห2#�1��2# 2ค#1� N�APอQหON�>�ค/2!!1P�ค� !1P�ค1P� "1P�"A� 
 

(5)  

5.5 N�O2ห!2" (�%�%>�
�อ�Pค#��2#) !?ค/2!
2อ�ค%Oอ��1�O���1��2
N0#1��>�O%021�ค!
OหN��2�> 
 

 

 

 

 

Pค#��2#!?ค/2!2อ�ค%Oอ��1�O���1��2N0#1��>�O%021�ค!OหN��2�> ��1�
�?P 12 P�" (1) "@�ห%1��#1�ญ2�อ�N0#1��>��อN�?"� (2) "@�ค�N�็�
0C�"์�%2��2#�1��2 (3) "@�/>21"�10�์ 2"Q�O"B��022�#์�2�> 20 �ี (4) "@�
N�O2ห!2"อ�2ค��#0N�0R�" 2579 (5) "@�ห%1��2#� 2R�2CN�2#��>�1�>QหO
N�>��%21!$��>Nอ"N2��#>��1�Q� 5 �ี�?P�Nอ"อ�R�2CN�%21!$��>N�?PN�็�N�O2ห!2"
#0"0"2/  2"Q�OO�/�2��2#�1��2 (1) �2#"�#0�1�01�" 2��2#O�N��1�
O%0�2#ห%B��O��1��1�#2"R�O�2��%2�2CN#2"R�O2C� (2) �2#�1��201�" 2�
ค��2!�N/�/1"O%0�2#��>#C�#0��N�APอ2#O2�21�ค!2C�/1"อ"N2�!?คB� 2� (3) 

�2#%�ค/2!Nห%APอ!%Q 2�2�21�ค! (4) �2##อ�#1��2#N�APอ!P"� C!> 2คO%0
ค/2!N�็�N!Aอ� (5) �2#2#O2�ค/2!N�#>ญN�>�P��2�N0#1��>�O%021�ค!
อ"N2�N�็�!>�#�1�2>P�O/�%Oอ! (6) �2#�#>ห2##2��2#O�N��>��?P!?
�#02>��> 2�  

 

(5)  
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5. Pค1��@1พ?��@ (�Nอ) 
5.6 Pค#��2#!?ค/2!
2อ�ค%Oอ��1� Thailand 

4.0 

 

Pค#��2#!?%1�1�0ห#Aอ2อ�ค%Oอ��1��2#�#1�N�%?P"�Pค#�2#O2�
N0#1��>�R�2CN Value-Based Economy ห#AอN0#1��>��?P�1�Nค%APอ�
�O/"�/1��##!� 2�Oอ" R�O!2� N�N� (1) N�%?P"��2��2#�%>�2>�คO2 P ค
 1��์R�2CN2>�คO2N�>��/1��##! (2) N�%?P"��2��2#�1�Nค%APอ��#0N�0
�O/" 2คอB�22ห�##! R�2CN�2#�1�Nค%APอ��O/"N�คP�P%"? ค/2!ค>�
2#O2�2##ค์O%0�/1��##! (3) N�%?P"��2��2#N�O� 2ค�2#�%>�2>�คO2 
R�2CN�2#N�O� 2ค�#>�2#!2��@Q� #/!�@�Pค#��2#�?PN�>!N�O!�O/"
/>�"2�2# ค/2!ค>�2#O2�2##ค์ �/1��##! />�"2022�#์ N�คP�P%"? 
O%0�2#/>�1"O%0�1��2O%O/�Nอ"อ�ค/2!R�ON�#?"�N�>�N�#?"�N�?"� 
N�N� �O2�N�1�#N�คP�P%"?�?/ 2� 22�2#�2B� /1���##! /%/ 
 

 

(5) 

 

5.7 Pค#��2#2อ�ค%Oอ�
�1�"B��022�#์�1�ห/1� 

Pค#��2#�1��2�Oอ��>P�!?ค/2!2อ�ค%Oอ��1�หO/"#0"0N/%2�อ�
O���1��2�1�ห/1��?PR�O� 2ห���@Q� N�APอ�1�Nค%APอ��2#�1��2�Oอ��>P�
N2!Aอ�ห�@P��2#�1�Nค%APอ��2#�1��2�1�ห/1� �@P�R!N22!2#�O"�2N/�Q�
2N/�ห�@P�ออ��2��1�R�O �อ��2��?QPค#��2#�1��2�Oอ��>P��Oอ�N�็�
Pค#��2#N�APอ!P"��Nอห#AอN�>��2�R��O/"�1��1�"B��022�#์�1�ห/1��?PR�O
� 2ห���@Q��?PN�็��ั��B�1� 
 

(5) 

 

 

 

 

5.8 Pค#��2#O�OR�
�ัญห2ค/2!"2���ห#Aอ
�2#N2#>!2#O2�QหO�#0N�0 
�2�>!1P�ค� !1P�ค1P� "1P�"A� 
 2"Q�Oห%1��#0�2#1� 

N�็�Pค#��2#�?P� 2N�>��2# 2"Q�O�AQ��2�ค/2!�อN�?"��?P�#0�2��
� 2N�>��2#Nอ�ห#Aอ#N/!� 2N�>��2# N�็�Pค#��2#�Nอ"อ�O%0�"2"R�O 
N�็�Pค#��2#�?P�#0�2���Oอ��2#N�APอQหON�>�ค/2!"1P�"A� �@P�!?%1�1�0�?P
�0QหO�Oอ��>P�!?ค/2!!1P�ค� !1P�ค1P� "1P�"A� N�็��Oอ��>P��?P�1��2O%O/ �O/"
�2#�1��2�2!�#1�ญ2N0#1��>��อN�?"�  
 

(5)  

5.9 ���#0!2�!?ค/2!
2อ�ค%Oอ��1�N�O2ห!2" 
(�%�%>��อ�Pค#��2#) 

���#0!2�Pค#��2#�1��2�0�Oอ�ค 2�@��@�ห%1�2 2ค1ญ 5 �#0�2#Q�
�2#�1�� 2Pค#��2#R�OO�N (1) ค/2!�#0ห"1� (Economy) (2) ค/2!!?
�#02>��> 2� (Efficiency) (3) ค/2!!?�#02>��>�% (Effectiveness) 

(4) ค/2!Nห%APอ!%Q 2Q��2#�1��2�Oอ��>P� � 2R�2CNค/2!"B�>�##! 
(Equity) (5) ค/2!P�#N�Q2 (Transparency) 
 

(5)  

5.10 !?�2#�#0!2��2#
#2ค2�C��Oอ��2!ห%1�
/>�?�2#���#0!2� 

�2#�#0!2��2##2ค2N�APอ�2#�1��2�Oอ�QหO2อ�ค%Oอ��1�Pค#��2# 
�C��Oอ��2!ห%1�/>�2�2#�2��N2� ห%1��อ�#2ค2�%2� #2ค2�%2�
�Oอ��>P� !?ค/2!P�#N�Q�Q��2#� 2ห��#2ค2O%0�#/�2อ�R�OQ�N�>�
�#0�1�1์  
 
 

(5)  
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5. Pค1��@1พ?��@ (�Nอ) 
5.11 !?�2#� 2ห��
�1/�?Q/1� (KPI) O%0
2อ�ค%Oอ��1�
/1��B�#02�ค์O%0�%�?P
ค2�/N2�0R�O#1� 

 

!?�2#� 2ห���1��?�?Q/1��%�2� (Key Performance Indicator : KPI) 

�?P22!2#�/1�R�O (measurable) Q�O�อ��#02>��>�% (effectiveness) 

Q�O�อ��#02>��> 2� (efficiency) R�O N�N� �2#� 2ห��ค/2!�@��อQ� 
�2#� 2ห��#Oอ"%0 �2#� 2ห��อ1�N�>��2��%�อ�/1��B�#02�ค์�?PN�>��?P
2>P��?PR�O#1� (�2#ค2��2#�์ ค2�/N2�0R�O#1�) 
 

 

(5) 

 

5. Pค1��@1พ?��@  
5.12 �%�?Pค2�/N2�0
R�O#1�2อ�ค%Oอ��1�
/1��B�#02�ค์ 

 

�%�?PR�O#1�N�็�2>P��?PN�>��@Q�R�O�#>��2��2#� 2N�>��2#�2!Pค#��2#
�1��2 �@P�2อ�ค%Oอ��1�/1��B�#02�ค์�?P�1Q�R/O �2#R�O�%ห#Aอ�%�?PN�>��@Q�
�0�Oอ�N�N2�1�/1��B�#02�ค์ห#Aอ!2��/N2/1�B�#02�ค์�@P��2#N�?"�
/1��B�#02�ค์ค/#ค 2�@��@� (1) !?ค/2!N�็�R�R�OO%0!?ค/2!
N��20N�20�� Q��2#� 2N�>��2��2!Pค#��2# (2) /1�O%0�#0N!>��%
#0�1��อ�ค/2!2 2N#O�R�O (3) #0�B2>P��?P�Oอ��2#� 2N�>��2�อ"N2��1�N��
O%0N��20N�20��!2��?P2B�O%022!2#���>�1�>R�O (4) N�็�Nห�BN�็��% 
2อ�ค%Oอ��1�ค/2!N�็��#>� (5) 2N��%�Nอ�2#�N��อ�N/%2R�O 
 

 

(5) 
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